PO1.

Twitter

a‘o‘srf?r :Fr@ Htf 1‘

Scannlng , Contact Us

F1Iarss AfafarHe
Carbide Milling Cutter

nT—

FIE SAATHIT/ AT I ay@forexaforga
External Cylindrical/Inner Hole 3@freyaforgas &

P16.

ayafer/ se-sw eyafn g

NIRRT — = —— o P
P02 " Cemented Carbide Cutter ' P 1 7 * Grooving/Cut-Off Turning Tool
P03 U’%\HE‘:{HHH%{?Q‘ % P 1 8 End Face/lnner Hole EI{\a’ﬁTE‘{HﬁTE\H
= Extrusion Screw Tap *  EndFace/lnner Hole 3@freyafarga
P04 HEY ———am P1 9 HAuadr eyAfor e e
= Apex Tap S = CNC Turning Tool
Fyafar ATAIGIT A Nl —— HTAHT ATS ITHIOT HTINT i # o
PO5. Spiral Grooved Tap P20. t\e Turning Tool Parts T+ Y
. y . )
P06 g3T/T{HATIE e . P21 BAP ITge-Tarel AT shet -~ é
*  Hand Tap/Circular Die = +  BAPIrgT-vard Afafr ey —

PO7.

s ccwmT. CNMG..

_—
P2 0000-00000000 0000 00000000 O lgy <
* Machine-Clamped Round Nose Milling Cutter s

P08.

DNMG..

P23.

KM12.. &239..

P09.

SNMG..

P24.

AN I TTFT HE TrsTHatF s s
Locking Tooth Type Cutte Insert Type Quick Drill

P10.

TNMG..

T T
Boring Tool

P25.

P11.

VNMG..

g o
4 ] VIS
FIIFI A ETAST

Boring Tool Holder

P26.

P12.

.j@\.“ a
EEE \WNMG.. ' WNMG..

P27. ..

P13.

qlzeyATITEH
Thread Turning Tool

&

P28.

P14.

BIE s} @ Fe-3H / ALATN/ AT TATT g *I
Cut-Off/Grooving/Back Turning Of Small Parts

HITAHT 3YhIUT uﬂ'ﬂ?ﬁﬁlqﬂh 3T
CNC Tool HolderAccessories

P29.

P15.

STET S AATHIT Grooving TIATI ITHTOT
External d&@aTHIT AINGTT Turning Tool

TIE I ETTH

Lathe Chuck Accessories nb @ w

P30.

AT HAIIT F Iy AT FeT T L1 IS 37T g IhaT 21

Millin

Professional Turnin

Threadingiand,Boring Hole Processing Tool Configuration.



mailto:eva@mzgtool.cn

HTIATss ATATIT HeT

Carbide Milling Cutter

s sefasewss ¢ | OO0 000000 HP0D O OCEeg OO T WA
LT 45HRC B Aret FEE 55HRC & ATt 58HRC @ afit weve HET60HRC & A FTHAT 65HRC B A
D1IEID Black Coatings Can Cut | Copper Coatings Can Cut Nano Black Coatings Can Cut Nano Copper Coatings Can Cut Nano Blue Coatings Can
E#J L ‘ Steel Below 45 HRC Steel Below 55 HRC Steel Below 58 HRC Steel Below 60 HRC Cut Steel Below 65 HRC
R R R R R
R ] AN AR
PN [ f; i N %
P! A
L1 dard srmamgrasat )
Right-Angle Ball End
Milling Cutter Milling Cutter A
D1 L1 DL RL1IDL
1. 0x3xD4x50 | RO. 5x2xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 5.715.7
1. 5x4xD4x50  |RO. 75x3xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
2. 0x6xD4x50  |R1. 0x4xD4x50 2.0 (26 2.7 | 3.1 4.6 5.1 5.1 57|57
2.5x8xD4x50  |R1.25x5xD4x50 | 2.0 | 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.7156.7
3. 0x8xD3x50  |R1. 5x6xD3x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
3. 0x12xD3x75 |R1. 5x6xD3x75 3.1 139 4.4 5.1 7.1 7.7 7.7
3. 0x15xD3x100 |R1. 5x6xD3x100 3.6 (4.4 5.0 5.6 8.7 8.7 8.7
3. 0x8xD4x50  |R1. 5x6xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
3.5x10xD4x50 |R1.75x7xD4x50 | 2.0 | 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.7156.7
4. 0x10xD4x50 |R2. 0x8xD4x50 1.7 126 (3.4]127|3.1]|49|44[46](60 6 6.7 5161|5651 [61]57]|57]|76
4. 0x20xD4x75 |R2. 0x8xD4x75 22913.6|50[44]51] 61 711 7.9 6.6 816781 7.7|(7.7]|8.7
4. 0x25xD4x100 |R2. 0x8xD4x100 3.31411]16.4]15.0]5.4(7.7 7.6 9.0 7.8 19.117.9(19.1]18.7]8.7]10.0
5. 0x13xD5x50 |R2. 5x10xD5x50 3.7 14769475677 8.119.3 9.5 |111.6] 9.6 [11.6(10.7[10.7]12.3
5. 0x13xD5x75 |R2. 5x10xD5x75 5361 7.7(7.4(81(91 11.3(13.5 13.0113.0(14.7
5. 0x13xD5x100 |R2. 5x10xD5x100 | 6.6 | 7.6 | 11.0[ 8.9 [ 9.6 | 11.1 13.0115.7 15.3116.3|17.1
5. 0x13xD6x50 |R2. 5x10xD6x50 3.7143)6.4]|147)157]|8.4 8.1[19.3 9.5 [11.6] 9.6 [11.6[10.7]10.7[12.3
6. 0x15xD6x50 |R3. 0x12xD6x50 3114364475784 7.4]181]93]|94]10.5]9.5(|11.6]|9.6]11.6]110.7]10.7]12.3
6. 0x20xD6x75 |R3. 0x12xD6x75 49156 7.1|7.4(81]10.0 1.1]112.4 11.4113.611.413.6[13.0(13.0| 14.7
6. 0x30xD6x100 |R3. 0x12xD6x100 | 6.0 | 7.0 | 10.3| 8.9 | 9.6 | 11.4 13.6(15.0 13.4(16.3(13.4(16.3[15.3|15.3|17.3
6. 0x30xD6x150 |R3. 0x12xD6x150 | 12.3 | 14.3|18.7[18.7|19.9|23.4 27.6 26.5 26. 6 26.3126.3]129.7
8. 0x20xD8x60 |R4. 0x16xD8x60 5.9 7.6 [10.4( 8.4 (10.0(13.3| 13 [13.9(156.2[156.3(16.5[15.3[18.4(15.3(18.4[17.6]|17.6|20.3
8. 0x25xD8x75 |R4. 0x16xD8x75 8.119.4111.6[11.0(12.4]15.3 17.6119.3 17.7(21.1(17.7(21.1120.0|20.0(22.6
8. 0x35xD8x100 |R4. 0x16xD8x100 | 9.6 | 11.1 | 14.0(14.0|15.4|19.6 21.4123.8 22.1(26.6(22.1126.6]125.0|25.0(28.7
8. 0x40xD8x150 |R4. 0x16xD8x150 | 19.0|22.129.0|25.9|27.3|32.3 35.4 37.1 37.1 41.0141.0/45.0
10x25xD10x75 |R5.0x20xD10x75 | 9.6 (12.7 (16.6]15.1]16.6|21.6|21.4(23.3(25.7(24.3|126.2|24.7(30.3(24.7130.3]|27.7|27.7(32.0
10x40xD10x100 |R5. 0x20xD10x100| 14. 6| 16.9 | 21.0]20.3|21.3 | 29.1 30.3(33.1[32.5|34.8(31.3|37.4(31.3|37.4(31.7(31.7(37.3
10x45xD10x150 |R5. 0x20xD10x150| 28. 1 | 32.9 | 41.7|39.4 | 41.7|48.3 56. 1 54.4 54. 4 54.7154.7]63.0
12x30xD12x75 |R6.0x24xD12x75 | 14.9 (17.4(22.0]21.1|23.3|28.7|28.3(33.1(36.4(32.9|35.5|32.6(39.4(32.7139.4]37.0|37.0(42.0
12x45xD12x100 |R6. 0x24xD12x100| 19.4 | 22. 6| 28.1(27.7|28.7|37.0 40.4144.5)|148.6|52.4143.5|47.3|143.6|47.3147.0|47.0|53.0
12x50xD12x150 |R6. 0x24xD12x150| 34. 3 | 40.0 | 50.7]49.3|52. 1| 60.3 72.9 70.7 70.7 77.6177.6]85.6
14x35xD14x80 |R7.0x28xD14x80 | 25.6|29.7 32.3| 34.1 49.3 54.3| 58
14x40xD14x100 R7. 0x28xD14x100| 27. 1 | 31.7 34.6]38.0 52.9 54.4 54.4 61.0|61.0(70.6
14x60xD14x150 |R7. 0x28xD14x150| 49. 6 | 57.9 64. 6] 68.3 95.4 91.2 91.1 100. 6|100. 6
16x40xD16x100 R8. 0x32xD16x100| 35. 7 | 38. 9 51.0153.0 63.6174.0 67.4| 73 |72.8 72.9 78.7178.7191.3
16x65xD16x150 |R8. 0x32xD16x150| 63.3 | 73. 9 86.0(91.0 129.0 116.3 116.3 127.6|127. 6[143.0
18x40xD18x100 |R9. 0x36xD18x100| 43. 3 | 50. 4 59.1(65.1 89.7 82.3(87.9(88.4 88.4 96.7(96.71111.3
18x65xD18x150 |R9. 0x36xD18x150| 74.9 | 86. 7 101.3|101.3 148. 1 153. 1 153.1
20x40xD20x100 |R10x40xD20x100 | 52.7 | 57. 6 73.1]75.9 95.31106.7 93.5(102.9{105. 5 105. 4 115.7|115.7(133. 7
20x65xD20x150 |R10x40xD20x150 | 86. 3 |100. 7 126.11126.1 168. 3 180. 3 180. 3 196. 3|1196. 3(220.0

0000000000000 0000000000 DDDDIUIUIU]]ID]ID]IIDI[[D]DDDD 00000000000 00000000
AT 60HRC B AT HIT THA & AT 60HRC & AT HTT THI &

Small Diameter Long Neck Flat-End Milling Cutter Small Diameter Long Neck Ball End Milling Cutter

| Can Cut Steel Below 60 HRC Can Cut Steel Below 60 HRC

55 ° guANd 9T AT-AAF Hoe-Us AFATIT FTT
55° Decimal Point Non-Standard Flat-End Milling Cutter

55 ° gAWa a7 IATAF afal €5 AFATI FeT
55 Decimal Point Non-Standard Ball End Milling Cutter

——— .

RiL — e ,‘D 4mm
D1. 1-D3. 9xD4x50 4- 3 RO. 6-R1. 9xD4x50 4.7 T
D4' 1_D5' 9XD6X50 6.9 FITGIA D F FIATE T 3 AT RO. Tmm L1 AL LR3T
D6. 1-D7. 9xD8x60 124 "RO. 5-R1. 5xD4x75 6.9 0.3 4.6 0.3 | 2/3/4 4.6 | 5.3
D8. 1-D9. 9xD10x75 20.4  RO.5-R1. 5xD4x100 7.6 0.4 | 2/3/4/5/6 4.6 | 53 0.4 |2/3/4/5/6 4.6 | 5.3
D10. 1-D11. 9xD12x75 29.0  RO.5-R2. 0xD6x50 7.6 0.5 | 2/3/4/6/8 4.6 5.3 0.5 | 2/3/4/6/8 4.6 5.3
SRR U @, 1 RO. 5-R2. 5xDéx75 10.7 0.6 | 2/3/4/6/8 4.6 | 5.3 0.6 | 2/3/4/6/8 4.6 | 5.3
D1. 0-D3. 0xD4x75 6.0 RO.5-R2. 5xD6x100 12.6 0.7 | 3/4/6/8/10 4.6 | 5.3 0.7 | 3/4/6/8/10 4.6 | 5.3
D1. 0-D3. 0xD4x100 6.4 FUT I3 F afAR2 a3 RO. 25mm 0.8 3/4/6/8/10 4.6 5.3 0.8 3/4/6/8/10 4.6 5.3
D1. 0-D4. 0xD6x50 6.4 Rax120 20.7 0.9 |3/4/6/8/10 4.6 | 5.3 0.9 |3/4/6/8/10 4.6 | 5.3
D1. 0-D5. 0xD6x75 9.6 R4x200 43.6 1.0 | 6/8/10/12/15/20| 3.9 | 4.6 1.0 | 6/8/10/12/15/20| 4.6 | 5.3
D1. 0-D5. 0xDéx100 1.9 R5x120 324 1.5 |6/8/10/12/15/20 3.9 | 4.6 1.5 | 6/8/10/12/15/20| 4.6 | 5.3
L 77 R5x200 40.3 2.0 | 8/10/12/15/20 | 3.9 | 4.6 2.0 |8/10/12/15/20 | 4.6 | 5.3
AT 40 R6x120 426 2.5 10/12/15/20 3.9 | 46 2.5 10/12/15/20 4. 6|53
Déx20xD6x50 4o R6x200 86.9 I Y 26 e S S S e f S [ [
D8x30xD8x60 12. 4 E%Zggo ;gg; T BAERGE BXH-End Milling Cutter Can Cut SmallDiameter Long Neck Round Nose Flat End Miling Cutter
D8x40xD8x120 20.7 X Steel Below 60 HRC QEE*
D8x200 e O o o o | DDDDD oo ooooQoo DDMHHFFQQ‘W
D10x30xD10x75 20.4  FRTEERGS A end Milling Cutter Can Cut Te ‘D 4mm
D10x35xD10x75 20.4  Steel Below 60 HRC n *Mm L=50mm it DR L1 R
D10x50xD10x100 26. 1 YR = D=4mm ‘ ‘ D1R0.1 | 4/6/8/10 10.3
D10x45xD10x120 32.4 A L=50mm [+ D1R0.2 | 4/6/8/10 10.3
D10x200 64.3 = - D1.5R0. 1| 6/8/10/12 10. 3
D12x35xD12x75 27.4 affyedr afafyear D1.5R0. 2| 6/8/10/12 10. 3
D12x50xD12x100 34.7 D1 D L RDL D2R0.1 | 8/10/12/16 | 10.3
D12x45xD12x120 42.9 0. 3xD4x50 4.6 | 5.3 RO. 15xD4x50 53 | 54  D2R0O.2 |8/10/12/16 | 10.3
D12x200 86.9 0. 4xD4x50 4.6 | 5.3 RO. 2xD4x50 53 | 54  D3R0.2 | 12/16/20 19.3
D13xD14x100 54.7 0. 5xD4x50 4.6 | 5.3 RO. 25xD4x50 53 | 54  D3RO.5 | 12/16/20 19.3
D15xD16x100 66.7 0. 6xD6x50 4.6 | 5.3 RO. 3xD6x50 53 | 54 D3RO.5 |26/30 24.6
D16x50xD16x100 63.1 0. 7xD6x50 4.6 | 5.3 RO. 35xD6x50 53 | 54  D4RO.2 | 16/20 19.3
D16x200 154.7 0. 8xD8x50 4.6 | 5.3 RO. 4xD8x50 53 | 54  D4R0O.5 |16/20 19.3
D20x200 222.9 0. 9xD8x50 4.6 | 5.3 RO. 45xD8x50 53 | 54  D4RO.5 | 26/30 24.6

SUNHIAATHIT, SHA NI YLAF I BNSHI
AT A gl USD sTav e HAT |

— p— p— — p— p— p— [ — p— — p— p— p— p— — p— p— p— p— p— po— po— i pr— p— p— p— p— p— gy * gy  qr—

http:// www.mzg.tw


http://www.mzg.tw

TR 28 HTIATSS HcT

Cemented Carbide Cutter

Uoooooooooog 4t
FEROIRAEA EIEFEIFEIE] (1 [ r-or

CunerCan Cut Steel Below 55 HRC

Single-Edge Acrylic / Aluminium Milling Cutter

OOoOoOodo oo oo SEFT'?(R‘ BIHT’??B'QTZT
Single-Edge Acrylic / Aluminium Milling Cutter

DO000 55 vamzdEr @ =ra Hé‘rara«‘rtaaﬂa _ID

3-Edged Taper Milling Cutter For Tungsten

ooooo 55Ua3nrmﬁma‘;rasra:raaa:m3‘?

‘ D1 %—:ﬁ o2
D1£m — | D ATH HelT IJITH AT Jj
L1 L D1 a° L1 D2D L 3F 11sn D1 a® L1 D2D L 3F 1sh - e
D1x0. 5°x4LxD1. 07xD4x50Lx3F | 6.9 D4x0.5°x15LxD4. 26xD6x50Lx3F |11.9 DIR D L &
D1x1°x4LxD1. 14xD4x50Lx3F 6.9  D4x1°x15LxD4. 52xD6x50Lx3F 11.9 D4x0.5HxD1. 5xD6x50 | 6. 4
pTm— M D1x1.5°%4LxD1. 21xD4x50Lx3F | 6.9  D4x1.5°x15LxD4. 79xD6x50Lx3F |11.9 Dax1HxD1.5xD6x50 | 6.4
IR D1x2°x4LxD1. 28xD4x50Lx3F 6.9 DAx2°x15LxD5. 04xD6x50Lx3F  |11.9 Dax1.5HxD1. 5xD6x50 | 6. 4
D1 L1DL D1x3°x4LxD1. 42xD4x50Lx3F 6.9 DA4x3°x15LxD5. 57xD6x50Lx3F  |11.9 D4x2HxD1.5xD6x50 | 6.4
D1x5°x4LxD1. 7xD4x50Lx3F 6.9  D4x5°x15LxD6. 62xD8x60Lx3F 18.1 D4x3HxD1. 5xD6x50 6.4
D2x6xD3. 175x50 2.0 D1. 5x0. 5°x5LxD1. 59xD4x50Lx3F| 6. 9 D4x8°x14. 93LxD8xD8x60Lx3F  |18. 1 D6x0. 5HxD2. 5xD8x50 | 10. 4
D2x8xD3. 175x50 2.0 D1. 5x1°x5LxD1. 67xD4x50Lx3F | 6.9 D4x10°x15LxD9. 29xD10x75Lx3F [28.9 D6x1HxD2. 5xD8x50 | 10. 4
D2x10xD3. 175x50 2.0 D1. 5x1. 5°x5LxD1. 76xD4x50Lx3F| 6. 9  D4x15°x14. 93LxD12xD12x75Lx3F|39. 6 Déx1. 5HxD2. 5xD8x50 | 10. 4
D2x12xD3. 175x50 2.0 D1. 5x2°x5LxD1. 85xD4x50Lx3F | 6.9 D6x0. 5°x20LxD6. 35xD8x60Lx3F |18. 1 D6x2HxD2. 5xD8x50 10. 4
D2x22xD3. 175x50 2.0 D1. 5x3°x5LxD2. 02xD4x50Lx3F | 6.9 D6x1°x20LxD6. 7xD8x60Lx3F 18.1  D6x3HxD2. 5xD8x50 10.4
D2 5x8xD3. 175x50 2.0 D1. 5x5°x5LxD2. 37xD4x50Lx3F | 6.9  D6x1.5°x20LxD7. 05xD8x60Lx3F |18. 1 D8x0. 5HxD3. 5xD8x60 | 16. 9
D2. 5¢15xD3. 175x50 20 D2x0. 5°x6LxD2. 1xD4x50Lx3F | 6.9 D6x2°x20LxD7. 4xD8x60Lx3F 18.1 D8x1HxD3.5xD8x60 | 16 9
D2. 5x22xD3. 175x50 2.0 D2x1°x6LxD2. 21xD4x50Lx3F 6.9 D6x3°x19LxD8xD8x60Lx3F 18.1 D8x1.5HxD3.5xD8x60 | 16. 9
D3. 175x12xD3. 175x50 | 2.0 4.0 4.3 D2x1. 5°x6LxD2. 31xD4x50Lx3F | 6.9 D6x5°x20LxD9. 5xD10x75Lx3F 26.9 D8x2HxD3. 5xD8x60 16.9
D3 175x154D3. 175x80 | 20 | 40 | 4 3 D2x2°x6LxD2. 41xD4x50Lx3F 6.9 D6x8°x20LxD11. 62xD12x75Lx3F [39. 6 DBx3HxD3.5xD8x60 | 16.9
> I YIRS, 1] 773y : : : D2x3°x6LxD2. 62xD4x50Lx3F 6.9 D6x10°x17LxD12xD12x75Lx3F  139. 6 D10x0. 5HxD4xD10x75 | 24. 6
D3. 175x17xD3. 175x50 | 2.0 | 4.0 | 4.3 pjy50,60 xD3. 05xD4x50Lx3F 6.9 DBx0.5°x25LxD8. 44xD10x75Lx3F|28. 9 D10x1HxDAxD10x75 | 24. 6
D3.175x22xD3. 175x50 | 3.1 | 4.3 | 4.7 D340 5°%10LxD3. 17xD4x50Lx3F | 6.9 D8x1°x25LxD8. 87xD10x75Lx3F |28.9 D10x1. 5HxD4xD10x75 | 24. 6
D3. 175x25xD3.175x50 | 3.4 | 4.3 | 4.7  D3x1°x10LxD3. 35xD4x50Lx3F | 6.9 D8x1.5°x25LxD9. 31xD10x75Lx3F|28. 9 D10x2HxD4xD10x75 | 24. 6
D3. 175x28xD3.175x50 | 3.9 | 5.7 | 6.1 D3x1.5°x10LxD3. 52xD4x50Lx3F | 6.9 D8x2°x25LxD9. 74xD10x75Lx3F |28.9 D10x3HxD4xD10x75 | 24.6
D3. 175x32xD3. 175x50 | 4.0 6.4 6.9 D3x2°x10LxD3. 69xD4x50Lx3F 6.9 D8x3°x25LxD10. 62xD12x75Lx3F [39. 6 D12x0. 5HxD5xD12x75 | 31.9
D3. 175x42xD3. 175x60 | 7.9 9.3 9.7  D3x3°x9. 5LxD4xD4x50Lx3F 6.9 DB8x5°x22.8LxD12xD12x75Lx3F |39. 6 D12x1HxD5xD12x75 31.9
D3. 175x52xD3. 175x70 | 10.3 | 12.1 | 12.6 D3x5°x10LxD4. 75xD6x50Lx3F  |11.9 D12x1. 5HxD5xD12x75 | 31.9
D4x12xD4x50 4.7 | 5.4 | 6.1 D3x10°x10LxD6. 53xD8x60Lx3F |18. 1 D12x2HxD5xD12x75 | 31.9
D4x15xD4x50 4.7 54 6.1 D3x15°x13. 06LxD10xD10x75Lx3F|29. 0 D12x3HxD5xD12x75 31.9
D4x17xD4x50 4.7 | 5.4 | 6.1 TOHOOOOOOOOOOOD OO OO OO
Bixggxgixgg g ; g 47‘ 2 21 fﬁm ﬁﬁﬁﬁr@ﬁﬁ:‘ D D D Inner R M\@Jﬁﬁ Wﬁrﬁﬁrﬁ D Epsove ail roove i ﬁ%?: QTGT?? %‘
D4X28X 4X ©0 | 71 | 79 cancusteeBelowss Hre Cutter Can Cut Steel Below 60 HRC 58HRCH # (607907 [120°) ][] straig
x28xD4x50 ’ ’ ’ R D X0 b2 Chamfer Cutter Can Cut Steel
D4x32xD4x50 6.4 |86 |93 o, : } Below 58 HRC(60°/90°/120°)
D4x42xD4x60 10.3 | 12.1 |12.9 D@%—-T“—-"‘I o1} “1‘—‘ 1o A
D4x52xD4x70 13.3 [17.1 |17.9 —Lt o=t L ) :
D6x12xD6x50 9.3 [10.0 [11.4 30" > T— 1 D
D6x15xD6x50 9.3 [10.0 |11.4 Jrard Jrara a \ L |
D6x17xD6x50 9.3 |10.0 [11.4 DIR.D.L usn § Dla D2L1.DL Lisn
D6x22xD6x50 9.3 (10.0 | 11.4 D4R0. 5xD4x50 D4x90°xD1. 5x6xD4x50 ; JrarE AL ®EfiE
D6x25xD6x50 9.3 [10.0 | 11.4 D4R0. 75xD4x50 6.7 D6x90°xD2. 5x8xD6x50 | 10. 4 D L
D6x28xD6x50 1.1 1121 113.6 D4R1. 0xD4x50 6.7 D8x90°xD3x6xD8X50 16.9 D1xD4x50L 4.6 5.0
D6x32xDéx50 11.1112.9 (14.3 D6R1. 0xD6x50 11.9  D10x90°xD4x10xD10x60 | 24. 6 D2xD4x50L 4.6 5.0
D6x42xD6x60 15.7 117.7 (19.3 D6R1. 5xD6x50 11.9  D12x90°xD5x12xD12x60 | 31.9 D3x50L 4.6 5.0
D6x52xD6x70 20.3 122.3 | 25.7 D6R2. 0xD6x50 11.9 D4x50L 4.6 5.0
D6x62xD6x80 25.0 |132.1 133.6 D8R2. 0xD8x50 20.0 D5x50L 8.6]9.3
D6x72xD6x90 31.4139.3 140.7 D8R2. 5xD8x50 20.0 D6x50L 8.6/9.3
D8x20xD8x50 19.7 | 33.3 | 42.6 D8R3. 0xD8x50 20.0 D8x60L 13.6(14.3
D8x32xD8x50 19.7133.3 | 42.6 D10R4. 0xD10x60 29.1 D10x75L 20.0(21.1
B}gxggxglgxgg gg g gg ; ig- g D12R5. 0xD12x60 40. 1 D12x75L 26.9(27.9
XILXDIIX : : : CIT T T T T I C I O O I T T
D12x20xD12x50 46.9 150.0 | 53.6 Dono0 00000000 000 DOO&#ES Ydrs @ 3 a7 5T T 390797 FT aFdrd
D12x32xD12x50 46.9 [ 50.0 | 53.6 55HRC & T8 eTa s @ad & P .

BBHRS FATREIT ] [ (1] 1 (1 [ Fixea-p

Use Of Fixed PointAnd Chamfer Can Cut
Steel Below 58 HRC

ng Cutter for Tungsten

DDDDDD 0000 O CO L I IO T bl el Some e ramee
p”a (iifge ﬁzﬁ??ﬁl&%ﬁ?ﬁémer Can Cut Steel Below 55 HRC

Tungsten Steel Drills Tungsten Steel Bar

Can Cut Steel Below 55 HRC D1IWID o £> ————;D
118" ¢>ﬁ§§1:30 J,LEED | L L ‘
/1 L
‘ AT QQ'EED
D1 L1DL
D3x50xD3x100Lx4T | 7.6 S SN D4y 15xD4x50
Dax50xDAx100Lx4T | 8. 1 i VSR 1 30xD6x100 kS s P
D5x50xD5x100Lx6T | 11.1 ~ D1.0-D1.5 1.9 D3x100L 2.4 3.6 D8x30xD8x60 Fefa
D6x50xD6x100Lx6T | 13.3  D1.6-D2.0 2.4 D4x100L 3.91 6.0 D10x30xD10x75 _ .
D8x50xD8x100Lx6T 21.1 D2.1-D2.5 2.6 D5x100L 6.1 7.4 D10x45xD10x100 26.1 D1xD4x50L 3.3[3.9
D10x50xD10x100Lx6T | 30. 7 D2.6-D3.0 3.3 Déx100L 7.4 8.6 D12x35xD12x75 271 D1.5xD4x50L | 3.3 | 3.9
D12x50xD12x100Lx6T | 40.7 ~ D3.1-D3.5 4. g D?x100L 12? i g; : 21 D12x50xD12x100 34.7 D2xD4x50L 3.3|3.9
DO00000 00 DOk DN GEienn |5 7] i Diesodiedn 579 padsse | 2.9 2.7
55HRC @ A9 qeTa H1e aFd & D4. 6-D5. 0 6.9 OO0 000 O00ooo 0 0000p3000g0an
Straight-Edged Tungsten Steel Reamer D5 1—D5 5 7.9 o o A D%%%aﬂﬂﬂﬂ 6 1 6 9
Can Cut Steel Below 55 HRC D5- 6—D6. 0 9 6 TAFT58HRC 8 A9 FETT HIc FFATE : .
: . Double Head ooood F\gegjx;%g‘k 6.0 6.4
I iD  D6.1-D6.5 1.1 Drill Dual Use Of Fixed Point And x100L 12.1]12.9
D'”‘—" L1 L ‘ D6. 6-D7.0 12.9 Chamfer Can Cut Steel Below 58 HRC D6x50L 6.0 6.4
. . D7.1-D7.5 16.9 D6x100L 12.1112.9
3mATH AA D7. 6-D8. 0 18.9 D8x60L 11.1(12.1
D1 L1 DL T SN D8.1-D8.5 22.4 D8x100L 19.0(20.0
D3x50xD3x100Lx4T 6.0 D8. 6-D9. 0 24.7 D10x75L 18.9(19.3
D4x50xD4x100Lx4T 6.4 D9. 1-D9. 5 28.3 D10x100L 27.1128.3
D5x50xD5x100Lx6T 8.9 D9. 6-D10. 0 30.7 D12x75L 25.4(27.1
D6x50xD6Xx100LXx6T 9.6 D10. 1-D10. 5 35.7 D3x100L-DB 7.4 8.1 D12x100L 37.9138.9
D8x50xD8x100Lx6T 14. 6 D10. 6-D11.0 37.4 D4x100L-DB 7.4 8.1 D14x100L 51.4|52. 6
D10x50xD10x100Lx6T | 22. 1 D11.1-D11.5 46.0 D5x100L-DB 14.3115.0 D16x100L 64.0(65.7
D12x50xD12x100Lx6T | 30. 0 D11.6-D12.0 50.0 D6x100L-DB 14.3115.0 D20x100L 94.6|96.9

SUNHIAAT HIT, SR T YLAF I BITHI

H

AT A g USD ST A of HoA T | http://www.mzg.tw


http://www.mzg.tw

THAT{TA R T
Extrusion Screw Tap

THATIT A HH{{?‘\T gy x IfT x A ATE qgua  WER W EEEPLIEPE LIS

Extrusion Screw Tap (/&Td 3ET)

=
5

Lyar  HHT ARG

(/ gfd 3er)

M3. 0x0. 35 RH6 | B 71 17.9  Max1.0 RH8 | B 26.1 | 28.9
M3. 0x0. 5 RH4 | P 47 | 5.4 M4x1.25 RH8 | B 26.1 | 28.9
RH4 | B 47 |54  M4x1.5 RH8 | B 26.1 289
RH5 | P 47 |54 M4x2.0 RH8 | B 26.1 |28.9
RH5 | B 47 | 5.4 Méx1.0 RH8 | B 34.0 [ 371
5 1 RH6 | P 4.7 | 5.4 Mi6x1.25 RH8 | B 34.0 | 37.1
RH6 | B 47 |54  Mé6x1.5 RH8 | B 34.0 | 37.1
Tin RH7 | P 47 |54 M6x2.0 RH8 | B 34.0 | 37.1
y3g x IR x ATTE . RH7 B 4.7 5.4
(ataswen) T e RHS | B 4.7 | 5.4 UNFO-80 RH4 | P 57 | 6.1
RH9 | B 47 |54 RH4 | B 57 | 61
mg 228- 1%5 Y U0l G m 0x0.5-80L 8.9 UNC1-64 RHZ | B 57 61
R R 8F B 231109 m3.0x0.5-100L 9.7 [10.4 UNF1-72 RH4 | B 7.4 | 7.9
e s | s 23 1100 M3 0x0.5-1500 17.6 [ 18.3  "UNC2-56 RH& | P 57 161
Mo 010 55 Rl o ST | 74 M3.0%0. Blonsee RH6 | B 6.7 | 7.4 RH4 | B 57 | 61
SN0 R 1P oL L5 "M3.5x0. 6-100L 9.7 [10.4 RH5 | P 57 | 6.1
T RH4 | B 25 | a0 M350 blamsem RH6 | B 6.7 | 7.4 RH5 | B 57 | 61
R4 25120 maoxo3s RHG6 | B 71 179  UNG2-56-100L 10.0 | 10.7
e | g 23100 maoxos RH6 | B 71 | 7.9 UNF2-64 RH5 | B 6.7 1 7.9
— i 200 w4 0x0.7 RH5 | P 4.7 | 5.4 UNG3-48 RH5 | B 57 161
- 1x0. o | B PR-Y: RH5 | B 4.7 | 5.4  UNF3-56 RH5 | B 7.4 |79
M1 2x0. 25 RH4 | P 53 60 RH6 | P 4.7 | 5.4 UNC4-40 RH5 | P 47 54
- 2x0. : : RH6 | B 47 |54 RH5 | B 47 |54
rindll 573 1 6.0 RH7 | P 47 |54 RH6 | P 47 |54
S|P 5.3 160 RH7 | B 47 |54 RH6 | B 47 | 54
s RHS \'B 5.3 160 RH8 | P 47 | 5.4 RH7 | B 47 | 5.4
a2 iy ISR A O A RHE | B | 47 | 54  UNG4-40-100L 10.0 | 10.7
- 4x0. ra | B RS RH9 | B 4.7 | 5.4 UNF4-48 RH5 | P 7.4 | 7.9
R | p 25| &g ma0x0.7-80L 8.9 | 9.7 RH5 | B 7.4 | 7.9
me | B 25 00 MA0x0. 7-100 9.7 |10.4 TUNC5-40 RH5 | P 53160
T, S o5 155 maoxo. 7-150L 17.6 | 18.3 RH5 | B 53|60
W 503 T S MA0XO. Tl RH6 | B 6.7 | 7.4 UNG5-40-100L 10.0 | 10.7
X e g P10 masxos RH7 | B 74 183  UNF5-44 RH6 | B 7.4 | 7.9
W1 6x0.2 RH4 | P oo M45x0.75 RH7 | B 57 | 6.9  TUNC6-32 RH5 | P 17154
’ ’ RH4 B 71 79 M5. 0x0. 35 RH6 B 7.4 | 8.3 RH5 B 4.7 | 5.4
M1. 6x0. 35 RH4 | P 53|60 M5.0x0.5 RHo | B 7.4 q1683 RH6 | P 4.7 | 5.4
na | B 23190 We0x08 RH6 | P 53 | 61 RH6 | B 4.7 | 5.4
RH6 | B 53 | 61 RH7 | B 47 |54
i - RHZ | P | 5.3 | 61 UNG6-32-100L 10.0 | 10.7
T . il o5 155 RH7 | B 53 |61  UNF6-40 RH6 | P 6.7 | 7.4
R s 210 RH8 | B 53 | 6.1 RH6 | B 6.7 | 7.4
e i | b Dl ws0x0.8-80L 9.3 [10.3 TUNC8=32 RH6 | P 50 |57
RH4 | B 53|60 M5. 0x0. 8-100L 10.0 | 11.0 RH6 | B 5.0 | 5.7
RH5 P 53 | 60 M5. 0x0. 8-150L 18.3 [ 19.3 RH7 P 5.0 | 5.7
RH5 | B 5.3 | 6.0 04 Bl R 15 T8 uNcs-32-100L e 1.0 [ 1.7
m Sig' §5 Eﬂj E g ; Z' 3 mgj 8§83 57’5 RH7 | B 7.4 | 8.3 UNF8-36 RH7 | B 7.4 | 8.1
- RH4 | B 57 a7 WM60x10 RH6 | P 53 | 6.1 _UNSB-40 RH6 | B 7.4 | 81
o 0x0-25 Ria T > —51 RH6 | B 53 |61 TUNC10-24 RH6 | P 53160
s va | B [ i RH7 | P 53 | 61 RH7 | B 53|60
M2. 0x0. 4 g | p R RH7 | B 53 | 61  UNC10-24-100L 10.0 | 11.0
i s | B P RH8 | B 53 | 6.1 UNC10-24Letssam RH7 | B 7.1 | 8.1
RH5 | P 47 | 54 M6 0x1.0-80L 9.3 |10.3  UNF10-32 RH7 | P 6.7 | 7.4
RH5 B 4: 7 5: 4 M6. Ox1. 0-100L 10.0 | 11.0 RH7 B 6.7 | 7.4
RH6 P 47 | 54 M6. Ox1. 0-150L 18.3 | 19.3 UNF10-32-100L 10.0 | 11.0
RH6 | B 47 |54 M60x1 0L RH6 | B 7.1 | 8.1 UNF 10320zt 50er RH7 | B 7.1 | 8.1
RH7 | P 47 | 54 M7.0x0.5 RH7 | B 9.3 |10.4  UNF12-24 RH7 | B 5.4 | 6.7
RH7 | B 4.7 | 5.4  M7.0x0.75 RH7 | B 9.3 |10.4  UNF12-28 RH7 | B 6.7 | 7.6
RH8 | B 47 | 54  -MZOx1-0 RH7 | B 9.3 |10.4  |NS12-32 RH7 | B 6.7 | 7.6
M2. 0x0. 4-80L 29 |97 MB.Ox0.5 RH7 | B 9.3 110.4 UNG1/4-20 RH7 | P 5.4 | 6.7
M2. 0x0. 4-100L 9.7 |10.4 M8.0x0.75 RH7 | B 9.3 |10.4 RH7 | B 5.4 | 6.7
M2. 0x0. 4Lt saer RH6 | B 71 179 M8.0x1.0 RH7 | B 9.3 | 10.4  UNC1/4-20-100L 10.0 | 11.0
M2, 2x0. 45 RHA P 53 50 N8. 0x1. 25 RH7 B 9.3 |10.4 UNC1/4-20L 5 RH7 B 7.1 8.1
- 2. na | B S I RH9 | B 9.3 [10.4  UNF1/4-28 RH7 | P 67 | 7.6
2. 3x0. 4 RH5 | P 177 54 M8 0xl.25-100L e RH7 | B 6.7 | 7.6
RH5 | B 47 | 54 M8 Oxl.25-150L : 3 UNF1/4-28Lase RH7 | B 7.1 | 8.1
v RIS S Mot 2Bl | RH7 | B 11.0 | 12,4 (NEF1/4-32 RH7 | B 67 |76
2 2 RHG B 77 779 M9. 0x0. 5 RH7 B 10.4 [ 12.1 LINS1 /A—24 RH7 B 6.7 7.6
M2. 5x0. 25 RH7 B 10.4 | 12.1 UNC5/16-18 RH7 B 9.3 [10.4
M2. 5x0. 35 RH6 | B 71 L9 RH7 | B 10.4 | 121 RH7 | B 1.1 126
: 1 UNC5/16-18Let 5w : :
M2.5x0. 45 RH4 P 4.7 | 5.4 M9. 0x1.0 RH7 B 1041121 13.6 | 150
RH4 | B 47 | 54 M9Bxt-25 : -1 UNC5/6-18-100L : :
RH5 | P 47 | 54 MOx0.5 RH7 | B 10041121 NP5 /16-24 RH7 10.0 | 11.1
RH5 | B 47 | 54  MOx0.75 RH7 | B 10041121 yne3/e-16 RH7 1.0 [13.1
RH6 | B 47 | 54  WMOx1.25 R B 10.4 1121 yNG3/8-16Lawws  RH7 | B 13.1 1147
RH7 | P 47 | 54  MOxI.5 RH7 | B 10241121 yneg/g-24 RH7 | B 11.9 113.9
| B R RH9 | B 10.4 121 Noo/1enta RH7 | B 4.6 | 16.4
RH8 | B 47 | 54 mOx1.5-100L 153 1167 _ynrz/46-26 RH7 | B 15.7 |17.9
M2. 5x0. 45-80L 89 | 9.7  MOx1.5-150L a7 | fgg ﬂg UNC1/2-12 Ri7 | B 1id ]g;
= 0.7 |10 4 MOxt—Btesr : -0 UNF1/2-20 : -
Mo ox0 4o 100k | e | B 71 | 79 ttxte RH7 | B 11.9 113.9
. IXU. 2id 3eer - - -
M2 6x0. 45 RH5 | P 47 154 M2x0.5 B3y o 12137 wysa0 Re B 53|60
T RH5 | B 4.7 | 5.4 M2x0.75 : : : :
RH6 | P 47 |54 W2x1.0 RZLE 91137 wera-32 RH7 | B 53|60
RHS | B 4.7 1 5.4 M2x1.25 RH7 | B 1.9 | 139 W/1624 RH7 | B 54|67
RH7 | B 47 |54 WM2x1.5 A I T 17 Ri7 | B A
M2. 6x0. 45—100L 9.7 |10.4  M2x1.75 RH8 B 1.9 1139 W5/16-18 RH7 B 191139
19.7 | 21.7 We/816 RH7 | B 14.6 | 16. 4
M12x1. 75-100L okl wtea RHTCh o 14.0116.4
M12x1. 75-150L : 0 wiy2-12 : :
L2, RH7 | B 14.0 | 16.1

SUNRTHAATHICT, SHY HTLAFH HI BISH
- AT A g USD sTav e T HAT | http://www.mzg.tw

—— e e e e e e e L A~ L e


http://www.mzg.tw

g x g x Aaqr$
(/g a 3aer)

g x IR x A ATE

LEudar  HHT qHE )
(/&T'd 3eeT)

=
5

g adr MHIT qAHE

=
5

s . — M7.0x0.5 P2 6.7 | 7.9  UNC1/2-12 P3 1 ]15.3
TR - i M7. 0x0. 75 P2 6.7 | 7.9 UNF1/2-20 P3 14.6 | 16.4
M7.0x1.0 P2 60 | 7.4
Rkt M8. 0x0. 5 P2 6.7 | 7.9 Wi/8-40 P1 4.7 | 5.4
M8. 0x0. 75 P3 6.7 | 7.9 W5/32-32 P2 4.7 | 5.4
RET— @ s 0x1.0 P3 6.7 | 7.9 W3/16-24 P2 4.7 | 5.4
. e M8. 0x1. 25 P3 6.0 | 7.4 Wr7/32-24 P2 4.7 | 5.7
Tin P4 6.0 | 7.4 W1/4-20 P2 4.7 | 5.7
P p—— W N8. Ox1. 25-100L 12.6 W5/16-18 P2 6.0 | 7.4
) LT Y s, 0x1. 25-150L 18.3 W3/8-16 P2 7.9 | 9.6
M8. 0x1. 25 cone P4 43.3  W7/16-14 P3 1.9 113.9
M1. 0x0. 25 P1 53 160 "M9.0x0.5 P2 83 | 10  Wi/2-12 P2 13.1 | 15.3
M1. OXO. 25 Carbide P2 27. 6
M9. 0x0. 75 P3 8.3 | 10
M1. 2x0. 25 P1 53 ] 6.0
M o 2% we.oxt1.0 P3 8.3 | 10
N = s H9.0x1.25 P3 7.9 | 9.6 PS1/8-28 coe P4 56. 4
a3 o oLl woxos P2 8.3 | 10 PS1/4-19 casice P4 91.7
- 4x0. o 250y moxo.75 P3 8.3 | 10 PT1/8-28 cavice P4 62.9
: : M10x1.0 P3 8.3 | 10 PT1/4-19 coviee P4 95.7
M1. 4x0. 3-80L 9.3
M10x1. 25 P3 8.3 | 10
M1. 4x0. 3 cabice P2 22.4
M10x1. 5 P3 7.9 | 9.6
M1.5x0. 3 P2 5.7 | 6.7 P4 7.9 1 9.6 NPS1/8-27 carie P4 56. 4
M1. 6x0. 2 P2 6.7 | 7.4 _ NPS1/4-18 casice
M10x1. 5-100L 14. 6 P4 91.7
M1. 6x0. 35 P2 53 |60 - NPT1/8-27 cunice
M10x1. 5-150L 19.7 P4 62.9
M1. 6x0. 35-80L 9.3 M10x1. 5 cone P4 51.1  NPT1/4-18 casice P4 95. 7
M1. 6X0. 35 Carbide P2 0. 0 21. 0 - - :
M11x1. 0 P3 10.4 [12.6
MT. 7x0. 35 P2 53 60 05 = ot
M1. 7x0. 35 casice P2 21.0 : : :
M12x0. 75 P3 1.0 [ 13.1
M1. 8x0. 2 P2 67 | 7.4
M12x1.0 P4 1.0 [ 13.1
M1. 8x0. 35 P2 57 | 67
M12x1. 25 P4 11.0 | 13.1
M2. 0x0. 25 P2 6.7 | 7.4
W 0x0. 4 o SO L m2xas P3 1.0 [ 13.1
- UXE. P3 A7 e, M2x1.75 P4 10.4 | 12.6
o w012y m2x1.75-100L 18.9
: - M12x1. 75-150L 22.4
M2. 0x0. 4-80L 8.3
M12X1. 75 Carbide P4 62.9
M2. 0x0. 4-100L 9.3 A 5 Ty
M2. 0x0. 4 conice P3 19.7 : : '
M14x1. 25 P3 17.1 119.7
M2. 2x0. 25 P2 67 | 7.4
M14x1.5 P3 17.1 119.7
M2. 2x0. 45 P2 4.7 | 5.4
M14x2. 0 P2 15.7 118.3
M2. 3x0. 4 P2 4.7 | 54
M16x1.0 P3 19.7 1 22. 4
M2. 5x0. 35 P2 6.7 | 7.4
Mo o0 e P S0 LG mextos P3 19.7 | 22. 4
e P3 27 |2, Mmoext5 P3 19.7 | 22.4
o Dol 2n mex2.o P4 18.3 | 21
M2. 5x0. 45-80L 8.3 N
M2. 5x0. 45-100L 9.3 T 4 530
M2. 5X0. 45 Carbide P3 19. 7 UNF1 _72 P1 6- 7 7.4
M2. 6x0. 35 P2 6.7 | 7.4 Unoz=ss = o I
M2. 6x0. 45 P2 4.7 | 5.4 £ R
M2. 6x0. 45-100L 9.3 e :
M3. 0x0. 35 P2 4.7 |54 ﬂngg_gﬁ (il 0 Z? Y 4
M3. 0x0. 5 P2 4.0 | 47 nosas 5 S e
ﬁj j- 8 j— ; UNF3-56 P2 6.7 | 7.4
: : UNC4—40 P2 4.7 | 5.4
+0.1 4.7 | 5.4 e P
M3. 0x0. 5-80L 8.3 N 7|2
M3. 0x0. 5-100L 9.3 L 9 6 |
M3. 0x0. 5-150L 17.1 i 0 AT S
M3. OXO. 5 Carbide P3 19. 7 UNC5—40 P2 4' 7 - 4
M3. 5x0. 6-100L 9.3 i o6 |7
M4. 0x0. 35 P2 6.7 | 7.4 “UNoe=32 5 T
M4. 0x0. 5 P2 4.7 | 5.4 o IR
M4. 0x0. 7 P2 4.0 | 4.7 By R
o S0 |40 unce-32-100L 9.6
o DY 2] unre-0 P2 6.7 | 7.4
: : : UNC8-32 P2 4.7 | 5.4
M4. 0x0. 7-80L 8.3 o5 P
M4. 0x0. 7-100L 9.3 51 7|2
M4. 0x0. 7-150L 17.1 L o6 |7
M. 0x0. 7 carice P3 19.7  |inFa-36 5o 57 | 2@
mg 8"8- g ﬁ; j- g g g UNC10-24 P2 47 |57
- 0x0. o S0 |29 unclo-24-100L 9.6
o Vo |2y UNF10-32 ) 4.7 | 5.7
o 29129 unF10-32-100L 9.6
V5. 0x0. 8-80L : sl UNC12-24 P2 4.7 5.7
M5 oxo' 8-100L 96 UNF12-28 P2 6.7 | 7.6
- X : UNC1/4-20 P2 47 |57
M5. 0x0. 8-150L 17.9 = PR
M5. 0x0. 8 covse P3 21.0 P4 47 |57
o 2 = 2027 unet/4-20-1000 9.6
MG, OX1- 0 P2 40 |2 UNcl/a-28 P2 6.7 | 7.6
- Oxt P3 40 |50 UNS1/4-32 P2 6.7 | 7.6
o W0 |20 _UNEF1/4-36 P2 67 | 7.6
o 2o |29 uncs/te-18 P3 6.0 | 7.4
M6, Ox1. 0-80L : e UNC5/6-18-100L 13.1
MG, 0X1-0_100L 94 UNF5/16-24 P2 7.4 | 8.6
X : UNC3/8-16 P3 7.9 | 9.6
M6. Ox1. 0-150L 17.9 gL
M6, Ox1. 0 carne P3 27 4 UNG3/8-16-100L “
- 0x1. 0 carice : UNF3/8-24 P2 9.3 |10.7
UNC7/16-14 P3 1.9 113.9
UNF7/16-20 P3 12.6 | 14.7
SUNHIAATHIT, CHA MNTYLAF HI BNSH -
AT A gl USD st AT AT | http://www.mzg.tw



http://www.mzg.tw

YT ATAGIT el

Spiral Grooved Tap

g{.qﬁ HT(_*I‘TETT ae y¥sx XA yguar  FwE  Tin q¥s xR xAaTE YA  FHE  Tin y¥sx TR e qgudr  FWE  Tin
Spiral Grooved Tap (/&fa 3arer) (/&fa 3erer) (/&fa 3arer)
M4. 0x0. 7 +0.1] 4.7 [ 5.4 M2x0.5 P2 [11.0]13.1 UNF1/4-28 P21 6.7]7.6
mw-m_‘ P2 | 4 |47 M2x0.75 P2 |11.0[13.1 Pa|67 |76
S P3| 4 |47 WM2x1.0 P2 |11.0]13.1 UNF1/4-28-HTswean | 1B 7.4
e P4 | 4 |47 P4 |11.0]13.1  UNF1/4-28Lsswer P2|7.48.3
. M4. 0x0. 7-100L 9.3 M12x1. OLeswer P2 |12.6|14.7 UNEF1/4-32 P2|6.7|7.6
m M4. 0x0. 7-150L 17.1 M12x1. 25 P2 |11.0|13.1 UNS1/4-36 P216.717.6
M4. 0x0. 7-AL P2 | 4 | 4 P4 |11.0[13.1 'UNC5/16-18 P2 6.0 7.4
Tin M4. 0x0. 7=HT sweerr | 1B | 4.7 | 6.1 M12x1. 250t P2 |12.6|14.7 P3| 60|74
RPN, H. 0x0. 7Lrswe P2 | 4.7 157 w25 P2 |11.0(13.1 P4 60|74
(e 5o 4 M5. 0x0. 5 P2 (4754 P4 [11.0113.1 UNC5/16-18-100L 13.1
M1, 0x0. 25 P1 1531 6.0 P3| 4.7 |54 M2x1. 5Ltz P2 1126|147 UNC5/16-18-AL P2 | 6.7
e P2 15360 V5. 030, 5L g‘zl gg 23 M12x1.75 +g-21 1(1)2 ]gé UNC5/16-18-HT shearn | 1B [ 7.9 | 8.3
. . . 0x0. Sleta seer . . . . UNC5/16—18Lzt 50r P2|7.4]8.6
P3|5.3]6.0
M5. 0x0. 8 +0.1| 4.7 | 5.4 P3 [10.4112.6 yNF5/16-24 P2|7.4]8.6
P4|5.3]6.0 P2 | 4 |47 P4 10.4(12.6 P4|7.4186
M1. 2x0. 25 3]s P3| 4 | 47 wmi2x1.75-100L 18.9 UNF5,/16-24-HT s | 1B 10.0
316 PAl 4 | AT M12x1.75-150L 22.4 UNF5/16-241 oz | P21 9.3 110.4
o gg 2-8 M5. 0x0. 8-100L 9.6 M12x1. 75-AL P2 104 "nNG3/8—16 P217.9]9.6
M. 4x0.2 P11 6774 Mo 0xD 871501 oo |57, M2 75 HT s | 181191120 P3|7.9]9.6
: 5 : : M5. 0x0. 8-AL M12x1. 75 st s . . P47.9]9.6
M1. 4x0. 3 PT 153160 M5 0x0.8-HT sien 1B | 4.7 | 6.1 P2 |17.1(19.7 14.7
P2| 53|60 o 0un gl | P2 |47 |57 Maxl.0 P2 |17.1|19.7 |NOS/BTEHAOOL 1 o) g
P3|15.3|6.0 M6. 0x0. 5 P2 | 4.7|5.4 P2 (17.1]19.7 1 10. 4
bk M14x1.5 UNC3/8-16-HT siea B|9.6]10.
WT.5x0.3 ARRARA S DR I Y P2 157185 UNG3/8-16Ls P21 9.6 |11.0
. 5x0. P 77 P4 | 4.7 5.7 Midet P2 [19.7]22.9 SSai ) '
M16x1.0 o P2|9.3(10.7
E0L T TS wonsam | 72 I37\60 MEAE | mmojny waes ) E D30
Joxs : -0 M6, 0x0. 75 : 7 Méx1.5 : : oy 1B 12.1
P2|5.3|6.0 P3 | 4.7 |5.7 P2 |18.3|21. 4 UNF3/8-24-HT s
P3|5.3]6.0 pa | 47|57 Wex20 Ltk e ie s
P4|53)|6.0 . P2 | 57169 _unEo—an P1 |53 6 UNOO7 092 - i
M1. 6x0. 35-HT sneer | 18 6.9 MO0 Tlawswr | %) 57 | 57 TUNEOSO Pl | 53| 6 UNC7/16-14 P2 | 18S9
M1.7x0.2 P16 7 7.4 W6&-0x.0 P2 4 | 5 _neros Pl | 6774 UNF7/16-20 L R
- 7x0. : : NF1-72 - - © P2 13.1[15.3
s | e 1) weRT e A | R
P3|5.3]6.0 9.6 P3 |5.3] 6
M6. 0x1. 0~100L P1|4.7|5.4
P4]5.3]6.0 17.9 P4 | 5.3 | 6 W1/8-40
M6. 0x1. 0~150L - P2| 4.7 |5.4
M1. 8x0.2 PIIOT 74 W 0x1. 0-AL P2 4 1 4 UNG2-56-100L 9.6 L P2|4.7|5.4
M1.8x0. 35 PLI57167 weoxt 0HTawn | 1B | 47|61  UNG2-56HT sman 1B | 6169 W/16-24 PGS 5 7
M2. 0x0. 25 PIT67]74 e g opm g% 2.; g; UNF2-64 E] gg 7-64 %22534 P2 | 4757
M2. 0x0. 4 +0.1 5.3 6.0 4o oogy . . = . = : :
Pi | 47|54 MW.0x0.5 pa | 67|79 NGB Pl 67|74 W5/16-18 E - e
P2 4.7|5.4 P2 16.7|7.9 1INCA- Pl [ 47154 W3/8-16 : :
P3| 47|54 M-0x0.75 pa | 67|79 UNCA40 P2 | 47|54 Wi/16-14 s
PA| 47154 4o 040, 75Lem s P2 | 7.919.3 P3 1 4.7 154 W/2-12 : ;
N2 00 AL | pi | 47| 4y WOXIO b | 6|74 UNGA—40-100L LT esteas o
M2. 0x0. 4-HT shearr 1B | 54167 y2g4 ofmer P2 1 7.418.6  UNC4A-40-AL P2 | 4.7 PS1/4~14 stz 79
M2. 0x0. 4L zieser PII5.7167 w'0%0 5 P2 1671 7.9 UNGA—40-HT shour 1B | 5.4 1 6.7 PS1/4~18 st 03
M2. 2x0. 25 PIle67[7.4 ™70 E‘Zl 2-; ;3 UNE4=48 g; f{; Z'j PS1/4-19 <o o 131
M2. 2x0. 45 P1|4.7]54 : -9 UNC5-40 : -4 PS3/8-18 serrereess ‘
M8. 0x0. 75 et 14.6
M2. 3x0. 4 Pl | 47|54 X g;‘ g; ;Z UNC5-40-100L o Zg . 4 PS3/B-19:ems 171
2. 350, A P2 18T WB.0x0. T5Lanwa | b | 6.7 | 7.9 “ono=ad P2 [ 4.7 5.4 ho/2 14mmws 19.7
M2. 5x0. 35 PILVGT 74 us ox1. 0 pa | o 7| 5o UNCE=32 p3 | 47 |54 PS1/2-14umns 25.0
+0.1] 5.3 | 6.0 Mo Pxt : - - - e '
2. 5x0. 45 PI147]54 us ot ols P2 [7.9(9:3 P4 | 4.7 | 5.4 P/AMAamen PR
P2IATISA Ngoias | | % | S UNses2tooL a5 PS1—H -2 :
P3| 4.7 |54 M&Xb P26 | 14 UNGe-32-AL P24 ' 79
P3| 6 | 7.4 T 1B | 5467 :
P4 | 4.7 5.4 UNC6-32-HT specs PT1/16-28 woms e 79
M2. 5x0. 45-100L 9.3 PA 6 174 UNG6-32Lnsee P25 7167 Sk 10.4
M2. 5x0. 45-AL P1 47|47 M8. Ox1. 25-100L lég UNF6-40 Eg 2; gj Eﬁji fgmwm 15. J
o o . Ox1. 25— . _ . . —19 e ate .
Eie v - 24107 meloxt 251500 | po o R P3 | 4.7 | 5.4 PT3/8-19wm e 19.7
. . : . . Ox1. 29—H1 sheatn P2 7.4 | 8.6 G 9.6 PT3/4-14 o oo .
o3 L4 o2, M9.0x0.5 P2°(7.9 | 9.6 [NGER3oHT e 1B | 5467 7.9
pal a7 la s M9.0x0.75 P21 7.9 196 (NCB-32Lu P2 | 5.7 | 6.7 NPT1/8-27 suxcomratses 10. 4
i % N9.0x1.0 P2 | 10 |11.4 i P2 | 6.7 | 7.4 NPT1/4-18 . 15.7
u 9.3 UNFE—36 e et
M2. 6x0. 45-100L pi 53] 47 M9.0x1. Olaimsee P2 | 7.919.6 "ar®os P2 [ 4.7 157 NPT3/818 s o 19.7
HEa0 b 17 | 5 4 MFI0RINZ5 P2 |83 10 P3 | 4.7 | 5.7 NPT{/2-14 smovtpiish 27.6
M3. 0x0. 35 po | a7 54 MOX0.5 P2 | 8.3 | 10 PA | A7 |57 NP1 /414 46.0
P3| 47|54 MOx0.75 PLES 1,10, uneto-24-100L oo | 58 NPT1-11. 1-2
P4 47|54 o ) 7 UNC10-24-AL :
X0. 75Lcta swr P2 | 8.3 | 10 813 1B | 5467
M3. 0x0. 35Lstrsmer P2 | 57|67 UNG10-24-HT shearn
e +0.1| 47|54 WOx1.0 P83 10 UNC10-24Lase | b2 | 21| 07
o P T ot oL | b2 83| 0 UFIOR2 v | 47|57
orla | al mioxti2s P4 | 8.3 | 10 P4 | 4.7 | 5.7
Pa| 4 |47 P2 104 uNFro-32-100L 76
93| MIOXT.28Lawse | PO B3 10 ey 3oy, | LD r4
M3. 0x0. 5-100L 17‘ 1 M10x1.5 P2 17.919.6 ONF10=32L P2 1 7.418.3
M3. 0x0. 5-150L - P3 | 7.9]9.6 o P2 | 4.7 5.7
M3. 0x0. 5-AL P21 4 14.0 P4 | 7.9 | 9.6 UNCI2-24 P2 | 67|76
® e o 1B 4.7 6.1 ' UNF12-28 ' '
M3. 0x0. 5—HT stean 14. 6 P2 | 6.7|7.6
M3 0x0. 5L P2 | 4.7 5.4 19.7 UNEF12-32 P2 16776
0x0. 5L 93 M10x1. 5-100L - UNSTI=5e : :
LSS S P2 | 4.7 | 5.4 MOx1.5-150L I L7 UNG1/420 C3 I A IS
M4. 0x0. 35 P 4' 7 5- 4 M10x1. 5-AL 1B | 9.3 ] 10 P3 | 4.7 |57
M4. 0x0. 5 P34 7|54 M10x1. 5=HT coouss P2 | 9.6 | 11 UNG1 /420 P4 | 4.7 57
Pa | 47|54 MO S oL 1] uNe1/4-20-100L |y | 0 S
' o M1x0.5 : :
P2|5.7]67 UNC1/4-20-AL
M4. 0x0. 5La7?rs?m M11x0. 75 P2 11 13.1 NC1,/4-20-HT B 5.4 6.7
Miix1 0 P2 10.4]12.6 3.‘.'&./4 22L~ srean | P2 | 5.7 | 6.9

Ter ST

M11x1.5
SUNHIAATHIT, SHA NI YLAF HI DNSHI

AA A gl USD sTaT dACT AT | http://www.mzg.tw


http://www.mzg.tw

833U/ H{HATSTS

Hand Tap/Circular Die

T geIearazdy e e TIY-ZT TSI T Y HAT T3 qisxaRxFTE | Extornal
HT Straight Wire Tap (/&ta 3erer) : AR-D Adjustable Circular Die (/&fa 3erer) Diameter
UNFO-80 P1 4.3 UNFO-80 20 .9
e UNC1-64 P1 4.3 UNC1-64 20 10. 4
UNF1-72 P1 5.0 UNF1-72 20 11.9
UNC2-56 P1 4.3 UNC2-56 20 10. 4
UNF2-64 P1 5.0 1 UNC3-48 20 10. 4
e UNC3-48 P1 4.3 v il UNF3-56 20 1.9
UNF3-56 P1 5.0 - TTe  UNC4-40 20 10. 4
UNC4-40 P2 4.0 UNF4-48 20 11.9
iz xgfaxFars P3 4.0 iz xgfaxFar$ External UNC5-40 20 10.4
UNC5-40 P2 4.0 UNF6-40 20 11.9
M1. 0x0. 25 P1 4.3 NFB-44 P2 47 M.0x0.25 20 3.1 NG8-32 2 10,4
M1. 2x0. 25 P1 4.3 = M1. 2x0. 25 20 13.1 g
e o - S UNC632 P2 4,017 b 2 . UNFB=36 20 11.9
M1.7x0. 35 P1 2.3 o 40 Wilsx0.3 20 | 131 UNG10-24 20| 10.4
o L0 : UNF6-40 P2 4.7 - O : UNF10-32 20 1.9
M1. 8x0. 35 P1 43 “UNc8=32 P2 10 M1.6x0.35 20 131 UNG12-24 20 10,4
M2. 0x0. 25 P 4.7 : M1. 7x0. 35 20 13.1 g i
M2. 0x0. 4 P2 4.0 o 49 Wilsx0.35 20 1301, 30 o
2 W, o S _unre-3s P2 B e - o— UNC1/4-20 20 10.4
P} L, UNcto-24 P2 4.0 NS o o4 UNF1/4-28 20 11.9
— = S UNF10-32 P2 4.71 . ) o UNs1/4-32 20 1.9
R o S UNci2-24 P2 40 e = — UNEF1/4-36 20 1.9
R 5 T UNF12-28 P2 4.7 M2.2x0.23 o o4 UNcs/16-18 25 1.9
R o 4o UNe1/4-20 P2 2.0 W24 0 i UNF5/16-24 25 13.1
oS0 3 UNF1/4-28 P2 4.7 X : UNC3/8-16 25 11.9
M2. 5x0. 35 P1 47 UNF1/4-32 P2 47 M2.5x0.35 20| 1.9 UNF3/8-24 25 | 131
M2. 5x0. 45 P2 40" "UNC5/16-18 P3 53 M2.5x0.45 20| 104 gNG7/16-14 25 | 11.9
P3 4.0 _ : M2. 5x0. 451 = 20 11.9 :
o 4o UNF5/16-24 P3 6.1 et seer 0 o UNF7/16-20 25 13.1
: UNEF5/16-32 P3 6.7  M2.6x0.35 : UNC1/2-12 25 11.9
M2. 6x0. 35 P2 47 TUNC3/8-16 P3 69  M2.6x0.45 20 | 104 gNFq/2-20 25 | 131
M2. 6x0. 45 P2 4.0 UNF3/8-24 P3 8 1 M3. 0x0. 35 20 1.9
ol 3o uners/s32 P3| 81  M3.0x0.5 200 )s wmea 20 | 10.4
W3 0035 P2 S UNC7/16-14 P3 9.3 M3 0x0 Sleasem = o Ws/32-32 20 10. 4
M3 0x0. 5 P2 33 UNF7/16-20 P3 10.4  M4.0x0.35 % 19 W3/16-24 20 10. 4
- OXY P3 33 UNC1/2-13 P3 9.3 M4.0x0. 5 % 104 W1/4-20 20 10. 4
o S5 UNF1/2-20 P3 10.4 m. 8xg. ;L o e wggb;és gg HZ
. X i serer . =
- 2X0- 35 P2 | %% Tube Tapping M4. 5x0. 5 2001100 w1614 2% | 1.9
- OXU- P3 33  PS1/16-28cenen 6.7  M45x0-75 N o Wi/2-12 25 1.9
o1 33 PS1/8-27smwmeess 2- ; mg gig- 25 % | 119
MSTE | b |1 . | 2c Exes | &
. UXU. . NESY - .
M4, 0x0. 7 P2 | 3.3  PS1/4-18mtwress 7.9 et 20 1179
o 7.9 M6.0x0.5
P3 3.3 PS1/4-19 omaia 13.1 M6, 0x0. 75 20 11.9
P4 3.3 PS3/8-18 wmmeters 131 M6 ox1. 0 20 10. 4
M4. 0x0. 75 P2 4.7 PS3/8-19ceme 7 MOt Bl 20 11.9
M4. 5x0. 5 P2 4.7 PS1/2-14 somstss 171 W7.0x0.5 25 13.1
M4. 5x0. 75 P2 3.6 PS1/2-14 s 24 M7 0x0.75 25 13.1
M5. 0x0. 35 P2 4.7 PS3/4-14 comva 38.1 M7—Ox1—0 25 11.9
M5. 0x0. 5 P2 4.7 PSS —— 38 1 M8, 0x0. 5 25 13.1
M5. 0x0. 8 P2 3.6 PS4—14g—p e M8. OxO‘ 75 25 13.1
% N B | iy
. PT1/16-28 wrrratss 6.7 M8. Ox1. 25 .
6. 0x0. 35 P21 53 PT1/8-28ucemeens 8.6 MBOXt2karsr— 2o
Me. 0x0. 75 P2 47 | PT1/419 e 146 M9.0x0.5 %g 13.1
M6, Ox1. 0 P2 | 3.6 | PI3/8M9mmenm 185 M9.0x0.75 25 | 131
: . p3 3: 6 PT1/2-14 srmratse 25.0 M9. 0x1. 0 25 11: 9
P4 36 PT3/4-14 srrvatss 41.9 Mo Oxt25 25 131
M7 0X05 Pz () 1 PTT=TT1T srrrat== M10X05 25 13 1
M7. 0x0. 75 P2 6.1 S' Z mgx?' 35 25 13. 1
M7.0x1.0 P2 5.3 NPT1/8-27 sromsuons 14. 6 M10§1- o5 25 13.1
M8. 0x0. 35 P2 7.4 NPT1/4-18 st ciee 18.3 M10X1:5 25 11.9
W8. 0x0. 5 P21 61 NPT3/8-18 oo 250 Ntoxt—Stars 25 1 131
NG On1 0 by | 1 NPTI/2ldnlgi 4.9 it R IES
M8, 0x1. 25 P2 53 |Gl M12x0.5 25 | 131
o P3 T M12x0. 75 25 13.1
M9. 0x0. 5 P3 8.1 M12x1.0 25 13.1
M9. 0x0. 75 P3 8.1 M12x1. 25 25 13.1
M9. 0x1. 0 P3 8.1 M12x1. 5 25 11.9
M9. 0x1. 25 P3 6.9 M12x1. 75 25 13. 1
M10x0. 5 P3 8.1 MTZXT." 7oleazem 38 25.0
M10x0. 75 P3 8.1 M14x1.0 38 25.0
M10x1. 0 P3 8.1 M14x1.25 38 25.0
M10x1. 25 P3 8.1 M14x1.5 38 23.6
M10x1.5 P3 6.9 MT4x2. 0 38 25.0
P4 6.9 M16x1. 0 38 25.0
MT1x0.5 P3 10. 4 M16x1. 25 38 25.0
M11x0. 75 P3 10. 4 M16x1.5 38 23.6
M11x1.0 P3 10. 4 M16x2. 0
M11x1.5 P3 9.3
M12x0. 5 P3 0.4
M12x0. 75 P3 10. 4
M12x1. 0 P3 10.4
M12x1. 25 P3 10.4
M12x1. 5 P3 10. 4
M12x1. 75 P3 9.3
P4 9.3
M14x2. 0 P3 10.4
M16x2. 0 P3 13.1
SUNHIAATHIC, CHA AT YLAF I BISH
AT A GG USD st AT HAT | http://www.mzg.tw n

A I 1 A A 1 raAriraiririri1rarar1 rair i1 rarararar 1 r ararari1rariairiri1 ava/Mm-=ntAnnl ~n


http://www.mzg.tw

Ooodooo ogoodd
Turning Inserts

3q9rg afav girfyear R 3q91g afaT gfrfyear
CCGT060202 CBN1 0.2 6.9
CCGT060204 GBN1 0.4 | 69 6 CNMG120402 CBN1 0.2 | 6.9
CCGT060208 GCBN1 0.8 6.9 CNMG120404 CBN1 0.4 6.9
CCGTO9T302 CBN1 0.2 | 69 h CNMG120408 CBN1 0.8 | 6.9
CCGT09T304 CBN1 0.4 6.9
CCGT09T308 CBN1 0.8 6.9 TR
CCGT120402 CBN1 0.2 6.9 e —
S a1 IR M CCGT120404 CBN1 0.4 6.9 !
AT CCGT120408 CBN1 0.8 6.9 Q CNMG120402 PCD1 0.2 | 6.9
CNMG120404 PCD1 0.4 | 6.9
(CGT060202 PCD1 0.2 | 6.9 CNNG120408 PCDT 0.8 | 6.9
| CCGT060204 PCD1 0.4 6.9 3 »
- CCGT09T302 PCD1 0.2 6.9 Pl AT A
CCGT09T304 PCD1 0.4 6.9 HNEEHEAE
CCGT09T308 PCD1 0.8 6.9
CCGT120402 PCD1 0.2 6.9 CNMG120404-TM ZG25 0.4 | 2.6
CCGT120404 PCD1 0.4 6.9 CNMG120408-TM ZC25 0.8 | 2.6
CCGT120408 PCD1 0.8 6.9 CNMG120412-TM ZC25 1.2 | 2.6
CCGT060202-AL ZK01 0.2 1.1
CCGT060204-AL ZKO1 0.4 1.1
CCGT060208-AL ZKO1 0.8 1.1
CCGT09T302-AL ZK01 0.2 1.4 CNMG120408R-X ZG25 0.8 2.6
CCGT09T304-AL ZKO1 0.4 1.4 CNMG120408L-X ZC25 0.8 2.6
CCGT09T308-AL ZK01 0.8 1.4
CCGT120402-AL ZKO1 0.2 2.3 R-X L-X
sfacsicraasafamaaan | CCGT120404-AL ZKO1 0.4 2.3 kCGRIRSE Gk
weftAf FATTa T CCGT120408-AL ZKO1 0.8 2.3
CNMG120404-TM ZC35 0.4 | 2.6
| CCMT060204 ZM30 0.4 1.6 CNMG120408-TM ZC35 0.8 | 2.6
] CCMT060208 ZM30 0.8 1.6
J CCMT09T304 ZM30 0.4 1.7 T - .
CCMT09T308 ZM30 0.8 1.7 o
CCMT120404 ZM30 0.4 2.4 =y
CCMT120408 ZM30 0.8 2.4 [~
AT AT TIHE G FHIOT } - (y\ CNMG120404-HA ZKO1 0.4 2.0
o CNMG120408-HA ZKO1 0.8 2.0
)‘;/ a?“rqmw,{qﬂ
£ \\ o e =3
J v CCMT060204-FG ZN60 | 0.4 1.7
{ S CCMT09T304-FG ZN60 | 0.4 1.9
_ CCMTO9T308-FG ZN60O 0.8 1.9 CNMA120404 ZK50 0.4 | 2.6
CNMA120408 ZK50 0.8 | 2.6
Cermet FETARATEHTENT
AT [EIhFAEAI A e AT
CCMT060202-HQ ZN60 | 0.2 1.7
CCMT060204-HQ ZN6O | 0.4 | 1.7 8“”8]%8283 %ﬁgg 8; g-g
CCMT09T302-HQ ZN60 | 0.2 1.9 : :
CCMT09T304-HQ ZN6O | 0.4 1.9
FTHET JAIA BT AGTA Ga A AMATIT
CNMG120408-HS ZM30 0.8 | 2.6
CCMT060204-MT ZN60 | 0.4 1.7 N —
CCMTO9T304-MT ZN60 0.8 1.9 [T AR AT T
_ CCMTO9T308-MT ZN60 | 0.8 1.9
Ce'ms"”“f“‘bm" AT CNMG120404-MA ZM30 0.4 | 2.6
CIEIEECIECLE CNMG120408-MA ZM30 0.8 | 2.6
: g ; CCGT060202EL-U ZN9O | 0.2 4.0
i CCGT060204EL-U ZN90 | 0.4 | 4.0 SRS e o N, 4
i CCGTO9T302EL-U ZN9O | 0.2 4.0 sl et C os | e
CCGTO9T304EL-U ZN90 | 0.4 | 4.0 BLIA IS AR : :
aRTAT wIsa g
I FASTEIAAE
CNMG120404-HQ ZN60 0.4 2.3
e CNMG120408-HQ ZN60 0.8 2.3
CCGT060202ER-U ZN90O | 0.2 4.0
CCGT060204ER-U ZN9O | 0.4 | 4.0
PR CCGTO9T302ER-U ZN9O | 0.2 4.0
 — CCGTO9T304ER-U ZN90 | 0.4 | 4.0 CNMG120404-TS ZN60 0.4 2.3
CNMG120408-TS ZN60 0.8 2.3
aRTAT wIga e
st srrmT A Cermet AT AL 9T

HTIT STaor i o

SUNHRTAATRICT, SHY HTLAFH HI BISH

http:// www.mzg.tw

- NAA g USD STl AT HAT |

FaAr A A 3 rarar a1 nr ar ar ar arar a1 rariar1 rar ararararar a1 rararara1rariariri1 avvaNm=ntAannl ~rn


http://www.mzg.tw

Turning Inserts

Turning Inserts

3q91g Ifa T girfyear UsD 3qqrg afav girfyear

DCGT070202 CBN1 e
DCGT070204 CBN1
Q DNMA150404 CBN1
DNMA150408 CBN1

py)

DCGT070208 CBN1
DCGT11T301 CBN1
DCGT11T302 CBN1
DCGT11T304 CBN1
DCGT11T308 CBN1
DCGW11T308 CBN1

DCGT070201 PCD1
DCGT070202 PCD1
DCGT070204 PCD1
DCGT070208 PCD1
DCGT11T301 PCD1
DCGT11T302 PCD1
DCGT11T304 PCD1
DCGT11T308 PCD1

o8
o A
o
©

WO RAN—=0IMN

DNMA150404 PCD1 0.4 | 6.9
DNMA150408 PCD1 0.8 |6

POLOOOORe PO eo

OAN—=00AN—
e A SN Al e e e A AR SN AN SR N R o

VOV OVOVOVOVOVOOV || VOVOVOVOOVOVOO

DNMG150404-HA ZKO1
DNMG150408-HA ZKO1
DNMG150604-HA ZKO1
DNMG150608-HA ZKO1

DCGT070202-AL ZKO1
DCGT070204-AL ZKO1
DCGT11T302-AL ZKO1
DCGT11T304-AL ZKO1
DCGT11T308-AL ZKO1

coow
[« W NN
EalE
00 wWw

DO OOoo
©ANAN
ERENENEREN
ocoo AN

DNMG110404-FG ZN60 0.4 |26

DCMT070204-MV ZM30 0.4 1.6
DCMT11T304-MV ZM30 0 .7

Cermet A IH 3T S sHITT
Aot AT Er@aE g

DNMG150404-HQ ZN60 0.4
DNMG150408-HQ ZN60 0.8

b
oo

DCMT11T304 ZM30
DCMT11T308 ZM30

oo

Cermet FeqAHEFZETT T
E: | I A I

DCMT070204-FG ZN6O DNMG150404L-VF ZN60 | 0.4 | 2.6

0.4 7
DCMT11T302-FA ZN60 0.2 1.9
DCMT11T304-FG ZN60 0.4 9

Cermet AT 3T Q& sHITT
I HTTIETHE

oy
v il
@’ / DCMT070202-HQ ZN60

DNMG150404R-VF ZN60 | 0.4 | 2.6

/e DCMT070204-HQa ZN6O 8#21 H Cermet Medium And R ugn Stee
fen ™ DCMT11T302-HQ ZN60 0.2 1.9 I HTSTAHE
DCMT11T304-HQ ZN60 | 0.4 | 1.9
Cermet FeTaiTEESTTT
AETHETT A
‘ . DCGT11T302FL-U ZN9O | 0.2 | 4.0
— DCGT11T304FL-U ZN90 | 0.4 | 4.0
TR AT
oA I A e e
DCGT11T302FR-U ZN90 | 0.2 | 4.0
DCGT11T304FR-U ZN90 | 0.4 | 4.0

AT FACTEAHA 6

SUNHIAAAT HIT, SHAMNTYLAF I BITH

AT A g USD STl d AT HA T | http://www.mzg.tw

—_r—r— o~~~ —~N—NT—N——™ N — T~ ——— ———— [~ — — ey " a


http://www.mzg.tw

Turning Inserts
Turning Inserts

3q9rg afas

FIATANET AT FST
|rATN @a A FArafTw

gfrfyedar

TBGT060102 CBN1
TCGT110302 CBN1
TCGT16T302 CBN1
TCGT16T304 CBN1
TCGT16T308 CBN1
TPGT080202 CBN1
TPGT080204 CBN1
TPGT090202 CBN1
TPGT090204 CBN1
TPGT110202 CBN1
TPGT110204 CBN1
TPGT110302 CBN1
TPGT110304 CBN1
TPGT110308 CBN1

Py

TBGT060102 PCD1
TCGT110202 PCD1
TCGT110204 PCD1
TCGT110304 PCD1
TCGT16T302 PCD1
TCGT16T304 PCD1
TCGT16T308 PCD1
TPGT080202 PCD1
TPGT080204 PCD1
TPGT090202 PCD1
TPGT090204 PCD1
TPGT110204 PCD1

COOOR/LLOLOLCROL (COTOO0OOCOPROCC
ANBAANANORANARANN|[OANANANBNOANNN

SOOI OOOO
0 "0 "0 ~0 0 *0 0 0 ~0 0 ~0 0 0 O [ 0 0 0 ~0 0 0 0 0 0 0 0 0 0 0

FIIT T CTLAATIA ALTH

3qqrg afav girfyear
h SNMG120404 CBN1 0.4 6.9
SNMG120408 CBN1 0.8 6.9
F AT AT AL H ST
qrEAN @dH7 FMNTTIH
"
SNMG120404 PCD1 0.4 6.9
- SNMG120408 PCD1 0.8 6.9
FIAT I LT | IH
AMATH FATIT FHI
4 SNMG120408L-S ZC25 0.8 2.6
AT R IGE AT
n SNMG120408L-S ZC35 0.8 2.6
EREFAT H IH g T
[ | SNMG120408R-S ZG25 | 0.8 | 2.6
n SNMG120408R-S ZC35 0.8 2.6
ERE AT FIIG qAA I
SNMG120408-TM ZC25 0.8 2.6
SNMG120404-HA ZKO1 0.4 2.0
SNMG120408-HA ZKO1 0.8 2.0
HIIT jrr% T LATATAA AYTH
B s R s
SNMG120408-MA ZM30 0.8 2.6
SNMG120404-MS ZM30 0.4 2.6
FAFT NI (IHFHIOT
Vis
[ O SNMG120404-HQ ZN60 0.4 2.3
™~ SNMG120404-HQ ZN60 0.8 2.3
AT T (IHHFHIOT
SCMTO09T304-MT ZN60 0.4 1.9
’ |
Cermet AGIH 3T 3TH sHITA
st ws S
SCGT09T304-AL ZKO1 0.4 1.4
SCGTO9T308-AL ZKO1 0.8 1.4
i SCGT120404-AL ZKO1 0.4 1.9
4 SCGT120408-AL ZKO1 0.8 1.9

FTIT M T gAATAHT TPGT110302 PCD1
Feftaf gATTT FE TPGT110304 PCD1
TBGT060102L ZN90 0.2 3.4
TBGT060104L ZN90 0.4 3.4
) TCGT110202L ZN90O 0.2 3.4
TCGT110204L ZN90O 0.4 3.4
) O TPGH080202L ZN90 0.2 3.4
j b TPGH080204L ZN90 0.4 3.4
—— TPGH090202L ZN90 0.2 | 3.4
TPGH090204L ZN90 0.4 3.4
TPGH110302L ZN90 0.2 3.4
TPGH110304L ZN90 0.4 3.4
Cermet #YTH 3T B gFITT
HIM JTSTETH S
AN TBGT060102L-W ZN90 0.2 3.4
\ TBGT060104L-W ZN90 0.4 3.4
/ TPGT080202L-W ZN90 0.2 3.4
: TPGT080204L-W ZN90 0.4 3.4
é p— TPGT090202L-W ZN90 0.2 3.4
TPGT090204L-W ZN90 0.4 3.4
TPGT110302L-W ZN90 0.2 3.4
Cormet AU TAATATHIG | TPGT110304L-W ZN9O | 0.4 | 3.4
qTaN FIBTTAA
TCMT090202-HQ ZN60 0.2 1.7
) TCMT090204-HQ ZN60 0.4 1.7
y_ TCMT110202-HQ ZN60 0.2 1.7
TCMT110204-HQ ZN60 0.4 1.7
:ﬁ.\ TCMT110208-HQ ZN60 0.8 1.7
Tl o TCMT16T304-HQ ZN60 0.4 2.4
 a———
Cermet He T 31T 81 s TS TPMT110304-HQ ZN60 0.4 .7
s s oTEand TPMT110308-HQ ZN60 0.8 .7
TCGT090202-AL ZKO1 0.2 1.4
£ TCGT090204-AL ZKO1 0.4 1.4
i TCGT110202-AL ZKO1 0.2 1.4
r’) . TCGT110204-AL ZKO1 0.4 1.4
= ) TCGT110302-AL ZKO1 0.2 1.6
I TCGT110304-AL ZKO1 0.4 1.6
— TCGT16T302-AL ZKO1 | 0.2 | 1.7
TCGT16T304-AL ZKO1 0.4 WA
TCGT16T308-AL ZKO1 0.8 1.7
FO AR v gAARIA TG IA
AMATT FATTT HFT
TCMT110204 ZM30 0.4 1.6
TCMT110208 ZM30 0.8 1.6
TCMT16T304 ZM30 0.4 2.3
TCMT16T308 ZM30 0.8 2.3

AT AETE R8¢ nxvl

T Rr g &l

FUNHTAATHICT, SHI AT LAFH FI BISH

A1 I 1 A Arar 1 rarir 1 raarar iraarara1riariair1 raaranr arararar a1 rararara1raririri1 avaAMm=ntan!l ~n

AT A GG USD st e T HeAT |

http://www.mzg.tw


http://www.mzg.tw

Turning Inserts
Turning Inserts

EGEICCIGES girfyear 3qqrg afav girfyear
® \ TNMG160404L-C ZN60 | O. 1.9
TNMA160402 CBN1 0.2 | 6.9 @ TNMG160408L—C ZN60 | 0.8 | 1.9
TNMA160404 CBN1 0.4 | 6.9 e
TNMA160408 CBN1 0.8 | 6.9 TNMG160404R-C ZN60 | 0.4 | 1.9
PRI o oRCenlsC, | TNMGT60408R-C ZN6O | 0.8 | 1.9
HiHdedodHR 0" T s maT
Q TNMG160404L-S ZN60 0.4 1.9
TNMA160402 PCD1 0.2 | 6.9 TNMG160408L-S ZN60 | 0.8 | 1.9
TNMA160404 PCD1 0.4 | 6.9
TNMA160408 PCD1 0.8 | 6.9 TNMG160404R-S ZN60 | 0.4 | 1.9
e e RS e loS,, | TNMGTGO408R-S ZN6O | 0.8 | 1.9
AN T g N N
: s
A ] 7 \

7% : TNMG160404-CQ 2C25 | 0.4 | 2.3 N 4 TNMG160404L-VF ZN60 | 0.4 | 1.9
/'_,H_f._a @ | ThwG160408-CQ ZC25 | 0.8 | 2.3 g £ TNMG160408L-VF ZN60 | 0.8 | 1.9
NN WS 1\ye160404-H0 2625 | 0.4 | 2.3 ﬁ h TNMG160404R-VF ZN60 | 0.4 | 1.9

co HQ TNMG160408-HQ 225 | 0.8 | 2.3 R-VF L-VF TNMG160408R-VF ZN60 | 0.8 | 1.9
Cermet AT IH 3T SYH sHITT
FAAFAGIA A @ Foh=fr - .
(| TNMG160404L-S zC25 | 0.4 | 2.3 TNMG160404L—FS ZN60 | 0.4 | 1.9
@ | TNMG160408L-S ZC25 | 0.8 | 2.3 TNMG160408L—FS ZN60 | 0.8 | 1.9
BT SRR TNMG160404R-S ZC25 | 0.4 | 2.3 TNMG160404R—FS ZN60 | 0.4 | 1.9
R-S L-S TNMG160408R-S 2C25 | 0.8 | 2.3 R-FS L-FS TNMG160408R-FS ZN60 | 0.8 | 1.9
Cermet #Y ITH 3T B gHITT
AT R IG IO I g _—
TNMG160404L—S ZC35 | 0.4 | 2.3 A ‘
TNMG160408L-S 2€35 | 0.8 | 2.3 2 TNMG160404-HQ ZN6O | 0.4 | 1.9
TNMG160404R-S 2635 | 0.4 | 2.3 e 08 | 1.9
R-5 L-8 TNMG160408R-S 2C35 | 0.8 | 2.3 Cormet eavaSe B e
FITEAAA FIm TR TN s
A
w04 | 2.3 - TNMG160404-MT ZN6O | 0.4 | 1.9
o TNMG160408-TM 2625 | 0.8 | 2.3 TNMG160408-MT ZN60 | 0.8 | 1.9
S 2 TNMG160412-TM 2C25 | 1.2 | 2.3 : ;
Cermnet MTFH T ATBTFaLA ITe
LTI ATTA G A <1 AT T AEELEam S
TNMG160404-TM 2C35 | 0.4 | 2.3 TNMG160404-TS ZN6O | 0.4 | 1.9
TNMG160408-TM 2C35 | 0.8 | 2.3 W it TNMG160408-TS ZN6O | 0.8 | 1.9
FETRTATA Cermel FETAATEHEEIH qTe
s R ey I TSI E T
TNMG160402-HA ZKO1 0.2 | 1.9
TNMG160404-HA ZKO1 0.4 | 1.9
TNMG160408—-HA ZKO1 0.8 | 1.9
FrostrerdETRTTy g7
Fr AN T 00 = il
TNMA160404 ZK50 0.4 | 2.3
TNMA160408 ZK50 0.8 | 2.3
TNA g | TNMGTé0404 ZKSO 0.4 ) 2.3 - .| TNGG160402L-P ZN9O | 0.2 | 3.6
TNMG160408 ZK50 0.8 | 2.3 A N
Wedium Rosgh e () ® TNGG160404L—P ZN9O | 0.4 | 3.6
FrAENFTCast Iren RawfatCast (ron =
o A a TNGG160402R-P ZN90 | 0.2 | 3.6
| TNMG160404-HA ZM30 | 0.4 | 2.3 RP | TNGG160404R-P 7N90 | 0.4 | 36
TNMG160408-HA ZM30 | 0.8 | 2.3 RS-
TNMG160404-MA ZM30 | 0.4 | 2.3 s ST
HA WA TNMG160408-MA ZM30 | 0.8 | 2.3
AAAARARETH TSI
TNMG160404-MQ ZM30 | 0.4 | 2.3
> _ TNMG160408-MQ ZM30 | 0.8 | 2.3
/A e TNGG160402L-S ZN90 | 0.2 | 3.6
e TR o et @ e .| TNGG160404L-S ZN9O | 0.4 | 3.6
7 H TNGG160402R-S ZN9O | 0.2 | 3.6
R-S - TNGG160404R-S ZN9O | 0.4 | 3.6
TNMG160404-MS ZM30 0.4 2.3 FRTAT BT HET
TNMG160408-MS ZM30 0.8 2.3 ST ST AR E
HCAA G GTTARCE a oI

SUURTHAAT HIT, CHAFNTYLAF FHT BISHI

AT A GG USD st AT HAT | http://www.mzg.tw

A I 1 A A 1 raAriraiririri1rarar1 rair i1 rarararar 1 r ararari1rariairiri1 ava/Mm-=ntAnnl ~n


http://www.mzg.tw

Turning Inserts

Turning Inserts

3q9rg afav gfafgear R USD 3q9rg afas gfarfyear R USD

VBMT110302 CBN1 0.2 | 6.9 )
VBMT110304 CBN1 0.4 | 6.9 -
VBMT 160402 CBN1 0.2 | 6.9 - VNMG160404 CBN1 0.4 | 6.9
8 VBMT160404 CBN1 0.4 | 6.9 VNMG160408 CBN1 0.8 | 6.9
. VBMT160408 CBN1 0.8 | 6.9 1\ .
VCGT110302 CBN1 0.2 | 6.9 MRS
VCGT110304 CBN1 0.4 | 6.9
VCGT110308 CBN1 0.8 | 6.9
VCGT160404 CBN1 0.4 | 6.9 VNMG160404 PCD1 0.4 | 69
e A e VCGT160408 CBN1 0.8 | 6.9 VNMG160408 PCD1 0.8 | 69
i VCGT160412 CBN1 1.2 | 6.9
VBGT110301 PCD1 0.1 | 6.9
xggmgggﬁ Egg} 8‘21 2-3 VNMG160404-TM ZC25 | 0.4 | 2.7
i os | o9 VNMG160408-TM ZC25 | 0.8 | 2.7
VBGT160402 PCD1 0.2 | 6.9
VBGT160404 PCD1 0.4 | 6.9
VBGT160408 PCD1 0.8 | 6.9
. VCGT110301 PCD1 0.1 | 6.9
VCGT110304 PCD1 0.4 6.9 VNMG160408-TM ZC35 0.8 2.7
VCGT110308 PCD1 0.8 | 6.9
VCGT160401 PCD1 0.1 | 6.9
VCGT160402 PCD1 0.2 | 6.9
VCGT160404 PCD1 0.4 | 6.9
VCGT160408 PCD1 0.8 | 6.9
FraT T T AT VCGT160412 PCD1 1.2 | 6.9 VNMG160404-AL ZKO1 0.4 | 2.3
NP AT VNMG160408-AL ZKO1 0.8 | 2.3
VBGT110302-AL ZKO1 0.2 | 1.1
VBGT110304-AL ZKO1 0.4 | 1.1
VBGT160402-AL ZKO1 0.2 | 2.0
VBGT160404-AL ZKO1 0.4 | 2.0
VBGT160408—-AL ZKO01 0.8 2.0 VNMG160404 ZM30 0.4 2.7
VNMG160408 ZM30 0.8 | 2.7
VCGT110302-AL ZKO1 0.2 | 1.1
VCGT110304-AL ZKO1 0.4 | 1.1
VCGT160402-AL ZKO1 0.2 | 2.0
VCGT160404-AL ZKO1 0.4 | 2.0
VCGT160408-AL ZKO1 0.8 | 2.0
VNMG160404-HS ZM30 | 0.4 | 2.7
VNMG160408-HS ZM30 | 0.8 | 2.7
VBMT160404-MV ZM30 | 0.4 | 3.7
VBMT160408-MV ZM30 | 0.8 | 3.7
VNMG160404-MT ZN60 | 0.4 | 2.3
VNMG160408-MT ZN6O | 0.8 | 2.3
VBMT110304-HQ ZN60 0.4 2.7 Cermel A AR G
VBMT160404-HQ ZN60 | 0.4 | 3.4 ST
VBMT160404-MT ZN60 | 0.4 | 3.6
Cermet #Y TH 3T BYH sHITT
HIM FISTTIHE
VBGT110302L ZN90 0.2 | 47
VBGT110304L ZN90 0.4 | 4.7
VBGT110302R-Y ZN90 | 0.2 | 4.7
VBGT110304R-Y ZN9O | 0.4 | 4.7

SUNRTAATRICT, SHY HTLAFH HI BISH
AT A g USD STl A A A AT | http://www.mzg.tw

1 1 F A A A1y rarar i1 r ar irarairaira1ririri1 rir A r arararar 1 riararaira1rariariri1 avaAMm=ntanl ~rn


http://www.mzg.tw

Turning Inserts
Turning Inserts

3q9rg afay afrfYedr 3q9rg afa afrf¥edr

Y i s
@ OB oa oo dger &7 N WNMGOBO404—MA ZM30 | 0.4 | 2.6
‘ ' ' ey WNMGOBO408-MA ZM30 | 0.8 | 2.6
WNMGO80412 CBN1 12 | 6.9 ——
wemsEiET o
W‘T;N@\Wd‘_?mma_c\( AN AT TIHGHIOT
B0 o Dy | &3 WNMGOB0404-MQ ZM30 | 0.4 | 2.6
: : WNMGO80408-MQ ZM30 | 0.8 | 2.6
WNMA080408 PCD1 0.8 | 6.9
AT T
ALy AT AT TTHAHTOT
T
‘ WNMG080404-CQ 2C25 | 0.4 | 2.6 _
/ \\\ WNMGOB0408-CQ 2C25 | 0.8 | 2.6 NIOB0d0a s 20 | 0.4 2.0
% WNMG080412-CQ 2€25 | 1.2 | 2.6 : :
AT FY A TH @A F AT AT TS TIH FHIOT
o
2’7/"‘ NS A,
< > )§ WNMGO80404-HQ 2625 | 0.4 | 2.6 A WNMGO80404-HS ZN6O | 0.4 | 2.3
WNMGO80408-HQ 2€25 | 0.8 | 2.6 g“ WNMG0B0408-HS ZN60 | 0.8 | 2.3
Cermet FFTAFRETHTH qTel
aNAmEgEAgas ghaf PR
2 < B
A 'm WNMGO80404L-S 2€25 | 0.4 | 2.6
-—;Q B3 | 'WNME0BO40BL"S 2625 | 0.8 | 2.6 = X WNMGOBO404-HA ZN6O | 0.4 | 2.3
Smmgeee® WM | yNMG0B0404R-S ZC25 | 0.4 | 2.6 A WNNGOBO408~Ha ZNé0 | 0.8 | 2.3
R-S L-3 WNMGO80408R-S 2C25 | 0.8 | 2.6 comet e
AT I g S
WNMGO80404L-S 2635 | 0.4 | 2.6 / \ WNMGOB0404L-X ZN60 | 0.4 | 2.3
WNMGO80408L-S ZC35 | 0.8 | 2.6 QSS 220 WNMGOBO408L-X ZN6O | 0.8 | 2.3
—— —
WNMGO80404R-S 2635 | 0.4 | 2.6 WNMGOBO404R-X ZN6O | 0.4 | 2.3
WNMGO80408R-S 2€35 | 0.8 | 2.6 WNMGOB0408R-X ZN6O | 0.8 | 2.3
CermetMedlumAnd RoughStee\
sraY M S EgE
WNMGO80404-TM 2C25 | 0.4 | 2.6 -/\, _
INIGOB0408-TH 2625 | 0 5 | 2 ¢ /O INNGOBO404NT ZN60 | 0.4 | 2.3
WNMG080412-TM ZC25 | 1.2 | 2.6 e : :
™ ZC25 TM ZC35 Cermet #YITH 3T 3TH $HITT
AT R AGIA @A A ALMATIT arraY arer o e S
WNMGO80408-CM ZC25 | 0.8 | 2.6 WNMGO80404-TS ZN6O | 0.4 | 2.3
WNMGO80412-CM 2C25 | 1.2 | 2.6 WNMGO80408-TS ZN6O | 0.8 | 2.3
Cermet AYTHA 3T 3 gHITT
HIM FTSTEAH S
WNMGO80402-HA ZKO1 0.2 | 2.3
WNMGO80404-HA ZKO1 0.4 | 2.3
WNMGO80408-HA ZKO1 0.8 | 2.3
FITCITRTH G TG JTH
ol marga =y
WNMGOB0404-HA ZM30 | 0.4 | 2.6
WNMGO80408-HA ZM30 | 0.8 | 2.6
FATT T GIH FHIIT
WNMA0B0404 ZK50 0.4 | 2.6
WNMA080408 ZK50 0.8 | 2.6
FLATATET BT AGTH TG ALLTATIT
WNMGO080404 ZK50 0.4 | 2.6
WNMGO080408 ZK50 0.8 | 2.6
FIHT JIIA ST AGTH G A AT
SUNHIAAT HIT, SR HTYLAF I BITHI
AT A gl USD sTav e HeAT | http://www.mzg.tw -

— — — p— p— e P e p— p— p— e e e e e e e e e e p— g e e e p— p— — > X B .


http://www.mzg.tw

glgeyafaea
Thread Turning Tool

3qurg afaz gy ear 3qurg afav gRIfyear
o 16ER 050180 ZP10 0.50 | 2.0
Machining 16ER 075180 ZP10 0.75 2.0
16ER 10010 ZP10 1.00 2.0 16ER 2TR ZP10 2.0 2.0
16ER 125180 ZP10 1.25 2.0 16ER 3TR ZP10 3.0 2.0
16ER 150180 ZP10 1.50 2.0 N
16ER 175180 ZP10 1.75 2.0 DN 108 £ 2o
16ER 200180 ZP10 2.00 2.0 OooEEE— e e
16ER 250180 ZP10 2.50 2.0
PCD1 o 16ER 300180 ZP10 3.00 2.0
FraT FeeE 16ER 350180 ZP10 3.50 2.0 16IR 2TR ZP10 20 20
FefTAATGHT 16ER A6002P10 0. 5:1. 5 2.0 161R 3TR ZP10 3.0 2.0
16ER AGE0 7P10 0530 | 20 @ aftan: ot
| 16ER G6O ZP10 1530 | 2.0 oooomooee e
- 22ER 350150 ZP10 3.50 5.1
22ER 400150 ZP10 4.00 5.1 General
- 22ER 500150 ZP10 5.00 5.1 Machining 12&5 uw %mg llmhumm %8
60 ° Ffmareir 22ER 6001S0 ZP10 6.00 5.1 Inch14Tooth| .
T G TH G HIOT 22ER N60 ZP10 3.5-5.0 5.1 16ER 19W ZP10 Tinch19700th 2.0
16ER 24W ZP10 11nch24T00ty 2.0
PCD1
e T e 16ER A35.7910 e I
SER2 ) RLLIERLL ORGS ’\ 16ER AG55 PCD1 0.5-3.0| 6.9
525M16 - 9.3 : .5-3. .
SER2020K22 a 9.6 O 16ER AG55 ZP10 0.5-3.0| 2.0
SER2525M22 - 13.1 4 16ER G55 ZP10 1.5-3.0| 2.0
B-SEL SER SER3232P22 - 20.3 22ER N55 ZP10 3.5-5.0| 5.1
B-SEL1212H16 - 9.6 55° 3 aTET
B-SEL1616H16 - 9.6 T G TH FHIOT
' B-SEL2020K16 - 9.6 ZP10
FetumateRmor | BoSEL2525M16 - 13.1 it 06IR AS5 ZP10 0.5-1.25| 4.7
ZP10 06IR A60 ZP10 0.5-1.25 | 4.7 08IR A55 ZP10 0.5-1.5| 4.1
General 08IR 150180 ZP10 1.50 4.1 111R 19W ZP10 Tinoh19Toote| 2. 0
Machining 08IR A40 ZP10 0.5-1.5 | 4.1 16IR 11W ZP10 Tinon1 1700t 2. 0
111R 150180 ZP10 1.5 2.0 16IR 12W ZCO1 Tinoh12Toote| 2. 0
111R 200180 ZP10 2.0 2.0 16IR 14W ZP10 Tinoh14Toot| 2. 0
11I1R A60 ZP10 0.5-1.5 2.0 PCD1 16IR 19W ZP10 Tinch19To0th 2.0
16IR 05010 ZP10 0.50 2.0 Fha iR T FAr 16IR A55 ZP10 0.5-1.5| 2.0
16I1R 075180 ZP10 0.75 2.0 wNaAfT gaT a3, 161R AG55 PCD1 0.5-3.0| 6.9
16IR 100180 ZP10 1. 00 2.0 16IR AG55 ZP10 0.5-3.0| 2.0
.. 16IR 125180 ZP10 1.25 2.0 16IR G55 ZP10 1.5-3.0| 2.0
et she s 16IR 150180 ZP10 1.50 2.0 22IR N55 ZP10 3.5-5.0| 5.1
Bl £ i 16IR 175180 ZP10 1.75 2.0
E 16IR 2001S0 ZP10 2.00 2.0
flollhgeo0d ORI, 290 20 16ER 12UN ZP10 Tinoh1 2700t 2.0
161R 300180 ZP10 3.00 2.0
161R 350150 ZP10 3 50 20 16ER 14UN ZP10 Tinoh14To0te| 2.0
161R A0 ZP10 0515 | 20 16ER 16UN ZP10 Tinoh16Toott| 2.0
161R AG60 PCD1 0530 | 60 16ER 18UN ZP10 Tinoh18Tooty| 2.0
161R AG6O ZP10 0530 | 20 16ER 20UN ZP10 T1noh20To0te| 2. 0
16IR G60 ZP10 1.5-3.0 | 2.0
22IR 350150 ZP10 3.50 5.1
221R 4001S0 ZP10 4.00 5.1 12:5 123“ %E}g llncqinmth g.g
22IR 500180 ZP10 5.00 5.1 inoh 4Toot| 2.
60 ° HrexfF anazfd ag 221R 6001S0 ZP10 6.00 51 16IR 16UN ZP10 Tinch16Tooth 2.0
T T G HTOT 221R N60 ZP10 3.5-5.0 51 16I1R 18UN ZP10 1inch18Tooth 2.0
el 16IR 20UN ZP10 T1nch20Toote| 2. 0
SNROO05K06-A12 - 7.1 e o
AT B i 16ER 11BSPT ZP10 |1 1nenl 1 2.0
SNRO008K08 - 5.1 tnoh 1700t~ 2.
16ER 14BSPT ZP10 Tinoh14Tootr| 2.0
SNROO10K11 - 1 16ER 19BSPT ZP10 Tinch 19700t 2.0
SNROO12M11 p 5 4 16ER 28BSPT ZP10 T1nch28Toote| 2. 0
R s
SNROO13N16 - 6.1 R
SNROO14N16 - 6.7 .
SNR0016Q16 - 6.7
SNROO20R16 - 7.1 16IR 11BSPT ZP10 Tinoh1 1700t 2.0
SNR0025S816 - 1.7 - 16IR 14BSPT ZP10 Tinoh14tooty| 2.0
SNR0032T16 - 20.3 AR | 29
ks IE2
SNROO20R22 - 10.7 SR
SNR0025822 - 14.3
Fogwen SNR0032T22 - 22.9
T E G HT 16ER 11.5NPT ZP10  |1,11. 50| 2.0
16ER 14NPT ZP10 Tinch1dtootn| 2.0
TKFT. . o TIP.. 16ER 18NPT ZP10 Tinoh18Tcotn| 2.0
J o ’ TKFT6001 ZP15 0.5-3.0 59 TAGIET 9T GTaTT
00000 0000 00000000po
e ———— TTP6001 ZP15 0.5-3.0 | 5.9
PP TP 16IR 11.5NPT ZP10  firenl. Srooth 2.0
- 16IR 14NPT ZP10 Tinch1dtooth| 2.0
TTPR12 - 9.3
e 11DR16 - 1.7 e Rt
SITIT I T T HIUT

SUNHIAATHIC, SHA NI YLAF HI BNSHI

AT A e USD STAT A A A HAT |

http://www.mzg.tw


http://www.mzg.tw

BIC AT & Hec-3HH /qIafer/ddeyafar
Cut-Off/Grooving/Back Turning Of Small Parts

3q9rg afag gfafyear Wwidth USD 3q9rg afaz gffyear

T16E100 ZP15 iz TKF12R100-S ZP15
T16E150 ZP15 ) ‘ TKF12R150-S ZP15
T16E160 ZP15 ~ TKF12R200-S ZP15
T16E200 ZP15 g 3 TKF16R100-S ZP15

| \ J TKF16R150-S ZP15
SIEERI AT | TKF16R200-S ZP15

T16E250 ZP15
[Fe-3E gadai

W=
oo ouU1 o
wWwwwwew
[eNeololoNeNe)]

N=N ==
cvwocouo

Width USD

5

ocoounm
o~ OO0 00

T16E300 ZP15
: Taner TKF12R100-S16R ZP15
e et e o e — TKF12R150-S16R ZP15
WIATA T FTHIL FY 37 ATH (T8 FTeT AT TFATE /s TKF1 2R200_S16R ZP15
a “ ‘ TKF16R100-S16R ZP15

‘\t, ) TKF16R150-S16R ZP15

—1ﬂaﬁaaazaﬁmqﬂﬁaﬁ1 TKF16R200-S16R ZP15

SER1616H16 -
SER2020K16 -

N
covnwoouo

oo
OO O~ 0 0 ©

O NN
JRRCHN

SER2525M16 -

T11N100 ZP15 TKFB6001 ZP15

T11N150 ZP15

N ==
oUro
www
[oNeNe]

T16N150 ZP15
T16N160 ZP15
T16N180 ZP15
T16N200 ZP15
T16N230 ZP15
Ad ey gare as7$ 0.5-3 mm T AEIE 1-2.2 m) T16N250 ZP15
%rnr:{u?rwnﬂaﬁY}ﬂir%(ﬁﬁWzrama:m% T1 6N300 ZP15

SNROO10K11 -
SNROO12M11 -

/} T11N200 ZP15
0 T16N100 ZP15

BANNN = = ==
CUWO oo
cocoocococococo

EEIRIEACILE
KTKFSL1010JX12
KTKFSL1212JX12
KTKFSL1212JX16

KTKFSL.

DO WOWLWLW

NN

SNROO13N16 -

1.9
1.9
1.9

SNROO14N16 y-
SNR0016Q16 N
SNROO20R16 -
SNR0025S16 -

KTKFRO810JX12
KTKFR1010JX12
KTKFR1212JX12
KTKFR1616JX12

INooo
LeNNo

CTP10FR ZP15
CTP15FR ZP15
CTP20FR ZP15
CTPA10FR ZP15
CTPA15FR ZP15
CTPA20FR ZP15

KTKFR1010JX16
KTKFR1212JX16
KTKFR1616K16
KTKFR.. KTKFR2020JX16

Ny
cuvwocowuo
[eNFoNFoNINCRNCRN)

oo oY

o000 wvool
\‘bbb B e

CTP10FRN ZP15
CTP15FRN ZP15
CTP20FRN ZP15
CTPA10FRN ZP15
CTPA15FRN ZP15
CTPA20FRN ZP15

FVC1604R150 ZP15
FVC1604R200 ZP15
FVV1604R300 ZP15

N
cuwocowuo
oo
000000

A

vswyayaiTAsir

CTPSL10 -
CTPSL12 Q

-
)

O~

LN =,
cow

NS
wWww

CTPASL10 -
CTPASL12 -
CTPASL16 -

CTPSL
CTPASL.

N
~pmo

~NPPPo | wow

CTPRO8 -
CTPR10 -
CTPR12 -
CTPR16 -
CTPR20 -

-
N

SVQCR2020K16-NJ

-
oo

CTPAR10 -

CTPAR12 3
CTPAR16 =

CTPR/CTPAR. . CTPAR20 -
CTPAR25 -

_\_\
AO000
w~NPPAH

VC1604R250 ZP15
VG1604R300 ZP15

TTB6001 ZP15 - 5.9

uswaaiafr Asfa

W
oo

S
ww

TBPR10 -
TBPR12 o

00
FENN

SGIVFR16Q16
SGIVFR20Q16
TBPAR10 - SGIVFR25R16
TBPAR12 -

TBPAR16 -

000
AN

SGIVFR.

SUNHTAAT HIT, SHA NTYLAF HI BISHI
AT A GG USD ST AT HAT | http://www.mzg.tw

Tr rrTTrTrrT e e e et e e e o~ e



http://www.mzg.tw

I8 & TATHIT Grooving TIATIT STHIIT
External Cylindrical Ir3@far ey e

3qure afay affyear Width USD 3qure afay affyear Width USD

sAd e gare atg1$0.3-3.2mm
TYATI A HTEA TS 0.8-4 mm
ATATAT ATAIAN FITHA &

T FILFA FT

TGF32R050 ZP15
TGF32R080 ZP15
TGF32R100 ZP15
TGF32R110 ZP15
TGF32R120 ZP15
TGF32R125 ZP15
TGF32R130 ZP15
TGF32R140 ZP15
TGF32R150 ZP15
TGF32R160 ZP15
TGF32R170 ZP15
TGF32R180 ZP15
TGF32R190 ZP15
TGF32R200 ZP15
TGF32R210 ZP15
TGF32R220 ZP15
TGF32R230 ZP15
TGF32R250 ZP15
TGF32R260 ZP15
TGF32R270 ZP15
TGF32R280 ZP15
TGF32R290 ZP15
TGF32R300 ZP15

-

WNNNNNNPONNN = =S =

bl % Lt

O\OCD\IO\LDW!\)AOOCD\IO\W#@&I\)—\OWU'!

NINBINRND NN MR N RN R MBI NN NN N
[o Yo NY'e N N Nfe N Yo NYo Yo NY'e N’ N« Ni'e N N N NYe NYe Ni'e Ni'e N NIG N

B
gAd e gaare at31$0.3-3.2mm
TYATIAF HITA TEIE 0.8-4 mm

HTATAT ATAIAN ST THA &
TIHILHAT FT

TGF32L050 ZP15
TGF32L080 ZP15
TGF32L100 ZP15
TGF32L110 ZP15
TGF32L120 ZP15
TGF32L125 ZP15
TGF32L130 ZP15
TGF32L140 ZP15
TGF32L150 ZP15
TGF32L160 ZP15
TGF32L170 ZP15
TGF32L180 ZP15
TGF32L190 ZP15
TGF32L200 ZP15
TGF32L210 ZP15
TGF32L220 ZP15
TGF32L230 ZP15
TGF32L250 ZP15
TGF32L260 ZP15
TGF32L270 ZP15
TGF32L280 ZP15
TGF32L290 ZP15
TGF32L300 ZP15

WNRNRNNRNNNNNNN—E s

NN = Y =)

O\OCO\IO\(ﬂ(AJI\)—\O\OCO\IO\U'!b(AJEN—\OmU'\

MRV NN RPN D DR N ESN
eNFoNI'< NI N N NYe NYe Yo NFoNFe ' NI’ Ni'e Ni'e N NYe NYe o NFe N NI NEe N

KTGFR1010H16 - 6.9 KTGFL1010H16 ~ 6.9
KTGFR1212H16 - 6.9 KTGFL1212H16 - 6.9
KTGFR1616H16 - 6.9 KTGFL1616H16 - 6.9
KTGFR2020K16 - 6.9 KTGFL2020K16 - 6.9
KTGFR2525M16 - 9.0 KTGFL2525M16 - 9.0
KTGFL.
KTGFR1010H16F - 6.7 KTGFL1010H16F - 6.7
KTGFR1212H16F - 6.7 KTGFL1212H16F - 6.7
KTGFR1616H16F - 6.7 KTGFL1616H16F - 6.7
KTGFR2020K16F - 6.7 KTGFL2020K16F = 6.7
KTGFSL1010H16 - 6.9 KTGFSR1010H16 - 6.9
KTGFSL1212H16 5 6.9 KTGFSR1212H16 2 6.9
KTGFSL1616H16 > 6.9 KTGFSR1616H16 v 6.9
KTGFSL2020K16 - 6.9 KTGFSR2020K16 - 6.9
KTGFSL2525M16 - 9.3 KTGFSR2525M16 - 9.3

KTGFSL. .

KTGFSR. .

S. . —-KTGFL.

S16N-KTGFL16
S20Q-KTGFL16
S25R-KTGFL16

9.3
1.0
13.1

S. . -KTGFR.

S16N-KTGFR16
S20Q0-KTGFR16
S25R-KTGFR16

9.3
1.0
13.1

SUNHIAATHIT, CHI NI YLAF I BNSH

AT A gl USD ST A AT H AT |

T e A rr e rr—mrer—e ke LT LTreArer—e e e /k_ere| e

http://www.mzg.tw

Y O


http://www.mzg.tw

JIgT S AATHIY/ SAT G AT eyATAH

External Cylindrical/SAT gl 73T Turning Tool

3qurg afaz

afrfyedr

Width USD

GBA43R250 ZP15 2.5 6.1
GBA43R300 ZP15 3.0 6.1
GBA43R350 ZP15 3.5 6.1
GBA43R400 ZP15 4.0 6.1
GBA43R450 ZP15 4.5 6.1
gad e georre at3T$ 1.0-4.8mm
TIATHAE HTca TEIS 2.0-5.0 mm
HTATAT ATATN HT THA &
TUFIYTATHT
CGBR. .
CGBR1616H43 - 9.3
CGBR2020K43 - 13.1
CGBR2525M43 - 16.4
CGBSL2020K43 - 12.4
CGBSL2525M43 - 19.0
SGBR1616H43 - 6.7
SGBR2020K43 - 6.7
SGBR2525M43 - 9.0
SGBSL. .

SGBSL2020K43 - 10
SGBSL2525M43 - 14.
GBA43L250 ZP15 2.5 6.1
GBA43L300 ZP15 3.0 6.1
GBA43L350 ZP15 3.5 6.1
GBA43L400 ZP15 4.0 6.1
GBA43L450 ZP15 4.5 6.1

/-~ .\:‘
-

saAd e geore 57§ 1.0-4.8mm
TFATIAF Sl TgIE 2.0-5.0 mm
AT FHTA FTEH &
TIMFIALFA FT

CGBL.
CGBL1616H43 = 9.3
CGBL2020K43 - 13.1
CGBL2525M43 - 16.4
CGBSR2020K43 = 12.4
CGBSR2525M43 - 19.0
SGBL1616H43 - 6.7
SGBL2020K43 - 6.7
SGBL2525M43 - 9.0
SGBSR2020K43 - 0.7
SGBSR2525M43 - 14.3

IquTe T gfarfyear Width USD

THATFHITY

GER100-A ZP15
GER150-A ZP15

S1GERO606A-EH
S1GERO808A-EH
TATATFHATT

S|1GERO808A-EHT

RGN
oo

bl
~N~

19.0
1.9

1.9

EEICIESEIG

GER100-B ZP15
GER150-B ZP15
GER200-B ZP15
GER250-B ZP15
GER300-B ZP15

SIGER1010B—EH
SI1GER1210B-EH
THTATFH AT
SIGER1010B—EHT
SIGER1210B—EHT

DN = =
ocuvwouwo

e
NN~

n
SIGER. . TAATFHITY

GER100-C ZP15
GER150-C ZP15
GER200-C ZP15
GER250-C ZP15
GER300-C ZP15
GER350-C ZP15

SI1GER1412C-EH
S1GER1616C-EH
qAATAT FHIATT

SIGER1412C-EH

WWNN ==

oo ouoo

PRARMN
NNNNNN

SIGER. .

AL SHITY

GER100-D ZP15
GER150-D ZP15
GER200-D ZP15
GER250-D ZP15
GER300-D ZP15
GER400-D ZP15

S1GER2020D-EH
SI1GER2525D-EH

AN~

oo Uouo

goao oo
GO

o>
~w

L
—

?‘iﬁhein o1t 01

7GR100 ZP15
7GR150 ZP15
7GR200 ZP15

SNGRO8JO7
SNGR10K07
AT FH AT

SNGR10K07

N — —

[@N¢, Ne)

Ho NI
oo o

.
oo

—

SNGR. . adrarggar

q

8GR200 ZP15
8GR300 ZP15

SNGR10K08
SNGR12M08
T IH AT

SNGR10K08

wnN

oo

~O O

©
oo

arafameftafar

9GR100 ZP15
9GR200 ZP15
9GR250 ZP15
9GR300 ZP15

SNGR12M09
SNGR16Q09
SNGR20R09

whN =

oo o

wwww
cococo

AA
w=22
-0 °

SUNHIAATHIT, SHA NI YLAF HI BSHI

AT A g USD STl dAG A AT

— p— p— p— — p— r— Ty — p— — — p— p— e e e p— p— p— e e p— e P ey p— p— — p— > § . N

http://www.mzg.tw



http://www.mzg.tw

AT/ HET-INF AT A

Grooving/Cut-Off Turning Tool

3qurg afaz gfafear Width USD 3qure afaz gfafear Width USD

FAAT A HTFI MGMN150 CBN1 1.5 | 6.9
R MGMN200 CBN1 2.0 | 6.9 MRMN200-G ZP30 RI.O | 1.6
= MGNMN250 CBN1 2.5 | 6.9 MRMN200-M ZP30 R1.O | 1.6
MGNMN300 CBN1 3.0 | 6.9 MRMN300-M ZP30 R1.5 | 1.6
MGMN400 CBN1 4.0 | 6.9 -G -M MRMN400-M ZP30 R2.0 | 2.0
MGMN500 CBN1 50 | 6.9 T
- ST T
R MGNN150 PCD1 1.5 | 6.9 S———
g MGMN200 PCD1 2.0 6.9 AR @A R AAATN
MGMN250 PCD1 2.5 | 6.9 =
MGMN300 PCD1 3.0 | 6.9 MRMN40O CBN1 R2.0 | 6.9
MGMN40O PCD1 4.0 | 6.9
g B
( || MGGN300 ZP15 3.0 | 1.6 MGEHR1010-1.5 15 |90
?\I/ MGGN400 ZP15 4.0 | 1.7 MGEHR1010—2 20 |90
NN . Ay MGEHR1212-1. 5 1.5 | 9.0
A meAEIR T MGEHR1212-2 2.0 | 9.0
Y MGEHR1212-3 3.0 | 9.0
( || MGGN200-Q ZP15 2.0 | 1.7 MGEHR1616-1. 5 1.5 | 6.7
’\I | MGGN300-Q ZP15 3.0 | 1.7 MGEHR1616-2 2.0 | 6.7
E} Taper MGEHR1616-2. 5 2.5 6.7
sl MGEHR1616-3 3.0 | 6.7
) S\ MGEHR1616~4 4.0 | 6.7
( /| MGGN200 ZKOf 2.0 | 1.7 MGEHR2020-1. 5 1.5 | 6.7
: \ /| MGGN300 ZKO1 3.0 | 1.9 MGEHR2020-2 2.0 | 6.7
o o | HGGNAOO ZKOT 40 | 23 MGEHR2020-2. 5 25 | 67
e MGEHR2020-3 3.0 | 6.7
- ' MGEHR2020~4 4.0 | 67
MGGN150 ZP30 1.5 1.7 MGEHR2020-5 50 6.7
o [ 2.0 | 1.7 MGEHR2020-6 6.0 | 8.3
“‘ “‘ MGGN250 ZP30 2.5 1.7 MGEHR2525-1. 5 1.5 9.0
\\ /s MGGN300 ZP30 3.0 1.7 MGEHR2525-2 2.0 9.0
MGGN400 ZP30 4.0 2.0 MGEHR2525-2. 5 2.5 9.0
afTReAiESET | gwrn MGGN500 ZP30 5.0 2.7 MGEHR2525-3 3.0 9.0
MGGN150R-8 ZP30 1.5 | 1.7 R e O
— MGGN200R-8 ZP30 2.0 | 1.7 \ -
" MGEHR2525-6 6.0 | 10.7
, ( || MGGN250R-8 ZP30 2.5 | 1.9 e 50 | 164
: J /| MGGN300R-8 ZP30 3.0 | 2.0 e 50 | 164
8° Taper i~ | MGGNAOOR-8 ZP30 4.0 | 2.4 : :
; MGGN500R-8 ZP30 5.0 | 3.1 i | MGEHR3232-4 a0 ¥
wesiterET : : SAATHIT AANTTI/ FHe-3TH MGEHR3232-5 5.0 16. 4
MGEHR3232-6 6.0 | 17.9
— mggmggt_g %Egg ) 0 - e gEraT MGEHR1010-1. 5T12 1.5 | 10.7
7B | MeGN250L-8 ZP30 55 | 19 MGEHR1010~2T12 2.0 | 10.7
{ | - N
\ N s 30 | 2@ MGEHR1212-1. 5T12 1.5 | 9.6
8° Taper MM | MGGNAOOL-8 ZP30 20 | 24 MGEHR1212-2T12 2.0 | 9.6
. N ' : MGEHR1616-1. 5T13 1.5 | 9.0
FR MGEHR1616-2T16 2.0 | 9.0
MGEHR1616-2. 5T18 2.5 | 9.0
MGMN150-G ZKO1 1.5 1.7 MGEHR1616-3T12 3.0 9.0
MGMN200-G ZKO1 2.0 | 1.7 MGEHR1616-3T720 3.0 | 9.0
MGMN200-M ZKO1 2.0 1.7 MGEHR1616-4T20 4.0 9.0
e MGMN300-M ZKO1 3.0 1.7 MGEHR2020-1. 5T13 1.5 9.6
s Coppeniri S minum MGMN400-M ZKO1 4.0 | 2.0 mggnsgg%g-g% 8 %8 3-2
COORE — S — MGEHR2020-4T20 40 | 9.6
P ) MGEHR2525-3T20 3.0 | 11.0
MGMN200-G ZN6O 20 | 1.4 SAASECAAIT /SIS | yeFHRY525-4T20 4.0 | 11.0
MGMN300-M ZN60 3.0 1.7
MGMN40O-M ZN60 4.0 2.0 MGEHL1010-1.5 1.5 | 9.0
MGMN500-M ZN60 5.0 2.7 MGEHL1010-2 2.0 | 9.0
Cermet Aprtid st o MGEHL1212-1.5 1.5 | 9.0
B el sL L MGEHL1212-2 2.0 | 9.0
MGMN200-T ZP30 2.0 1.6 MGEHL1616-1.5 1.5 6.7
MGMN300-T ZP30 3.0 1.6 MGEHL1616-2 2.0 6.7
MGMN400-T ZP30 4.0 2.0 MGEHL1616-2. 5 2.5 6.7
MGEHL1616-3 3.0 | 6.7
Hemgwem T MGMN300-H ZP30 3.0 | 1.6 MGEHL1616-4 4.0 | 6.7
oooc L ar s e JOO00 MGEHL2020-1. 5 1.5 | 6.7
MGEHL2020~2 20 | 6.7
MGMN200-G ZP20 2.0 | 1.6 MGEHL2020-2. 5 2.5 | 6.7
MGMN250-G ZP20 2.5 1.6 MGEHL2020-3 3.0 6.7
MGNMN250-M ZP20 2.5 1.6 MGEHL2020-4 4.0 6.7
M MGMN300-M ZP20 3.0 | 1.6 MGEHL2020-5 50 | 6.7
= MGMN400-M ZP20 4.0 | 2.0 MGEHL2525-2 2.0 9.0
B P e MGEHL2525-2. 5 2.5 9.0
MGMN150-G ZP30 1.5 | 1.6 e 3.0 ) 9.0
MGMN200-M ZP30 2.0 | 1.6 N 4.0 19.0
MGNMN200-G ZP30 20 | 1.6 MGEHL 252575 5.0 o2
MGMN250-M ZP30 2.5 | 1.6 ALz zo=0 6.0 10.7
MGMN250-G ZP30 2.5 | 1.6 s Lemene 3.0 | 16.4
MGMN300-M ZP30 3.0 | 1.6 e 4.0 ) 16.4
G M MGMN400-M ZP30 4.0 | 2.0 ALz 50 | 16.4
FOIET AT . . o -
MGMN500-M ZP30 50 | 2.7 F@arE aAat Fwe-aie | MGEHL3232-6 6.0 | 17.9

Exodiiit ke kar: ks

SUNHIAAT HIT, CHAHNTYAAF I BITHI
AN A g USD STAT A AT HAT | http://www.mzg.tw

— — — — — — p— T p— e e — — p— p— e e p— e e e e e e e e e e p— — et P p— P


http://www.mzg.tw

End Face/Inner Hole [@ar eyaATar g
End Face/lnner hole grooving Turning Tool

3q9rg afaz CIRIEGI Width USD 3q9rg afav CIRIEGI Width USD
MGIVR2016-1. 5 1.5 9.3
MGIVR2016-2 2.0 9.3
MGHH320R-35/48 3.0 19.0 MGIVR2016-2. 5 2.5 9.3
MGHH320R-48/66 3.0 19.0 MGI1VR2016-3 3.0 9.3
MGHH320R-64/100 3.0 | 19.0 MGIVR2520-1.5 1.5 11.0
MGHH320R-98/160 3.0 19.0 MG1VR2520-2 2.0 11.0
MGHH320R-160/400 3.0 19.0 MGI1VR2520-2. 5 2.5 11.0
MGHH325R-35/48 3.0 | 28.6 MGIVR2520-3 3.0 11.0
MGHH325R-48/60 3.0 | 28.6 MGIVR2520-4 4.0 11.0
MGHH325R-60/75 3.0 28.6 MGIVR3125-1.5 1.5 13.1
MGHH325R-64/100 3.0 | 28.6 MGIVR2925-2 2.0 13.1
MGHH325R-100/140 3.0 | 28.6 MGIVR3125-3 3.0 13.1
MGHH325R-160/400 3.0 28.6 MGI1VR3125-4 4.0 13.1
MGHH325R-200/800 3.0 | 28.6 MGIVR3125-5 5.0 13.1
MGHH420R-48/60 4.0 19.0 MGIVR3732-3 3.0 26. 1
MGHH420R-60/75 4.0 19.0 MGI1VR3732-4 4.0 26.1
MGHH420R-64/100 4.0 19.0 MGIVR3732-5 5.0 26.1
MGHH420R-98/160 4.0 19.0 Fr ALMAfIT MGIVR3732-6 6.0 26. 1
MGHH420R-160/400 4.0 |19.0 FAT g AT
MGHH425R-48/66 4.0 28.6 -
MGHH425R-64/100 4.0 | 28.6
MGHH425R—100/140 4.0 |28.6 AT SR
MGHH425R-160/400 4.0 28.6
MGHH425R-200/800 4.0 | 28.6
gIfaqI @Y Aefrafer
AU A TS BH MG [ VR2520-3T8 3.0 15.4
EEICIESEIC) MGIVR2520-4T8 4.0 15.4
MGHH320R13-30/50 3.0 21.9
MGHH320R15-50/80 3.0 21.9
MGHH320R17-80/160 3.0 21.9
e MGHH320R18-160/400 3.0 21.9
N MGHH325R18-160/400 | 3.0 | 23.9 Fravefrara
! MGHH420R15-30/50 4.0 21.9 sATgrT Agafar
MGHH420R18-50/80 4.0 21.9
MGHH420R20-80/160 4.0 | 21.9 MGIVL2016-1.5 1.5 1 9.3
MGHH425R15-30/50 4.0 | 23.9 MGIVL2016-2 20 193
MGHH425R18-50/80 4.0 | 23.9 MGIVL2016-2. 5 2.5 1 9.3
MGHH425R20-80/160 4.0 | 23.9 MGI1VL2016-3 3.0 1 9.3
MGHH425R20-160-400 | 4.0 | 23.9 MGIVL2316-3 3.0 | 9.3
EREGEEIE NIk MGIVL2520-1. 5 1.5 11.0
TREi Nt iRy MGIVL2520-2 2.0 11.0
;{zﬂ';ﬂ‘s’a‘q‘ra’ MGIVL2520-2. 5 2.5 11.0
MGIVL2520-3 3.0 1.0
MGIVL2520-4 4.0 11.0
MGIVL2925-2 2.0 13.1
MGIVL3125-3 3.0 13.1
MFH216R08-20/140 2.0 16.7 MGIVL3125-4 4.0 13.1
MFH320R10-25/140 3.0 21.4 MGIVL3125-5 5.0 13.1
MFH325R10-25/140 3.0 24.6 NN MGIVL3732-3 3.0 26.1
MFH420R12-25/140 4.0 | 21.4 A MG I VL3732-4 4.0 | 261
MFH425R08-25/140 4.0 24. 6 gL AT MGIVL3732-5 5.0 26.1
MFH425R10-25/140 4.0 24. 6
gyfaqI & Aefrafer
i 2 T 1 s AL o
MGEVR1616-2 2.0 8.6
MGEVR1616-2. 5 2.5 8.6
MGEVR1616-3 3.0 8.6
MGEVR1616-4 4.0 8.6
MGEVR2020-2 2.0 8.6
MGEVR2020-2. 5 2.5 8.6
MGEVR2020-3 3.0 8.6
MGEVR2020-4 4.0 8.6
MGEVR2525-3 3.0 1.0
FAATHIT NG
MGEVL1616-2 2.0 8.6
MGEVL1616-2. 5 2.5 8.6
MGEVL1616-3 3.0 8.6
MGEVL1616-4 4.0 8.6
MGEVL2020-2 2.0 8.6
MGEVL2020-2. 5 2.5 8.6
MGEVL2020-3 3.0 8.6
MGEVL2020-4 4.0 8.6
MGEVL2525-3 3.0 11.0
SAATHIT AT

SUNHIAAATRIT, CHANTYLAF I BITH

AT A g USD STl oA of HoA T | http://www.mzg.tw

—_—rrr T 1T T e e e e e o e e~ e


http://www.mzg.tw

HTTTHT STATIH o

CNC Turning Tool

3q9rg afav EGEICCIGES 3q9rg afas

5.4 1616H 6.4 1010 6.7
5.3 2020K 6.4 1212 6.7
5.4 2525M 8.9 1616 6.7
6.0 SPe 3232P | 16.4 2020 6.7
8.3 2525 9.0
3232P 14.7 KTGFRIL.. B
4040R 21.9 za.. 00000000000 0000000 OO00 DO000000 0000000 0000000 ooog
1616H 6.7 SPB226| 11.9 KTGFRIL.. 1010 1.9
2020K 6.7 SP.. SPB326 11.9 ayafreyafrgaersgHY 1212 11.9
2525M 8.6 Y\ SPB426 11.9 1616 11.9
3232p | 14.7 - SPB232 14.3 - 2020 | 131
4040R 29.0 SPB332| 14.3 — 2525 15. 4
SPB432| 14.3
SPB.. IO 00 000O0O0OOOO0OOODNO OOOO ERiciEsin)
1616H 6.7 SLTBN.. 1616 | 22.6 1010 7.1
2020K 6.7 ; 2020 22.6 1212 7.1
2525M | 8.6 o= 2525 | 22.6 1616 7.1
3232P 16.4 - 3232 29.7 2020 7.1
4040R 32.4 2525 9.3
KTGFSRIL..
Wersg & S aars cafm e 00000000 oO0bDoO0opoooogoooooa
1616H 9.3 MGEHR/L.. -0 0000|0010 7.1 1616 6.7
2020K 9.3 mzafreat g 1212 7.1 2020 6.7
§  2525M 11.0 1616 6.4 y ; ﬂ 2525 8.9
o 3232P 14. 6 2020 6.4
4040R 36.0 MGMN.. 2525 8.9
3232 16.4 SGBRIL..
Dersg & daATHT eTATIH &l O00000wuw cuwwwud OO0 0000000040
SgATRIT R UCATITT B S06K 5.4 MGEHR/L.. OO0 00 OOOO|DM010 9.6 1616 9.0
SO7K 4.6 [ayaferafwes 1212 9.6 2020 9.0
| S08K 4.6 1616 8.9 2525 11.9
=5  S10K 4.6 MGMN... 2020 9.6
S12M 5.0 2525 11.0
S14N 5.4 SGBSRI/L..
g}gg 231 I SR AT sryafeyafeaersy w3
. 1616 8.6
S20R | 6.4 2020 | 86 ;8;8 193- 31
$258 9.7 2525 1.0 '
$32T 14. 6 2525 16.4
MGEVRI/L.. CGBRIL..
00000000 0000000 000 0000 0000 gygfrerafied aza sl
ST AT TACTET FY S07 5.4 EEICIES:RIG 16 9.3 1616 11.9
‘ S08 5.4 20 11.0 2020 14.3
S10 5.4 25 13.1 2525 17.9
S12 6.9 32 25.7
S16 8.6 MGM 40 54.3
S20 9.7 . Rl ERseTy CGBSRIL ..
MGIVRIL.. Type Inner Hole
ERIGIESSIG) n(amﬁaﬁma 20 15.4 i XA g 213y HL
N —— S06 14.6 CGWSR/L.. 0 DO OOOO|DM616H 9.6 QE.R/L. OO0 000000ODCB16H | 9.3
S07 14. 6 @i eyafarga 2020K 10.7 [ayafeyafm == 2020K 11.0
S08 14.6 2525M 12.6
$10 16.4 3232P 20.0
S12 18.1 WGE.. Zr. .
S14 20.0
S16 21.7
S18 34.6 1616 10.3 DGTRL. DO-00D00oooogl 1616 | 15.3
520 43.6 2020 10.3 [myafregafr T 2020 | 16.9
525 65.0 GY2M... | 2525 11.9 : 2525 | 20.4
DGN.
GYHR/L.. OO-00 0000 OOOO
DARRIAS jazafrerafmea i
CEAR AR T A IS HT C04G 19.0 KGMR/L.. 000 OO0 opoA010 10.3 FGHH..R/L. . 1616 28.6
C05G 19.0 /q{aﬁ'{a{;rﬁ‘rqq 1212 10. 3 L 2020 28.6
C06J 19.0 1616 9.3 2525 32.4
CO7K 19.0 2020 1.0
CO8K 22.6 GMN.. 2525 12.9 EMN.. e
C10K 26. 1 GMG.. 3232 20.0 pr—— AR
C12M 33.3 qUaf Tl
g}gg 23-6‘ TTERL.. OO D0 D000 CjD0t010 10.3 N 1616 | 35.7
. jarzafaregata 1212 10.3 2020 38.1
c18Q | 81.0 e 1616 9.3 2525 | 42.9
C20R | 95.3 2020 | 11.0
€258 204.7 2525 12.9
AAA FIATES C32T 452. 4 3232 20.0 NS
x[ﬁﬁﬁrn:raﬁ;rf?r
S$16Q 8.3 TTIR/L.. Type Inner Haole 16 14.3 MGHH. . X 1616 23.9
S20R 8.6 RafreTa 20 16.7 y 2020 | 21.9
$258 1.0 25 19.0 o= 2525 | 23.9
S32T 16.4 ;
S40T/U | 28.9
) S50V 72.1 —
S.M..3ATETT AT GA TSI HI NN\ e

FUNHIAAT HIT, CHANTYAAF HI BNSHI
- AT A GG USD STl A A AT | http://www.mzg.tw

T r—TrTre reeAEIErere L1 e rrer ke e e ke e~ e


http://www.mzg.tw

HTTTHET ATS ITHIOT AT

HATTHT SIATIHN A Parts

EGEICECIGES Size

EG I zr’r?rr Size

MC0903 0. 4 M-000000 e HL1810 0.4
“ MC1204 | 0.6 HL1814 | 0.4
MC1604 1.1 HL1917 0.4
MC1904 1.6 HL2114 0.4
_ w2217 | 04
HL2217% 1.0
Cmm e HL2414 0.4
MD1103 0.MDDD0OC 7 wEY FE ML520 0.3
. MD1504 1.0 ML620 0.3
MD1506 1.1 ML625 0.3
ML630 0.3
ML830 0.8
MS0903 0. 6 w-00000O 0O WT16 0.4
MS1204 0.6 wwos 0.4
MS1504 1.1
MS1904 1.6
]
MT1603 0VgO00000 T =y g WC0525E 0.4
MT1604 1.1 WC0625E 0.4
MT2204 1.1
R Y T
MV1603 0.6 p-00000  =me = DC12 1.0
DD15 1.0
DT16 1.0
DV16 1.0
DW08 1.0
d
MWO0603 0. -000000 0000 00000000 |DL525 0.7
MW0804 0.6 . DL625 0.7
W e TR
R STM16R 0.3 DDC12 0.5
T g | STM16L 0.3 DDD15 0.5
- - STM22R 1.0 DDT16 0.5
STM22L 1.0 DDV16 0.5
R L DDW08 0.5
STM-OO0 D000 DOO0 D-000 0000 0000 Screw
CTM510 0.2 L-zaTtgRArMa gdaversasi| L1. 5 0.2
CTM513 0.2 L2.0 0.2
CTM613 0.2 L2.5 0.2
CTM617 0.2 L3.0 0.2
CTM619 0.2 L4.0 0.2
CTM515-T 0.2 L5.0 0.3
CTM618-W 0.2
CTM0822 0.3 ] T 1.0
CTMOB22 | 0 7 T-3AT B HATM T 4 AT 3T HFI TLZ.g IR
CTM1022 0.3 TL2.5 1.0
CTM1022":5| 0.7 TL3.0 1.0
TL4.0 1.0
TL5.0 1.0
Fgrafada =
M2. 0X5 0.1 FAT- LT FT T T6 0.2
M2. 2X5 0.1 17 0.2
M2. 5X5 0.1 - T8 0.2
M2. 5X6 0.1 T10 0.2
M2. 5X8 0.1 T15 0.2
M3. 0X8 0.1 T20 0.2
M3. 5X10 0.1
M3.5X12 0.1 LEERIEEECE R T6 0.8
M4. 0X8 0.1 17 0.8
M4. 0X10 0.1 T8 0.8
M4. 5X12 0.1 T10 0.8
M5. 0X10 0.1 T15 0.8
M5. 0X12 0.1 120 0.8
A-Tr3T g AA I TT6 1.0
17 1.0
T8 1.0
TT10 1.0
TT15 1.0
. 720 1.0
sy EfaaArsgsIoTd T

SUUHTAATHICT, SHI T LAF FI BISH

AT A GG USD ST ddAa T HAT | http://www.mzg.tw

e e e e e e e A~ L


http://www.mzg.tw

Machine-Clamped Right-Angle Milling Cutter

Machine-Clamped Right-Angle Milling Cutter

~ diwfr g erguge-vaa vsAfafosey FE-FHIOT H o ATATIN FTT 3IFHIT 4F FY 315 &fAr
EGUCACE] gy ear R USD 5
= Locking Tooth Type Right-Angle End Milling Cutter Discarded Right-Angle End Milling Cutter Toolholder

oy
: APKT113502 CBN1 0.2 | 69 D} 7 o b ¢
APKT113504 CBN1 0.4 6.9 M | T !
p—— e APKT113508 CBN1 0.8 6.9 arINTdr AT
:-;—[-rr:ﬂ- rzﬂ-r::x}rnrn:-[ﬂ- dxDxL UsD
M BAP300R C10-10-120-1T 3.3
APKT160402 CBN1 0.2 | 6.9 . gﬁggggs 313_1;_1§8_H gg
APKT160404 CBN1 0.4 6.9 g ear -12-130- !
APKT160408 CBN1 0.8 6.9 DxTxM gﬁggggg g}i—} i—lgg—; ; i-g
D T e 2% o BAP3OOR C14-14-150-2T 4.6
B S 53  BAP30OR (15-15-150-2T 4.6
APKT113502 PCD1 0.2 6.9 . BAP300R C15-15-200-2T 5.4
APKT113504 PCD1 0.4 6.9  BAP3-16-2T-M8 28.6 BAP30OR C15-16-150-2T 4.6
p— APKT113508 PCD1 0.8 | 6.9  BAPS-17-2T-M8 28.6 BAP300R C15-16-200-2T 5.4
N BAP3-20-2T-M10 310" BAP300R C15.6-16-150-2T | 4.6
Gopmerand S BAP3-21-2T-M10 310 BAP30OR C15.6-16-200-2T | 5. 4
o RS 223 BAPSOOR C16-16-120-2T 4.6
' APKT160402 PCD1 0.2 6.9 o. BAP300R C16-16-150-2T 4.6
APKT160404 PCD1 0.4 6.9  BAP3-26-2T-M12 333 BAP300R C16-16-200-2T 5.4
APKT160408 PCD1 0.8 6.9  BAP3-26-3T-M12 333 BAP30OR C16-16-250-2T 9.6
HTHATIA BAP3_26_4T_M12 35 7 BAP300R 01 6_1 7_1 20_21’ 4 6
e BAP4-25-2T-M12 333 BAP300R C16-17-150-2T 4.6
B 2e21 2 3577 BAPSOOR C16-17-200-2T 5.4
APKT1135PDER-AL ZKO1 | 0.8 1.4 BAP4-30-3T-M16 40 4  BAP3OOR C16-17-250-2T 9.6
i 4 ;  BAP30OR C16-18-150-2T 5. 4
APKT1604PDER-G2 ZKO1 | 0.8 1.9 T : BAP300R C16-18-200-2T 6.1
BAP4-32-3T-M16 40. 4 -
FASTTHIIN w0 e b BAP300R C19-20-150-2T 5.4
Copner and Aluninum S -9 BAP30OR C19-20-200-2T 6.1
EADF’SE‘DTEIDE;;*;?DDD BAP300R (C20-20-120-2T 5.4
; BAP300R C20-20-150-2T 5.4
6 APKT1604-AL ZKO!1 02 | 19 EndwingCier - BAP30OR C20-20-200-2T | 6.1
G : : BAP300R C20-20-250-2T 9.6
BAP300R C20-21-120-2T 5.4
FA BAP300R C20-21-150-2T 5. 4
COpRErand Alum inum BAP300R €20-21-200-2T 6.1
5 BAP300R C20-21-250-2T 9.6
APMT1135-TG ZN60O 0.8 1.4 BAP300R (24-25-150-3T 10.3
BAP300R (24-25-200-3T 11.9
APMT1604-TG ZN60 0.8 1.9 BAP300R (24-25-250-3T 14.3
Cerm et FeFzilTEmTTaraTa BAP300R C24-25-300-3T 20.4
ST HA DI TTH S BAP300R C25-25-150-3T 10.3
BAP300R (25-25-200-3T 11.9
giarfgear G BAP30OR C25-25-250-3T 14.3
APMT1135PDER-M2 ZP25 | 0.8 1.1 DxdxT BV BAP30OR C25-25-300-3T 20. 4
BAP300R 40-22-4T 11 9  BAP30OR 25-25-150-2T 7.4
APMT1604PDER-M2 ZP25 | 0.8 1.9 BAP300R 50-22—4T 153  BAP300R (25-25-200-2T 8.9
BAP300R 63-22-6T 20,4  BAP300R C25-25-250-2T 11.9
BAP400R 40-22-3T 10.3 BAP300R (25-25-300-2T 19.0
BAP40OR 50-22-4T 10. 3
APMT1135PDER-H2 ZP25 | 0.8 1.1 BAP400R 63-22-4T 11.9 BAP400R C24-25-150-2T 7.9
BAP400R 80-27-6T 20.4 BAP400R (C24-25-200-2T 9.6
APMT1604PDER-H2 ZP25 0.8 1.9 BAP400R 100-32-6T 32.4 BAP400R C24-25-250-2T 11.9
BAP400R 125-40-7T 51.0 BAP400R C24-25-300-2T 19.0
BAP400R 160-40-8T 61.1 BAP400R (C25-25-150-2T 7.9
BAP400R 200-40-10T 119.0  BAP400R C25-25-200-2T 9.6
APNT1135PDER-XM 2P25 | 0.8 | 1.1  BAPAOOR 250-40-12T e ook Caomabr2d0 2l | 11e
APMT1604PDER-XM ZP25 | 0.8 1.9 gﬁ';jggs ggzgg- j:ﬂ ];3 gﬁgjggg g%g:%g:;gg:g ;:Z
. BAP400R 80—25: 4-6T 23,9 BAP400R (25-26-250-2T 1.9
BAP400R 100-31. 75-6T 35.7 gﬁgjggg g%g-%g—?gg-g 132
APMT1135PDER ZM90 0.8 2.0 2':2?'; T%Hfﬁﬁ: Tid?a;zjﬁmta BAP400R C25-30-200-2T 1.9
-| uminum Right-Angle En illing Cutter
BAP400R (25-30-250-2T 16.9
APMT1604PDER ZM90 0.8 2.7 BAP40OR (25-30-300-2T 20. 4
BAP400R C32-32-150-3T 13.6
TIHIHY 62 *FHuFTadeaTITEETT T I YHIT BAP400R €32-32-200-3T 15.3
BAP400R C32-32-250-3T 18.9
; “ ] APMT1135PDER ZP20 0.8 1.6 BAP400R C32-32-300-3T 23.9
- ; { BAP400R (32-32-350-3T 27.1
S APMT1604PDER ZP20 0.8 2.3 BAP400R C32-32-400-3T 35.7
 i—
- BAP400R €32-35-150-3T 13.6
ATHAEAA TSR 30T D BAP400R €32-35-200-3T 15.3
BAP400R C32-35-250-3T 19.7
IR BAP4OOR €32-35-300-3T | 239
APMT1135PDER ZP30 0.8 1.6 BAP400R C32-35-350-3T 271
AL-BAP400R 50-22-4T 16,9 BAP400R €32-35-400-3T 35.7
APMT1604PDER ZP30 0.8 2.3 AL-BAP400R 63-22-4T 22.1 BAP400R C32-40-150-3T 15.3
AT i 5307 AL-BAP400R 80-22-6T 30.7 BAP400R ©32-40-200-3T 17. 6
- AL-BAP400R 100-22-6T 546 BAP40OR C32-40-250-3T 22.1
q APMT1135PDER ZP60 0.8 1.4 AL-BAP400R 125-27-7T 85.0 BAP400R C32-40-300-3T 25. 4
AL-BAP400R 160-27-8T 95.3 BAP400R C32-40-350-3T 30.7
— APMT1604PDER ZP60 0.8 1.7 AL-BAP400R 200-27-10T 204.0 BAP400R C32-40-400-3T 39.0
AL-BAP400R 250-32-12T 272.1 BAP400R C32-50-150-4T 221
AT 3o AL-BAP400R 300-32-14T 340. 3 BAP400R C32-50-200-4T 27.1

FUNHIAAT HIT, CHF T YAAF HI BITHI
A A g USD STAT A AT AT | http://www.mzg.tw

A A A aAr ar 13 r ar ar 1 r aar arar ar ar 1 riari1r1 r i rrarararara rar arar a1 rariariri1. avrvaArm=m~+tAnAnl Anrn


http://www.mzg.tw

Machine-Clamped Round Nose Milling Cutter

Machine-Clamped Round Nose Milling Cutter

3q9rg afas

girfyear

diwfcuerzrussAa vsAfafTHFer

Locking Tooth Type Round Nose End Milling Cutter

girfyear

DxTxM

EMRR4-16-2T-M8
EMRR4-17-2T-M8
EMRR4-20-2T-M10
EMRR4-21-2T-M10
EMRR4-25-2T-M12
EMRR4-26-2T-M12
EMRR4-25-3T-M12
EMRR4-26-3T-M12
EMRR5-20-2T-M10
EMRR5-21-2T-M10
EMRR5-25-2T-M12
EMRR5-26-2T-M12
EMRR5-30-2T-M16
EMRR5-32-2T-M16
EMRWR5—-30-3T-M12
EMRWR5-32-3T-M16
EMRWR5-35-3T-M16
EMRWR6-25-2T-M12
EMRWR6—-26-2T-M12
EMRWR6-30-2T-M16
EMRWR6—-32-2T-M16
EMRWR6—-35-3T-M16

Aaa
usp
28.
28.
31.
31.
33.
33.
35.

31.
31.
33.
33.
38.
38.
40.
40.
42.
33.
33.
38.
38.
42.

V= WWORNRPMA—_,_,LWOWOONNLWWOOOO

RDMW1204MOT-PM ZP30 R6 1.7
RDMW1605MOT-PM ZP30 R8 2.4
ATATAT FTANN A qIF FHIT
‘l ig RPGT1003-AL ZKO1 R5 1.9
AL AT, 0T
Copper and Aluminum
n RPMW1003MO ZN60 RS 1.6
RPMW1003 ZN60non chareringl RS 1.3
~— RPMT1204M0 ZN60O R6 1.9
Cermet AU I 3T SVF sHITA
HIIN HISTEIAR
RPMTO8T2-JS ZP25 R4 1.1
RPMT10T3-JS ZP25 RS 1.4
AIATAT ATAITN A qIT FHIOT
o\. RPMT1204M0 ZM90 R6 2.0
TTIHTH 62 ° FIA F AT 3T T F3IATIIH FHIT
@ RPMT1204M0 ZP30 R6 1.7
ATATAT ATAIN H qIT FHIT
a\ ) RPMT1204M0 ZP60 R6 | 1.7
ATATAT TATN A qIF FHIOT
: ” : RPMT1204-XM ZP25 R6 | 1.3
ATATAT ATAAT A TIHTHIOT
° RPMIN1003M0 ZM90 RS | 1.7
TAINIH 62 ° FIA & AT 3T T F3I7ATTIH FHIIT
' . RPMW1003M0 ZP20 RS 1.3
FATATAT AT & GIH FHIT
RPMW1003MO ZP30 RS 1.3
ATATAT ATAITN H qIT FHIOT
\ ” RPMW1003MO ZP60 R5 1.3
AIATAT FTHIAN A TIH GHIOT
RPMW1003-XM ZP25 RS 1.3

TTATA T IANIT H qITFHIOT

EMR TS e AT 3 d ATAT T FTT
EMR Steel Round Nose End Milling Cutter

CIRIR G

DxdxT

EMR 5R50-22-4T
EMR 5R63-22-4T
EMR 5R80-27-6T
EMR 5R100-32-6T
EMR 5R125-40-7T
EMR 5R160-40-8T
EMR 5R50-25. 4-4T
EMR 5R63-25. 4-4T
EMR 5R80-25. 4-6T
EMR 5R100-31. 75-6T
EMRW 6R50-22-4T
EMRW 6R63-22-4T
EMRW 6R80-27-6T
EMRW 6R100-32-6T
EMRW 6R125-40-7T
EMRW 6R160-40-8T
EMR 6R200-40-10T
EMR 6R250-40-12T
EMR 6R300-60-14T
EMRW 6R50-25. 4-4T
EMRW 6R63-25. 4-4T
EMRW 6R80-25. 4-6T
EMRW 6R100-31. 75-6T

The Above afIf§edarAre RP.. Inserts,

RC../RD .. gAaATITIHTATE JRFoTaATE, HIAT T{\EWEMR

The Above afIfY drAre RP.. Inserts

RC.. /RD.. Inserts and handle, please inquire!

SUNHIAATHIC, CHA AT YLAF I BISH

AT A G USD STl dACT AT |

U3sATT s AfATT FeTgAFASI HI o1s gfar
Discarded Round Nose End Milling Cutter Toolholder

DxDxLxT

G10-4R10-120-1T
G12-4R12-130-1T
G12-4R13-130-1T
G16-4R16-150-2T
G16-4R16-200-2T
G16-4R17-150-2T
G16-4R17-200-2T
G19-4R20-150-2T
G19-4R20-200-2T
G20-4R20-150-2T
G20-4R20-200-2T
G20-4R20-250-2T
G20-4R21-150-2T
G20-4R21-200-2T
G19-5R20-150-2T
G19-5R20-200-2T
G20-5R20-150-2T
G20-5R20-200-2T
G20-5R20-250-2T
G20-5R21-150-2T
G20-5R21-200-2T
G20-5R21-250-2T
G20-5R25-150-2T
G20-5R25-200-2T
G20-5R25-250-2T
G20-5R30-110-2T
G24-5R25-150-2T
G24-5R25-200-2T
G24-5R25-250-2T
G24-5R25-300-2T
G25-5R25-150-2T
G25-5R25-200-2T
G25-5R25-250-2T
G25-5R25-300-2T
G25-5R26-150-2T
G25-5R26-200-2T
G25-5R26-250-2T
G25-5R26-300-2T
G25-5R30-150-2T
G25-5R30-200-2T
G25-5R30-250-2T
G25-5R30-300-2T
(32-5R35-150-3T
(32-5R35-200-3T
(32-5R35-250-3T
(32-5R35-300-3T
(32-5R35-350-3T
(32-5R35-400-3T
(32-5R40-150-3T
(32-5R40-200-3T
(32-5R40-250-3T
(32-5R40-300-3T
(32-5R40-350-3T
(32-5R40-400-3T
(32-5R50-150-4T
(32-5R50-200-4T

EMRW G25-5R25-150-2T
EMRW G25-5R25-200-2T
EMRW G25-5R25-250-2T
EMRW G25-5R30-150-2T
EMRW G25-5R30-200-2T
EMRW G25-5R30-250-2T
EMRW G32-5R35-150-3T
EMRW G32-5R35-200-3T
EMRW G32-5R35-250-3T
EMRW G32-5R35-300-3T
EMRW G25-6R32-150-2T
EMRW G25-6R32-200-2T
EMRW G25-6R32-250-2T
EMRW G25-6R32-300-2T
EMRW G32-6R32-150-2T
EMRW G32-6R32-200-2T
EMRW G32-6R32-250-2T
EMRW G32-6R32-300-2T
EMRW G32-6R32-350-2T
EMRW G32-6R32-400-2T
EMRW G32-6R35-150-2T
EMRW G32-6R35-200-2T
EMRW G32-6R35-250-2T
EMRW G32-6R35-300-2T
EMRW G32-6R32-350-2T
EMRW G32-6R32-400-2T
EMRW G32-6R40-150-3T
EMRW G32-6R40-200-3T
EMRW G32-6R40-250-3T
EMRW G32-6R40-300-3T

EM

. 632-6R40-350-3T
'G32-6R40-400-3T

EMRW G32-6R50-150-4T
EMRW_C32-6R50-200-4T

-

ONINOINONOOO IO OIWWW

Oo~NNI

—_
O W

[N
VwoN

o~

OGN
Wow=owow

L, 0O,V OR O R OWN—VOWOrROVOWVWOrOVOWWTP L O OR VWOV OVOWROROWORrT PPV OTVOV GOV }GR DGR R 202 G002 —2O0_0WwWww

http://www.mzg.tw

A I 1 A A 1 raAriraiririri1rarar1 rair i1 rarararar 1 r ararari1rariairiri1 ava/Mm-=ntAnnl ~n

N
N



http://www.mzg.tw

Machine-Clamped Milling Cutter

Machine-Clamped Milling Cutter

Product Product Product Product
Pictures Frifear Pictures affyear Pictures afrfyear Usb Pictures afrfyear
HTFE JTIIA HT I HIO[
P3200-R4 ZP10 7.4
a SRR S EFRY P3200-R5 ZP10 8.3 LNMUO303ZER-MJ 800-08A
{ -| 8.3
: ’ SEHT1204AFFN CBN1 | 7. 1 RI2004Re3ZRI0 5
) P3200-R10 ZP10 11.9
y |Fram= Prafie Fine Milling af Eg%gg:mé' §Pﬂ§‘° 5?13 PNMUO905GNEN-MJ 800-08T308M-C—G
! | Copper and Aluminum araaamad | P3200-R16 ZP10 40.3
SEHT1204AFFN PCD1 | 7.1 e henaiat i I
ZPFG120 ZM55 17.1 PNMUO905XNER—GM 800-08T308M-1-G
ZPFG160 ZM55 20. 4
R | FTHUTHA TIYHIOT ZPFG200 ZM55 23.9
- Copper and Aluminum ZPFG250 ZM55 32.4
ZPFG300 ZM55 51.4
| | SEHT1204AFFN ZKO1| 1.7 Cutting Below HRC55 SNMU130508EN-GM 800-09T308H-P-G
BNM120 ZM55 17.1
BNM160 ZM55 18.6
o BNM200 ZM55 23.9
FROTFRO P IIHAH{T BNM250 ZM55 32.4 WNMUOBO60BEN-SM R390-11T308-PM
HTATA T ATAIAIT BNM300 ZM55 41.0
SECA1204AFTN ZP30| 3.1
ATHTI @ GIHR MEATHI H T ATATH T 3PKT100408R-M
Locking Tooth Type Spherical End Milling Cutter gg&ﬂgggggszm SN
AYTH @I A AMATIT
ATATA T TATIT T 3.1
3 SEHT1204AFSN ZM90O XJMG1204 é S-R215. 44-15T364M
AGTA @A A AAATT a
R 31 HNGX0906-FF S8 |naN3102c
1 [ gfafyear
SEKT1204AFTN ZM90 DxM
T2139M-5R-M5 . WNMX060312ZNN-MM P | criPs00sy
T2139M-6R-M6 31.0 WNMXO9T316ZNN-MM GR1P4004Y
1313901 OR 10 a7
-10R-| 5.7
FEH LA 45 * H AT e T2139M-12. 5R-M12 38.1
KM Steel 45° Face Milling Cutter T2139M-15R-M16 40.4 gngggggggggzm LNKX1506-G
o3 gfATTAT MATHT T3 AfA T ggrar sy - ——
Discarded Spherical End Milling Toolholder @ CNHX100508T "‘- WXCU080612T
0T q = =14 CNHX131108T > 4
| |
L . LNKX1005-Y
- LNKX1206-Y
affyear Hel T @ AITOC0208R-EM E. LNKT1507
dxDxLxT usb
C10-4R-100-1T 8.9 -
C12-4R-130-1T 8.9 é BLMPO603R-M - $229.0300. 32
C16-4R-150-1T 10.7 =
gfafyear G10-5R-120-1T 8.9
DxdxT C12-5R-150-1T 8.9
C16-5R-150-1T 10.7 BLMPO904R—-ML SOEX090408-13
KM12-50-22-4T -9 12139 C12-6R-130-1T 8.9
KM12-63-22-4T 153 12139 C12-6R-150-1T 8.9
KM12-80-27-5T 25.4 g}gg g]g—gs—;gg—ﬂ 1(2). 7 \
KM12-100-32-5T 35.7 —6R-200— 12.6
KM12-125-40—6T 510 %}gg g} 2_35_% SS‘H 1? 8 | |BLMP1205R-M ° HNPJ130720ANSN-HD
KM12-160-40-6T 61.1 -8R-200- :
KM12-200-40-8T 136.0 12139 G20-8R-200-1T 16.7 -
KM 2-250-40-10T 204 0 12139 G25-8R-250-1T 19.7 ~
KM12 300-60-12T 955 0 12139 G20-10R-150-1T 13.9 BLMP1306R-M SP1RH5-LT-L
: 12139 C20-10R-200-1T 16.0
KM12-50-25. 4-4T 13.6° 12139 €25-10R-250-1T 19.7
K1 2-80-25.4-51 %0 T3 a1y aRao s
—80-25. 4— . T 5-12. 5R-150-1T 16.7 LT
KM12-100-31. 75-5T 390 12139 €25-12. 5R-200-1T 19.6 TNGXZ207PNTN - SPIRHSLTD
T2139 €25-12. 5R-250-1T 22.1
KM Aluminum 45° Face Milling Cutter T%}gg 8%3_1% 5R—:3388—}T 25.0
o T —12. 5R-300-1T 27.9 {
KM Aluminum 45 FaceDM\ng Cutter 12139 632-15R-150-1T 18 3 lu ZNHU080-08 - APNT1003-NN
T2139 €32-15R-200-1T 21.0 gt
. T2139 €32-15R-250-1T 23.9 —
T2139 €32-15R-300-1T 26.7 3
T2139 C32-15R-350-1T 30. 4 8 SNMX1205XTN q } SEKN1203AFTN-NN
T2139 €32-16R-150-1T 18.3
T2139 €32-16R-200-1T 21.0
T2139 €32-16R-250-1T 23.9 —
12139 €32-16R-300-1T 26.7 f
T2139 €32-16R-350-1T 30.4 X ggmggg%gfg: SEKR1203AFTN-NN
Insert:ZPFG.. ].—‘ - -
gré-gn-1e0 S« (e
8%8_%&2?20 %? ! 23 SOMT09T308-DP
—-10R— 7 TPUN160308—NN
8%0_12R_20(1) . 376 SOMT11T308-DP
5-12. 5R-15 39.7
gfafyear 3:[\(71'?1' G25-12. 5R-200 49.6
AL-KM12-50-22-4T 16.9° ABPF €32-15R-200 51.7
AL-KM12-63-22-4T 22.1 ABPF (C32-15R-250 59.6
AL-KM12-80-22-5T 30.7 ABPF (€32-15R-300 79.3
AL-KM12-100-22-5T 54.6 InsertBNM.. ~ | RPHX1204M6EN-M31 SPMT120408—PM
AL-KM12-125-27-6T 85.0 EWE gg—gs—gg—ﬂ Hg >
AR oo eT i BNML C16-8R-150-1T 15.0
AL—KM12-250-32—10T 577 1 BNML C16-8R-200—1T 17.9 XNEX080608-MD15 ONHU060408~PM
: BNML C20-10R-150-1T 21.0 ONHUOBT508—PM
AL-KM12 300-32-12T 340.3 BNML G20-10R-200~1T 23.9
Qt—mg-gg-gg- f{-ﬂ ;g? BNML G25-10R-250-1T 29.7
i —63-25. 4~ . BNML C25-12. 5R-150-1T 25.0
AL-KM12-80-25. 4-5T 32.4  BNML 025-12. 5R-200-1T 29.7 u ROUXISCE0S IS ’ 8.8
AL-KM12-100-31. 75-5T 54.6 BNML C25-12. 5R-250-1T 33.3

IUNHIAATHIT, CHAMNTYLAF HI BNSH

AT A e USD STaAX A AC A HAT |

http://www.mzg.tw


http://www.mzg.tw

crsuy &k afdh gIfersra

Insert Type Quick Drill

AR A TTSTITFT-TaTed T AT HEeT

AT T GIHII NATHIT H T AT HeT

Locking Tooth Type Right-Angle End Milling Cutter | ocking Tooth Type Spherical End Milling Cutter EG RIS ﬂ'f?ﬂ' af@TfE[EFrr & =
WCMX030208 zP25 0.8 1.4
WCMX040208 ZP25 0.8 1.4
M WCMX050308 ZP25 0.8 | 1.7
WCMX06T308 ZP25 0.8 1.9
v TR WCMX080412 ZP25 1.2 | 2.6
© Insert: R390-11T3.. p WCMX030208 ZP30 0.8 2.3
T D =
DxTxM usb DxRxM B \ .
w WCMX06T308 ZP30 0.8 2.6
R39011-16-2T-M8 28.6 BNM-10-R5-M5 35.7 B TTAAE NG 1T WCMX080412 ZP30 1.2 37
R39011-17-2T-M8 28.6 BNM-12-R6-M6 35.7 e
R39011-20-2T-M10 31.0 BNM-16—R8-M8 38.1 SPMG050204 ZP25 0.4 1.4
R39011-21-2T-M10 31.0 BNM-20-R10-M10 38.1 SPMG060204 ZP25 0.4 1.4
R39011-25-2T-M12 33.3 BNM-25-R12. 5-M12 40. 4 SPMGO7T308 ZP25 0.8 1.7
R39011-26-2T-M12 33.3 SPMG090408 ZP25 0.8 1.9
R39011-30-2T-M16 35.7  FERIEREL I SPMG110408 ZP25 0.8 | 2.3
R39011-32-2T-M16 35.7 B A AE
R39011-33-2T-M16 35.7 SPMG050204 ZP30 0.4 2.7
R39011-35-2T-M16 42.9 SPMG060204 ZP30 0.4 2.9
SPMGO7T308 ZP30 0.8 2.9
aAtsfcaergaUge-vaa vs AfAf Her e T af F I TR SPMG090408 ZP30 0.8 3.3
Locking Tooth Type Right-Angle End Milling Cutter ~ Tungsten steel anti-vibration tool rod H I FHIOT I SPNMG110408 ZP30 0.8 3.6
e SPMG140408 ZP30 0.8 5.4

WC g aI{TTIgT dHatsh sIfer
WC Insert Type Quick Drill

Insert: JDMT0702..
afrfedr AT
DxTxM usp
JDMTO7-11-2T-M5 35.7 8 12 XCMT040104 61.7) 91.4 - -
JDMT07-12-2T-M5 35.7 10 12 XCMT050204 57.1| 85.0 4 -
JDMT07-12-2T-M6 35.7 12 16 XCMT060204 47.1 65.3 = -
JDMT07-13-2T-M6 35.7 14-14.5 20 WCMX030208 25.3| 32.9 37.6| 67.1
JDMT07-14-2T-M6 35.7 15-20 25 WCMX030208 25.3] 32.9 37.6| 67.1
JDMTO7-16-3T-M8 42.9 afrfear EGE 20.5-24.5] 25 | WOMX040208 | 35.3| 42.6 | 50.3| 72.9
JDMT07-17-3T-M8 42.9 dxDxLxM UsD 25 32 WCMX050308 35.3| 42.6 50.3 ] 72.9
_08—100— 25.5-30 32 WCMX050308 42.6| 45.3 52.9 1 80.0
AU, = o0 30.5-31 32 WCMX050308 57.6| 59.6 72.9 ] 100.4
—10-100— 31.5-40 32 WCMX06T308 57.6| 59.6 72.9 | 100.4
P R Ay 32 | WCMX06T308 | 69.0| 76.7 | 960 1257
AR €U E13T UST-TaTe T3 ATATI HET : 42 40 WCMX06T308 69.0| 76.7 96.0| 125.7
Locking Tooth Type Right-Angle 3fd #TeITIT H2T —19-100—| 43-45 40 WCMX080412 69.0| 76.7 96.0| 125.7
N2 2o 50 4650 40 | WCMX080412 | 75.4| 93.3| 102.9| 137.1
MEL12—12-200-M6 135 7 51-55 40 | WCMX080412 | 85.0| 109.7| 130.3| 148.6
M ) 56-57 40 WCMX080412 89.0| 112.4| 171.4] 165.7
58-59 40 WCMX06T308 89.0| 112.4| 171.4| 165.7
MFL15-15-150-M 131.0
MFL1g—1g—238—Mg 178. 6 60-63 40 WCMX06T308 93.3| 123.3| 197.9| 201.1
MFL16-16-100-M8 114' 3 64-65 40 WCMX06T308 100.3 137.1| 224.0| 231.0
Q MFL16~16-150-M8 131 ’ 0 66-68 40 WCMX06T308 101.7 151.0| 228.6| 240.0
Insert: AXMT0602.. MFL16-16-200-M8 1 78 6 69-70 40 WCMX06T308 102 160.0 240.0| 262.9
gRIfyear MFL16-16-250-M8 226.1 :
DxTxM T gaIcersThafa gIfar L~
AXMT06-11-2T-M5 35.7 MFL19-19-150-M10 204.7 sp Insert Type Quick Drill
AXMT06—-12-2T-M5 35.7 MFL19-19-200-M10 273.9
AXMT06-12-2T-Mé6 35.7 MFL19-19-250-M10 326.1 d
AXMT06-13-2T-Mé6 35.7 MFL20-20-100-M10 154.7
AXMT06—-16—-3T-M8 42.9 MFL20-20-150-M10 204.7
AXMT06-17-3T-M8 42.9 MFL20-20-200-M10 273.9
MFL20-20-250-M10 326.1 2
ket T Fasm::mm MFL20-20-300-M10 8739 "43-14.5 | 20 | SPMG050204 | 30.4| 35.7 | 44.7| 786
AR A eIFIHIHT TS H FX A AEA_ 15 25 SPMG050204 30.4] 35.7 44.7 | 78.6
o2 2759 15520 | 25 | SPMGO60204 | 30.4| 357 | 4.7 /8.6
; MFL24-24-250-M12 450' 0 20.5-21.5| 25 SPMG060204 41.9| 47.6 60.7 | 83.3
¥ L M MFL24-24-300-M12 535' 7 22-24.5 25 SPMGO7T308 41.9| 47.6 60.7| 83.3
MFL25-25-150—M12 273' 9 25-27.5 32 SPMGO7T308 50.3| 54.7 65.4| 91.4
MFL25-25-200-M12 376. 1 28-30 32 SPMG090408 50.3| 54.7 65.4| 91.4
rASTANA -l 30.5-33.5| 32 SPMG090408 | 66.9| 72.9 | 88.1| 108.6
M) MFL25-25-250-M12 450.0 =
MFL25-25-300—M12 535 7 34-40 32 SPMG110408 66.9| 72.9 88.1| 108.6
MFL25-25-350-M12 750' 0 41 32 SPMG110408 79.0| 88.1 105.4] 137.1
Hf??gﬁf G Y a5 40 SPMG140512 | 79.0| 88.1 | 105.4] 137.1
I —_29_90N_| 46-50 40 SPMG140512 88. 1 98.9 125.7] 148.6
AJX06-16-2T-M8 31.0 W a0 2007 Mo bLa3 75155 40 | SPMGO7T308 | 94 3| 111.0| 144.0] 171 4
AJX06—-17-2T-M8 31.0 MFL32-32-300-M16 916- 7 56 40 SPMGO7T308 98.9| 123.9| 208.1| 228.6
AJX08-20-2T-M10 33.3 MFL32-32-350-M16 1159' 6 57-59 40 SPMG090408 98.9| 123.9| 208.1| 228.6
AJX08-21-2T-M10 33.3 MFL32-32-400-M16 1428' 6 60-63 40 SPMG090408 103.3 136.9| 250.0| 271.4
AJX09-25-2T-M12 35.7 ) 64-66 40 SPMG090408 111.0 161.9] 280.0| 300.0
AJX09-26-2T-M12 35.7 . = SPMG110408 111. 161.9| 280.0| 300.0
A28 5112 %7 " 99959595555553 35555350 Ak e oo i Spuetiodos | 114 g 173.9| 290.0| 328.6
AJX12-30-2T-M16 40. 4 ) :
qa"d WDXT ../ GPMT ... 139 HTIH dafe 33T »ATSTET, qodra & masrgaradag!
AJX12-32-2T-M16 40.4 « Lock teeth type tool stock Specifi cation are complete ¥ ®
AJX12-35-2T-M16 47. 6 Please inquire for afaIfgzarnot listed. Plus WDXT../GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!

SUNHIAATRIT, SR HTYLAF I BITHI

AT A R USD ST ddaad AAT | http://www.mzg.tw


http://www.mzg.tw

I T

Boring Tool

HBOR wTgd- AT arIfar

squEafay | ammear  NO.  ¥wD | Aeaw [AEREALIEINDELCIUNES— _
s2masazusr | RBHI9C |LBK1| 19-25 | 28.6 (SIRTTIH:8-280mm) v X (P -CAAT T 0.00m)
000000000 000000 RBK25C | LBK2| 25-33 | 28. 6 2, ’_ v 7 a? 7.
Rounr Borma coisr | RBH32G  |LBK3[ 32-42 | 31.0 ‘ s ’PW x, _ \ ny i S
e RBH40C |(LBK4| 40-55 40. 4 NBH20§4 Boring Tool / //;- [ \ N HBOR Fine-Tuning Boring T AE \\ .
49| RBH52C |LBK5| 52-70 | 61.9  (@RFIT S 8-280mm) g 4 | Cutter (Fine-Tuning Lt P
—2 RBH68C LBK6 68-92 83.3 Fine-Tuning Accuracy 0.01mm Accuracy 0.002mm) / Ty
RBHO0C |LBKG| 90-172 | 1004 — .-
ROL160C | BST | 160204 | 135 7 PTESEEST HBOR25  Boring Cutier
RBH200C | BST | 200-310 |273.9  SBJ2008-32 811 8.6  HBOR25M (29-38) Boring head 29-38 | 666.7
RBH300C | BST | 300-410 |544.0  SBJ2010-40 10-13 8. 6 HBOR25M (29-38) Back Boring 29-38 | 666.7
Insert:CCMT. RBH400C | BST | 400-510 |583.3  SBJ2012-53 12-17 8.6  BT30-HBOR25P 857.1
RBH500C | BST | 500-610 | 681.0  SBJ2016-68 16-21 s 6  BT40-HBOR25P 857. 1
 ocable Finatunsbid CBH25  |LBK2| 25-33 1154.7 5B 2020-125 20-130 | 20 4  HSK63A-HBOR25P 976.1
OO0O0O0 Boring CuePBH32 |LBK3] 32-421163. 1 5B3020-150 20-130 | 23.9  CA0602-09Tcaride oring 2-3.2 | 59.6
GBHA0  |LBK4| 40-55 1181.0  5By2020-200 20-130 | 28.6  CA0603-16Tcamide soring 3-4.2 | 59.6
CBH52  1LBKS| 52-75 \204.7  $By2025-96 25-135 | 8.6  CAO604-22Tcarie Boring 4-5.2 | 59.6
CBH68 ~ |LBKO| 68-102 1238.1  sBy2025-144 25-135 | 20.4  CA0605-27Tcarie Boring 56.2 | 59.6
CBH100 | LBK6| 100-152 1273.9 5B 2025-150 25-135 | 23.9  CA0606-32Tcamide oring 6-7.2 | 59.6
CBH150 1LBK6| 150-202 1323.9 5B y2025-200 25-135 | 28 6  CB06050-21 ( cco3) | 56 | 123.9
CBH200 | BST | 200-310 | 714.3  $By2030-115 30-140 | 8.6  CB06055-26( €C03) | 5.5-6.5 | 123.9
GBH300 | BST | 300-410 1821.4  5j2030-173 30-140 | 23.9  CB06060-26( cC03) | 67 | 123.9
CBH400 | BST | 400-510 1919.0  $By2030-200 30-140 | 28 6  CB06065-31( €C03) | 6.5-7.5 | 123.9
CBHS00 | BST | 500-610 11023.9  sBy2020-L 120-280 | 8.6  CB06070-31( cCo4) | 7-8 | 123.9
EWN20 | oK1 | 20-36 |123.9 _ SBJ2020-150L 1207400 | 239  1EOR32 Boring Cutter
B oGl S |15y  exmemacs HBOR32M (36-52) sorngheas | 36-52 | 800
EWN41 CK4 41-74 1 63. 1 ggHﬁgﬁggosrzg hsesd 8-280 138.1 HBOR32M (36_52) Back Boring 36-52 800
Fine-Tuning _ ’ —| = 8-280 233.3 -
Accuracy 0.01mm Ewmgg gEg 6583—19550 1;3 2 NT30-NBH2084-8P 8-280 | 233 3 HBORA4O0 Boring Cutter
FNT00 | oK6 | 100-203 |214 3 NT40-NBH2084-8P 8-280 | 233.3  HBOR4OM (44-68) soring head 44-68 | 833.3
e — - g;ig—mgngggj—gg 8-280 | 309.6  HBOR4OM (44-68) ack Boring 44-68 | 833.3
IRFITTARA T = - — - - -
e Celt1 2 531 | 131 BTS0-NBH2084-8P 87280 | 2553 1BORS0 anrmgmwcat
AOALE Clamp | 13 30-36 | 13 1 SK40-NBH2084-8P 8-280 | 278 6 HBOR50BM (57-90) soringhead | 57-90 | 742.9
CBH2-1 25-33 | 13 1 SK50-NBH2084-8P 8-280 | 309 6  HBOR50BM(57-90) BackBoring | 57-90 | 742.9
CBH2—2 32-40 |13 1 — BT30-HBOR50 (06-90) 6-90 | 857.1
CBH2-3 39-47 | 13 1 NBJ16 @13 3TaTor BT30-HBOR50 (06-90) —14P 6-90 | 1190.4
CBH3-1 32-42 13.1 (aTTf?[fH:S—SOmm) ‘ oy BT40-HBOR50 (06—90) 6-90 857.1
CBH3-2 21-51 |13 1 S BT40-HBOR50 (06-90)-14P | 6-90 | 1190.4
CBH3-3 50-60 | 13 1 @ . BT50-HBOR50 (06-90) 6-90 | 904.7
CBHA—1 21-54 | 131  NBJ16Boring Tool \\\ .. BT50-HBOR50(06-90)-14P | 6-90 |1273.9
Gal | csHa-2 50-63 | 13,1  (@RFT¥: 8-50mm) LAY SK30-HBOR50 (06-90)-14P | 6-90 [1273.9
A S :;j‘ CBH4-3 61-74 13.1 Fine-Tuning Accuracy 0.01mm SK40_HBOR50 (06_90) -14P 6-90 1273.9
= CBH5-1 53-70 | 13 1 : SK50-HBOR50 (06-90) 6-90 | 904.7
a2 6562 | 151 SK50-HBORS0 (06-90)14P | 6-90 | 1275.9
CBH5-3 78-95 | 13 1 — HSK63A-HBOR50 (6-90) -14P|  6-90 | 1309.6
e 16080—110503 g 1 SBJ1606-24 6-9 8.6 HBORG3 axfrgamacat
CBH6-2 94-126 | 131 SBJ1608-32 8-11 8.6 HBOR63BM (70-110) goringhead| 70110 | 804. 7
126-179 | 13 1 SBJ1610-40 10-13 | 8.6 HBOR63BM(110-150) corngreee | 110-150 | 804. 7
CBH6-3 118-150 13.1 SBJ1612-53 12-15 8.6 HBOR63BM (70—1 10) Back Boring 70-110 804.7
P 150-203 | 13 1 SBJ1614-60 14-17 8.6 HBOR63BM (110-150) saccsoing | 110-150 | 804. 7
SBJ1616-68 16-21 8.6 NT40-HBOR63 6-150 |1071.4
BEO9A M5 167 SBJ1620-83 20-26 8.6 NT40-HBOR63 (6-150)-15P | 6-150 | 1381
BE10. 5A M5 167 SBJ1620-150L 20-26 | 23.9  NT50-HBOR&3 6-150 | 1119
CEENE L] BE12A MG 16.7 SBJ1620-200L 20-26 | 28.6  NT50-HBOR63 (6-150)-15P | 6-150 |1428.6
- BE14A M6 16 7 SBJ1625-90 25-31 8.6 BT40-HBOR63 6-150 | 1071.4
BE16A M6 167 SBJ1625-150L 25-31 23.9  BT40-HBOR63 (6-150) 15P 6-150 | 1381
BE18A W0 167 SBJ1625-200L 25-31 28.6  BT50-HBOR63 6-150 1119
BE20A W0 16 7 SBJ1630-90 30-36 8.6  BT50-HBOR63 (6-150) 15P 6-150 |1428.6
BE22A Wo 167 SBJ1630-150L 30-36 | 23.9  SK40-HBOR63 (6-150) 15P 6-150 | 1381
BE24A 10 167 SBJ1630-200L 30-36 | 28.6  SK50-HBOR63 (6-150) 15P 6-150 |1428.6
BE26A W10 167 SBJ1635-90 35-41 8.6  HSK63A-HBOR63 (6-150) 15P| 6-150 |1452. 4
BE28A M10 16. 7 SBJ1635-150L 35-41 23.9 Boring Accessories
BE30A M10 16‘ 7 SBJ1635-200L 35-41 28. 6 Boring Accessories
BE32A 10 190 SBJ1640-90 40-46 8.6 BR1606-21 (WBGT0601. . L) 6-9 23.9
BE34A Wo 190 SBJ1640-150L 40-46 | 23.9  BR1608-28 (TBGT0601. .L) 8-11 23.9
BE36A Mo |23 9 SBJ1640-200L 40-46 | 28 6  BR1610-35(TBGT0601..L) | 10-13 | 23.9
BE38A W10 239 SBJ1645-90 45-51 8.6  BR1612-42(TP..09..L) 12-15 | 23.9
BEAOA Wo 239 SBJ1645-150L 45-51 23.9  BR1614-50(TP..09..L) 14-17 | 23.9
- SBJ1645-200L 45-51 | 28.6  BR1616-60 ETP. . 09. . Lg 16-20 | 23.9
- BR1620-65 (TP. . 11. . L 20-24 | 23.9
SR Foieoe T |43 anfrgmeew BR1624-68 (TP, . 11..L) 24-28 | 23.9
EC Conversion Sleeve EC1612 _ 14 3 BM5 35.7
EC1614 _ 14' 3 NBJ1éBoung head 8-50 138.1 SRTP2938 (TP .09.. L) 28-38 35.7
; mgg—ggj}g—gg—gg 8-50 233.3  SRTP3652 gTP. . 09. . L; 36-52 35.7
FraeA AT - —65- 8-50 | 233.3  SRTP4468(TP..09..L 44-68 | 41.7
0000 000 S ol e | D BTS0-SBUI6-55-12P 8-50 | 233.3 BMS 9.6
Tungsten S8 e 1200 i o BT40-SBJ16-55-12P 8-50 | 309.6 SRTP70110(TP..11..L) 70-110 | 47.6
ST12Wa-1500 i 107. 1 BT50-SBJ16-65-12P 8-50 | 233.3  SRTP110150(TP..11..L) | 110-150 | 47.6
STIAW6-160L | M6 |119.0  oxoo-SBU16-60-12P o= 2739
— T16W10-160L] W10 1357  oxao-oBU16-60-12P Ea W 2786
STI6-W10-180L| Mi0 |150.0  Roo-SBJ1E-65-12P SR 3078

-/

SUNHITAAT HIT, CHA HNTYAAF HI BISHT

AT A gJ USD STt d g AT

http://www.mzg.tw

DY . U R


http://www.mzg.tw

CIRVE G|

Boring Tool

BSA OO0 O DOOOO O @@ a1Tfar s Holder
BSA Rough ¢ Rough Boring Cutter Holder

#regeT/ vadva e
BST/NBH \
Toolholder /

LBK gaeia
LBK Toolholder

H& TABTAST
CK Toolholde

/ ; — i p—
e T EE =
-45-L | TP . - 4
arimear GSEN  1BS913-48-L |TP11| 11,9  BT50-NBH2084 59.6 SRR iSS)
BT40-BSA25-120 | 47.0  TBS9T3-65-L 1 TpiT) 119 NP0~ NBHZ08d 527 BT30-LBK1-55 | 21.0  BT30-CK1-55 35.7
BT40-BSA30-150 | 47.6  IBSFTE-60-L1IRAHI 107 Nrso NBr2oss 714 BT30-LBK1-70 21,0 BT30-CK1-70 35.7
BT40-BSA38-165 50.0 TBS919-70-L TC16 19' 0 SK40-NBH2084 35.7 BT30-LBK2-80 21.0 BT30-CK2-80 35.7
BT40-BSA42-165 | 50.0  1BR019-90L |Tc1e| 10 0  SK50-NBH2084 71.4  BT30-LBK3-80 21.0  BT30-CK3-80 35.7
BT40-BSA50-165 | 53.6 TBS919-85-L | TC16| 19 0 Eg{ggzngngggi ;?3; BT30-LBK4-70 21.0  BT30-CK4-70 35.7
BT40-BSA62-180 | 63.1  TBS919-105-L |1C16| 23 9  BBISO-NBIZ084 .7 BT30-LBK5-70 21.0  BT30-CK5-70 35.7
BT40-BSA72-180 | 71.4  TBS925-100-L |TC16[31.0  GAT50-NBH2084 05 o BT30-LBK6-60 21.0  BT30-CK6-60 35.7
BT40-BSA90-180 89.3 TBS925-135-L |TC16| 38.1 HSK63A-NBH2084 154.7
BT50-BSA25-135 | 81.0 — HSK100A-NBH2084 214.3  BT40-LBK1-75 21.0  BT40-CK1-75 35.7
BT50-BSA30-165 | 81.0 90° \ 15040-NBH2084 46.4 BT40-LBK1-105 21.0  BT40-CK1-105 35.7
e — 15050-NBH2084 92.9
BT50-BSA38-180 | 83.3 ~ 15950 Mptiz0 747 BT40-LBKI-130 | 28.3  BT40-CK1-130 44.7
BT50-BSA42-210 | 83.3 afefzar O AT N 95 ¢ BT40-LBK1-165 | 357  BT40-CK2-75 35.7
BT50-BSA50-180 | 86.9 TBS910-36-R | TPO9| 11.9 MT4-NBH2084 42 9 BT40-LBK1-195 59.6  BT40-CK2-115 35.7
BT50-BSA50-240 | 92.9  TBS910-45-R |TP09| 11.9  MT5-NBH2084 50.4  BT40-LBK2-85 21.0  BT40-CK2-130 44.7
BT50-BSA62-195 | 95.3  TBS913-48-R |TP11|11.9  MI6-NBH2084 66.7  BT40-LBK2-115 | 21.0  BT40-CK3-80 35.7
BT50-BSA62-270 | 107.1  TBS913-65-R | TP11[ 11.9 mggzngngggj j%-g BT40-LBK2-130 | 28.3  BT40-CK3-100 35.7
BT50-BSA72-195 | 95.3  IBS916-60-R | TP11| 11.9  peormoonsad 55 4  BT40-LBK2-165 | 35.7  BT40-CK3-135 44.7
BT50-BSA72-285 | 131.0  TBS916-80-R | TP11| 11.9  pom ohooed 45 7 BT40-LBK2-200 | 59.6  BT40-CK3-155 44.7
BT50-BSA90-210 | 164.3 }ggg]g:gg:g }g]g ]3'8 R8-NBH2084 357  BT40-LBK3-95 21.0  BT40-CK4-75 35.7
BTS0-BSA90-300 | 205.3  18ed1o7de |qcig| g o  EBTONHZ084-100L | 596 BTAO-LBK3-125 | 283  BT40-CK4-100 35.7
- —195| 2976 : - - : -LBK3- . -CK4- .
ST e sea| 1o Mt )0 il | 00 BHEOLS | 00 HSGER |
BSA OO0 0 D000 0000 IBSYRSEI35-R | TC16 ) BT50-NBH2084-150L 00 4  BT40-LBK4-85 21.0  BT40-CK5-60 35.7
————— BT50-NBH2084-200L | 119.0 BT40-LBK4-115 | 21.0  BT40-CK5-100 35.7
BSA Rough 2 BT50-NBH2084-250L | 148 9  BT40-LBK4-130 | 28.3  BT40-CK5-150 44.7
Boring cm?";-‘-‘*‘: - BT40-BST—70 667  BT40-LBK4-150 | 28.3  BT40-CK6-65 35.7
- arfyear BT40-BST-100 66.7  BT40-LBK4-175 | 35.7  BT40-CK6-100 35.7
W BT40-BST-150 77.4  BT40-LBK4-220 | 59.6  BT40-CK6-150 44.7
CERpe a0t oS0 |/ enaomes | 210
P— 0BS910-36-L BT20-BST-150 904 BT40-LBK5-125 | 28.3  BT50-CK1-115 75.0
s CBS910-45-L BT50-BST-200 33 3  BT40-LBK5-175 35.7  BT50-CK1-145 82.1
BSA30-42-LBK2 | 27.4  CBS913-48-L BT50-BST-250 107.1 BT40-LBK5-235 | 59.6  BT50-CK1-200 95.3
BSA38-52-LBK3 | 28.6  CBS913-65-L BT50-BST-300 119.0  BT40-LBK6-65 21.0  BT50-CK2-105 75.0
BSA50-65-LBK4 | 33.3  GBS916-60-L BT50-BST-350 134.6 BT40-LBK6—115 | 21.0  BT50-CK2-135 82. 1
BSAG2-90-LBKS | 41 7  $BS916780-L BIo0 BT A% 1527 BT40-LBK6-150 | 28.3  BT50-CK2-165 78.6
MEER ) maels |5 geems |
19r85-L -BST- : -LERe= : Sans :
BSB LOLO D 00D UHLo 05— SK40-BST-150 123.9 BT50-CK3-140 82.1
BSB Rough %Eg%ﬁﬁgg_l[ gﬁgg;ggmgg 19223-9 BT50-LBK1-115 | 53.6  BT50-CK3-175 78.6
Boring Cutter CBS925-135-L Shp0TeaT 10 1237 BT50-LBK1-145 | 59.6  BT50-CK3-290 140.7
) SKR0_BST—_250 155 7 BT50-LBK1-200 | 80.4  BT50-CK3-300 140.7
- ————— BT50-LBK2-110 | 53.6  BT50-CK3-350 189.3
LBK waare: arr afs .« BT50-LBK2-140 | 59.6  BT50-CK4-100 75.0
aRIf e Bl L5k Extension Rod - | BT50-LBK2-175 | 65.4  BT50-CK4-160 78.6
CBS908-23-R 1.0 ' BT50-LBK2-235 | 108.3 BT50-CK4-205 101.0
afafyear 1.9 afIfzar BT50-LBK3-125 | 53.6  BT50-CK4-270 140.7
BT40-BSB25-120 | 47.6 CC06] 11.9 LBK1-1-30 110  BT50-LBK3-140 59.6  BT50-CK4-300 140. 7
N _ CC06| 11.9  [BK2-2-30 119 BT50-LBK3-155 | 59.6  BT50-CK4-350 189.3
gijg_ggggg_}gg g‘;;g CC09| 11.9  LBK3-3-30 14.3  BT50-LBK3-185 | 65.4  BT50-CK5-90 75.0
BT40-BSB62-180 | 62.6 CCo91 11.9  LBK4-4-45 145 BT50-LBK3-215 | 75.0 BT50-CK5-165 | 78.6
' cco9 [ 11.9  LBK4-4-60 190 BT50-LBK3-255 | 91.7 BT50-CK5-210 | 101.0
BracssBr2 18 a0 3 ] I R - o 570 BT50-LBK3-290 | 108.3 BT50-CK5-270 | 140.7
Br40-BSeogyweo | 5.3 00121190 [RK8-g-60 214 BT50-LBK3-300 | 108.3 BT50-CK5-300 | 140.7
BTSO B9p207135 | =0 Cel2 170 LeKe-6-100 214 BT50-LBK3-350 | 148.9 BT50-CK5-350 | 189. 3
BT50-BSB38-180 | 81.9 0012|19.0  [BK6-6-120 29.7 Syl : vl '
BT50-BSB50-180 | 86.4 5-R |CC12|23.9  Tkaraxorsmedia BT50-LBK4-115 53.6  BT50-CK6-95 75.0
BTs0-BsBs0-240 | 924 GRSASTIOOR 62| ‘ 0§ BTso-ibiiieo | obd  BISO-oKe21s | 1010
BT50-BSB62-195 | 95.3 —135- : ~ -LBK4- : -CK6— :
_ - 107.1 —— ' BT50-LBK4-205 | 75.0  BT50-CK6-250 140.7
BT papeaad | 104 3 [1ese. \@hes LBK Conversion Slee BT50-LBK4-255 | 91.7 BT50-CK6-300 | 1407
BT50-BSB72-285 | 140 0 . — PPl BT50-LBK4-305 | 108.3  BT50-CK6-350 189.3
-BSB90-210 | 163.9 aRifyear 0, AAF —m BT50-LBK4-350 | 148.9 -
BLop-B3B90-210 ' LBK2-1-36 310 BT50-LBK5-105 3.6 W@ uwwduAs
BT50-BSB90-300 | 208.3  TBS410-45 TPO9| 1.9 LBK3-1-41 31.0 53. ?
BT50-BSB105-195| 297.9 TBS410-50 TPO9| 11.9 LBK3-2-37 310 BT50-LBK5-180 65.4  CK ExtensionRod
BT50-BSB105-285 | 383 1  1BS413-60 TP11|11.9  LBK4-1-58 357  BT50-LBK5-240 | 75.0 —
i TBS416-75 TP11| 11.9  LBK4-2-50 35.7  BT50-LBK5-300 | 108.3 .g
BSB-LBK [0 O OO0 CJOTBSYI9-90 101 [ TC16] 19.0 LBK4-3-50 35.7 BT50-LBK5-350 148.9 ]
BSB-LBK Rough TaSgez 115 o) 1.0 I[Eﬁg_;_gg 28'1 BT50-LBK6-95 53.6
4 oug - —2— .
Boring Cutter TBS425-130 TC16] 38.1 tg&g—g—ﬁ 281 g¥gg:|l:gﬁg:1§g 223 r— —
L85-3-72 38: 4 BTS0-LBK6-230 750 CK1-1-30 29.7
TRLE T : BT50-LBK6-290 108.3  CK2-2-30 29.7
SRR S LBK5-4-67 40.4 BT50-LBK6-350 | 148 9  (OK3-3-30 297
g i 24
— S $Cimly (Bt menmceli sees ol s
BSB25-52-LBK2 27.4 CBS410-50 9 LBK6-3-56 46.4 — - . CK5-5-60 38.9
BSB38-70-LBK3 28. 6 CBS413-60 9 tg&g:ﬁ:g? 22 2 HSK63A-LBK3-125| 148.9  CK5-5-90 44.7
BSB50-90-LBK4 | 32.9 CBS416-75 9 LBKa—4—-101 500  TISK63A-LBK4-115] 148.9  CK6-6-60 38.9
BSB62-90-LBK5 | 41.7  CBS#19-115  [CC12[ 190 [BKe 5-a1 20 HSK63A-LBK5-125| 148.9  GK6-6-100 44.7
BSB72-135-LBK6 | 59.6 CBS425-130 CC12| 38.1 LBK6-5-91 56.0  HSK63A-LBK6-115| 148.9  CK6-6-120 59.6

SUNHIAATHIC, CHA NI YLAF I BNSH

N
(@)

AT A GG USD ST d AT HAT | http://www.mzg.tw

— T T e —_Tr—T T —T——ML—EEeeL— —N——eTEL—————— 5 N . N


http://www.mzg.tw

CNC Tool Holder

CNC Tool Holder

FMB #1gITF B g AT ga gra sy
FMB Metric Face Milling Tool Holder

ST RIS T GARTST ST THAL AF Frelfe

gfafyear

ER Collet Toolholder ER Extension Collet

NO. xColletxA/MxL

_ gfarfyear qAT
Ra-ER2> 171
R8-ER40 19.7 BT30-FMB22-45 14.6
MTB3-ER20 16.0 BT30-FMB22-60 14.6
MTB3-ER25 16.0 BT30-FMB22-100 18.6
MTB3:ER%2 17.1  p— r——— 5130-FNB27-45 14.6
MTB4-ER25 17.1 A NSRS BT30-FMB27-60 14.6
MTB4-ER32 18.6 IR BEREREEEEE  BT30-FMB27-100 18.6
N — MTB4—ER40 22.4 BT30-FMB32-45 16.0
NO. xColletxA/MxL MTB5-ER40 26.4 BT30-FMB32-60 16.0
NT30-ER25 17.1 BT40-FMB22-45 17.1
BT30-ER11-70 16.0° NT30-ER32 17.1 BT40-FMB22-60 17.1
BT30-ER11-100 16.0 NT30-ER40 19.7 BT40-FMB22-100 18.6
BT30-ER16-70 18.6 NT40-ER25 17.1 BT40-FMB22-150 22.4
BT30-ER16-100 18.6 NT40-ER32 17.1 glig—mggg—ggg 431; <1s
BT30-ER16-150 19.7 NT40-ER40 19.7 H ~ .
BT30-ER20-70 18. 6 1S020-ER16—35MS 40. 4 BT40-FMB22-300 61.0
BT30-ER20-100 18. 6 1S025-ER20-35MS 40.4  garefa/Ag BT40-FMB22-350 74.0
' 1S030-ER32-42 27.4 , BT40-FMB27-45 17.1
BT30-ER20-150 19.7 ER Wrench /Nuts
BT30-ER25-70 186 1S030-ER32-60 27.4 BT40-FMB27-60 17.1
: HSK32E-ER16-050MS 82.1 BT40-FMB27-100 18.6
BT30-ER25-100 18.6 HSK32E-ER20-050MS 82.1 (V ’ BT40-FMB27-150 23.9
BT30-ER25-150 19.7 HSK32E-ER20-060MS 82.1 = gm:mgg%:?go 1; 1
BT30-ER32-70 18.6 - —| 82.1 A M UM A M T e
BT30-ER32-100 18. 6 BT30-GER16-70 21.4 .
BT30-ER32-150 19.7 BT30-GER16-100 21. 4 BT40-FMB40-60 19.7
BT30-ER40-80 17.1 BT30-GER20-70 21.4 afafyzar Wrench BT40-FMB40-100 21.1
BT30-ER40-100 171 BT30-GER20-100 21.4 Collet BT40-FMB40-150 26. 4
: BT30-GER25-70 21.4 ERSA/M 2.6 4.0 BT50-FMB22-60 39.7
_ B BT30-GER25-100 21.4 ER11A/M 14 17 BT50-FMB22-100 39.7
BT40-ER11-70 21.1 BT40-GER16-70 21 4 : : BT50-FMB22-150 50.3
BT40-ER11-100 21.1 BT40-GER16-100 21 ’ 4 ER16A/M 1.7 1.7 BT50-FMB22-200 61.0
BT40-ER16-70 21.1 BT40-GER20-70 23 9 ER20A/M 1.7 1.7 BT50-FMB22-250 81.9
BT40-ER16-100 21.1 BT40-GER20-100 23: 9 ER25UM 2.6 2.6 BT50-FMB22-300 100. 4
BT40-ER16-150 22.4  BT40-GER25-70 23.9  ER32UM 3.1 3.1 HER e 1
BT40-ER16-200 37.1 BT40-GER25-100 23.9 ER40UM 4.0 4.0 BT20-FB29—150 e
BT40-ER20-70 21.1 BT40-GER32-70 23.9 ERS50UM 15.3 BT50-FMB22-500 185 3
BT40-ER20-100 21.1 __BT40-GER32-100 2.9 BT50-FHB22-550 211.7
BT40-ER20-150 22.4  $¥TFNATTHES A GIENAST BT50-FMB22-600 238. 1
BT40-ER20-200 37.1 ER Collet Extension Toolholder FMB £ 3837 Afafa saTor area g;gg—gmg%;-?go gg ;
BT40-ER25-70 211 Collet . " -FMB27- .
BT40-ER25-100 211 olle ] FMB Inch Face Milling Tool Holder > BT50-FMB27-150 52 9
_FROE_ ' E . BT50-FMB27-200 63.6
BT40-ER25-190 224 A/M / \ . ¥ BT50-FMB27-250 84.7
BTA40-ER25-200 37.1 L -5 - BT50-FMB27-300 103.1
BT40-ER32-70 21.1 : ‘ BT50-FMB27-350 119.0
BT40-ER32-100 21.1 HWWEHT BT50-FMB27-400 145: 4
BT40-ER32-150 22. 4 DxColletxA/MxL BT50-FMB32-60 42.4
BT40-ER32-200 37.1 C10-ER8-100 . BT50-FMB32-100 45.0
qeuns o) gt 54 <o O
BT40-ER32-300 74.0 —~ER8- : \ -FMB32- :
BT40-ER40-80 197  C12-ER8-150 104 9 BT50-FNB32-250 87.4
BT40-ER40-100 1 9 7 C12-ER11-100 6.7 BT50-FMB32-300 119.0
BT40-ER40-150 239 | C12ER11-150 6.7 BIS0-FMB40-60 s
: C16-ER11-100 6.7 BT50-FMB40-100 45.0
BT40-ER40-200 39.7 C16-ER11-150 6.7 gfafear BT50-FMB40-150 58.1
¢16-ER16-100 6.7 NO. xdxL BT50-FMB40-200 68.9
BT50-ER16-100 39.7 C16-ER16-150 6.7 R8-FMA25. 4 17.1 BT58:FMBZg:§gg ;)10. 0
e B domo [0 EEee 00 mmmew L
_ER20- ' —ER20- ' G20-FMB25. 4 171 BT50-FMB60-150 145.4
BT50-ER20-100 39.7  H6ERa0100 &7 NT50-FWA31.75-75 436
BT50-ER20-150 50.3 ¢ FR20-200 9 NT50-FMA38.1-75 436 R8-FMB22 16.0
BT50-ER20-200 610 520-ER20-100 67 NT50-FMA47.625-75 92.6  R8-FMB27 16.0
BT50-ER20-250 81.9
- €20-ER20-150 6.7 NT50-FMA50. 8-75 55.4  R8-FMB32 17.1
BT50-ER20-300 100.4 " 620-ER20-200 119 BT40-FMA25. 4-60 17.1  Re-FNBAO 19.7
BT50-ER25-70 39.7 C20-ER20-250 16.0 BT40-FMA25. 4-100 19.7 C20-FMB22 16_ 0
BT50-ER25-100 397 G20-ER16-100 6.7 BTAO-FMA31. 75-60 18.6 oo Fhe 150
BT50-ER25-150 50.3 C20-ER16-150 6.7 BT40-FMA31. 75-100 19.7 025 FMEZZ 17
_FRE_ _FR16— : . - 7.1
BT50-ER25-200 61.0 C20-ER16-200 1.9 BT40-FMA38. 1-60 19.7 C25-FMB27 171
BT50-ER25-250 84.7 C20-ER16-250 16.0 - . ' 0 ‘
i _ BT40-FMA38. 1-100 21.1 C25-FMB32 17.1
BT50-ER25-300 100. 4 g%g_gs] 1_}28 g g BT50-FMA25. 4—60 42. 4 C32-FMB22 18.6
BT50-ER32-70 39.7 —ER25- ' BT50-FMA25. 4-100 42 4 C32-FMB27 18.6
BT50-ER32—100 39.7  G20-ER25-100 10.4 C32-FNB32 186
BT50-ER32-150 503  G207ERZ5-150 10.4  BTSOZFMAZ5. 47150 02 NT3-FNB22 171
5 5 : C25-ER16-100 6.7  BT50-FMA25. 4-200 63.6  MT37FMB22 "
BTS0-ER32-200 610 (25-ER16-150 6.7 BT50-FMA25. 4-250 84.7 | \r3irvmes T
BT50-ER32-250 81.9  C25-ER16-200 119 BT50-FMA25. 4-300 1M11.1 | WT4-rMB22 19.7
BT50-ER32-300 97.9 C25-ER16-250 17.1 BT50-FMA31. 75-60 43. 6 MT4-FNB27 19 7
e 126.9 I 67 BT50-FMA31.75-100 436 WT4-FMB32 19.7
BT50-ER32-400 158.9 G25-ER20-150 6.7 _ Toe_ ' | \
BT50-FMA31. 75-150 56.9 NT30-FMB22 18.6
BT50-ER40-100 42,40 I, 1 BT50-FMA31. 75-200 67.4  NT30-FMB27 18.6
BT50-ER40-150 52.9 C25-ER25-100 10.4 BT50-FMA31. 75-250 87.4 NT30-FMB32 18.6
BT50-ER40-200 63.6 | GZ57ERZ5-150 1.9 : ' NT40-FNB22 18.6
: ©25-ER25-200 17.1 BT50-FMA31. 75-300 119.0 NTAO-FMB27 186
BT50-ER40-250 7.4 (25-ER25-250 197 BT50-FMA38. 1-60 424 NTao-euess e
BT50-ER40-300 1057 ¢25-ER32-100 14,6 BT50-FMA38.1-100 450 NTAO-FMBAO "1
B AR e 1296 625-ER32-150 171 BT50-FMA38. 1150 596 NTS0-FMB22 42.4
BT50-ER40-400 1569 G32-ER32-100 146 BT50-FMA47. 625-75 84.7  NT50-FMB27 42.4
BT50-ER50-100 74.0 C32-ER32-150 17.1 BT50-FMA47. 625-150 145. 4 NT50-FMB32 424
BT50-ER50-150 81.9 032-ER32-200 18:6 " BT50-FMA47. 625-200 198 3 NT50-FMB40-75 43.6
BT50-ER50-200 92.6 C32-ER32-250 22.4 BT50-FMA50. 8-75 55 '4 NT50-FMB32-150 52.9
BT50-ER50-250 121.7  CA40-ER40-100 19.7 & -8 : NT50-FMB32-200 63. 6
- - BT50-FMA50. 8-100 68.9
BT50-ER50-300 158.9  CA40-ER32-100 17.1 NT50-FMB60-75 92.6
: ©32-ER40-100 18 6  BT50-FMA50.8-150 79.3

SUURTHAT HIT, CHAFNTYLAF HT BISHT

AT A g USD STald AT HAT |

T T e L e A e e —e—— e —— L~

http://www.mzg.tw


http://www.mzg.tw

CNC Tool Holder

CNC Tool Holder

GSK grs g s 3T

399 9IfRG UdAT ITFITYIIH
GSK High®Speed And

High 2[g&dr Toolholder

NO. xGoll letxL

BT30-GSK10-60 20.3
BT30-GSK10-90 20.3
BT30-GSK16—60 20.3
BT30-GSK16-90 20.3
BT40-GSK10-60 23.9
BT40-GSK10-100 23.9
BT40-GSK16-60 23.9
BT40-GSK16-100 23.9
Collet SK10 7.1
Collet SK16 9.0
Bearing Spanner 15.4

THAT/ S AH S I CAGIAST
MTA/B Morse Taper Toolholder

NO. xMT. . xL

BT30-MTA2-75
BT30-MTA3-75
BT30-MTA4-75
BT40-MTA1-120
BT40-MTA1-45
BT40-MTA2-120
BT40-MTA2-60
BT40-MTA3-135
BT40-MTA3-75
BT40-MTA4-165
BT40-MTA4-90
BT50-MTA1-120
BT50-MTA1-45
BT50-MTA2-135
BT50-MTA2-60
BT50-MTA3-150
BT50-MTA3-75
BT50-MTA4-180
BT50-MTA4-90
BT50-MTA5-105
BT50-MTA5-210
NT40-MTA2
NT40-MTA3
NT40-MTA4
NT50-MTA1-45
NT50-MTA2-60
NT50-MTA3-75
NT50-MTA4-90
NT50-MTA5-105

BT40-MTB1-120
BT40-MTB1-45
BT40-MTB2-120
BT40-MTB2-60
BT40-MTB3-135
BT40-MTB3-75
BT40-MTB4-165
BT40-MTB4-90
BT50-MTB1-120
BT50-MTB1-45
BT50-MTB2-135
BT50-MTB2-60
BT50-MTB3-150
BT50-MTB3-75
BT50-MTB4-180
BT50-MTB4-90
BT50-MTB5-105
BT50-MTB5-210
NT40-MTB2
NT40-MTB3
NT40-MTB4
NT50-MTB1-45
NT50-MTB2-60
NT50-MTB3-75
NT50-MTB4-90
NT50-MTB5-105

coRARDMNDMNOOOCOCOON_NONOORAR_2NOWOWODNMNOOO

CORADRMDMNOCOOCOCOON_NONOO DA _2NOWOWO N

C aFHATATA Frad T TAGTAST

@ C Powerful Collet Toolholder

THNHA dF-A FIA T TAGIAST

SDC Back-Pull Collet Toolholder

=

\ﬂ

i

SLN |T38 Gi& €3 15T ¢RIl 3T

SLN Side Fixed Type Toolholder

gfarfyear HAT gferfyear
NO. xCol letxL usbD NO. xCol letxL aRIfear
R8-C32 63.6 BT30-SDC6-90 59.6 NO. xdxL
NT30-C25 63.6  BT30-SDC8-90 59.6 -
NEes Go Mo, 6 sz 16.0
NT40-C25 63.6 BT30-SDC12-90 59.6 BT30-SLN20 16'0
NT40-G32-105 61.0 BT40-SDC6-90 63.6 BT30-SLN25 16.0
mg—ggg 17(;40- 04 BT40-SDC8-90 63.6 BT30-SLN32 160
5 -4 BT40-SDC10-90 63.6 el '
i £iomeRR Gl mmmmen
NT50-C32-105 92.6 | BT40-SDCO-120 79.3 BT40-SLN10-75 21.1
v BT40-SDC8-120 79.3 _ 92—
NT50-C42-115 119.0 _ - BT40-SLN12-75 17.1
BT30-C20-80 61.0  BT40-SDC10-120 79-3 BT40-SLN16-75 17. 1
BT30-G25-80 61.0 —BI40-SD012-120 /9.3 BT40-SLN20-75 17.1
BT30-C32-105 61.0 BT40-SLN20-1 25.3
BT40-G20-90 61.0  Collet SDCO6 1.9 BT48—§LN22—1 gg 17.1
BT40-C25-90 61.0  Collet SDCO8 1.9 BT40-SLN25-150 25.3
BT40-C32-105 55.4  Collet SDC10 131 BT40-SLN32-100 17.1
BT40-C42-100 105.7 Collet SDC12 13.1 BT40-SLN32-150 25 3
Slgg‘ﬁ'ﬁg‘} gg g; 2 BT40-SLN40-100 19.7
A= : efraad & afa gUe & a7 CAgA 3T BT50-SLN06-105 46. 1
g%gg:gg%:} (3)2 19025 67 Torsional Tapping Protection Toolholder BT50-SLN08-105 46. 1
e 1358 BT50-SLN10-105 46.1
BT50-C32-200 145'4 BT50-SLN12-105 39.7
s oo BT50-SLN16-105 39.7
' BT50-SLN20-105 39.7
BT50-C32- 224.7 |
BTa0 o309 119.0 J BT50-SLN25-105 39.7
BT50-C42-135 132. 4 BT50-SLN32-105 39.7
BT50-C42-165 145. 4 BT50-SLN40-105 42. 4
BT50-C42-200 171.9 o BT50-SLN40-150 52.9
BT50-C42-250 211.7 e BT50-SLN40-200 63.6
BT50-C42-300 259.3 BT50-SLN40-250 92.6
SK50-C32-110 171.9 e BT50-SLN40-300 105.7
J150-C32-110 171.9 N0, xCo ) sl BT50-SLN50. 8-120 55. 4
Collet G20 3.6 .
Coll 1025 3.6 BT50‘J41 1 2 1 19. O 01 O_SLN4_1 00 22_ 4
CZ"; c32 3.6 BT50-J4124 132. 4 C10-SLN4-150 22.4
Collet C42 7.6 BT40-J4112 793 (10-SLN6-100 22.4
Wrench C20/25/32/42 3.9 5¥g03:?1§4 33-8 C10-SLN6-150 22 4
f 2 { C12-SLN4-100 22.4
N mg‘jﬂ ;Z 17090 34 C12-SLN4-150 22.4
2 : C12-SLN6-100 22.4
Tool Shank Of G12-SLN6-150 22.4
Beil Croce Tap Collets C12-SLN8-100 22.4
GT312 China Standard 16.0 C12-SLN8-150 22.4
GT312 Japanese Standard 18.6 C16-SLN10~100 22 4
G6T24 China Standard 197 ¢16-SLN10-150 22. 4
GT24 Japanese Standard 22,4 (16-SLN6-100 22.4
e
NO. xCol letxL USD Side Milling Tool Holder of Saw Blade 01 6_SLN8_150 22 4
APU13 Drill Chuck 23.9 C20-SLN10-100 25 3
APU16 Drill Chuck 26.4 ©20-SLN10-150 25' 3
BT30-APU08-80 37.1 :
C20-SLN6-100 25.3
e
BT40-APU08—100 37.1 ggg:gmgj gg gg g
BT40-APU13-100 37.1 :
BT40-APU16-120 39.7
BT50-APU13-110 58. 1 NT40-SLN12 19.7
BT50-APU13-180 79.3 afrfyear NT40-SLN16 19.7
BT50-APU16-130 62.1 HOPColllo NT40-SLN25 19.7
BT50-APU16-180 84.7 BT40-SCA22-90 65.4 NT40-SLN32 19.7
NT30-APU13-100 39.7 BT40-SCA25. 4-90 65.4 NT50-SLN12 42.4
NT40-APU13-100 39.7 BT40-SCA25. 4-120 83.3 NT50-SLN16 42.4
NT30-APU16-120 42.4 BT40-SCA27-90 65.4 NT50-SLN20 42. 4
NT40-APU16-120 42. 4 BT40-SCA32-90 65.4 NT50-SLN25 42.4
FeTw-eTse=ATT st a1-13 123 ; NT50-SLN32 42. 4
QAeTh-eTSeAT e wh1-16 . ANAaguizage s NT50-SLN40-105 43.6
CZ\O—APU‘| 3 ) gl g Machine Tool Spindle Test Rod NT50_SLN42_1 05 47.6
C20-APU16 35: 7 r — "-I NT50-SLN50. 8-120 55. 4
C32-APU13 J
R8-APU13 gl ; 15020-11. 3—Probe 40.4
R8-APU16 304 affyedr 18025-11. 3—Probe 40. 4
MT3-APU13 30 4 NO.xL 15025-20~Probe 40.4
MT4-APU13 33:1 BT30 92.9
MT3-APU16 33 1 BT40 92.9 HSK32E-11. 3Probe 82.1
MT4-APU16 19 BT50 131.0

SUNHIAAT RIT, CHAMNTYAF I BISHI

AT A GG USD sTar e HAT |

http://www.mzg.tw

N
oo



http://www.mzg.tw

HTAHT 3TRIOT ETIH GETITH 3TRIOT

CNC Tool Holder Accessories

HTAH ITHIOT GIFH GATATAC
CNC Tool Holder Puller Bolt

§5°/60°/90°
180 J1S

BT DIN69872
gfafyear

BT30-45°

BT30-60°

BT30-90°

BT40-45°

BT40-45° o & AemH &
BT40-60°

BT40-90°

BT50-45°

BT50-45° oc & At &
BT50-60°

BT50-60° B¢ & aATegs &
BT50-90°

DIN69872-30
DIN69872-40
DIN69872-50
1S07388-30
1S07388-40
1507388-50
J186339-30
J186339-40
J186339-50
MAZAK-BT40
MAZAK-BT50

CWOWWORRAROWOWWWWW === ===

[oNeNaNe Ne NeNe e NeNeo Ne e N o Ne e N "2 °A e JF L Ve]

HITAH FTFIOT UIF ATHA T
CNC Tool Holder Lockset

HUAHT STHTOT UF ATHHT
CNC Tool Holder Lockset

gfafyear

HTAHT STHTOT UF ATHHT
CNC Tool Holder Lockset

gfafyear

NBT30 59.6 BT30 17.9

18025 59.6 BT40 19.0
HSK25 59.6 BT50 38.1
HSK32 59.6
HSK40 7.4
HSK50 71.4
HSK63 83.3
HSK100 119.0

Fs-rmafader HeAH TS BT3 37 ANT T ITT HAATI IS

Z-Axis Setter CNC Edge Finder Machine Tool Spindle Cleaning Rod

Photoelectric Z-axis Setter
OO0 Z-axis Setter

antimagnetic

HTYROT type
antimagnetic type

SUNHIAATHRIC, CHA AT YLAF I BISH
AT A g USD STl ddAad AT

11 rararroOc e DD Mmoo DD DD MDD

Ceramic

Photoelectric

afafyear
NO.
BT30
BT40
BT50

KA
3.9
5.4

http://www.mzg.tw

P . WP R


http://www.mzg.tw

Lathe Chuck Accessories

TS IH TETTH

affear 2 JAWS HAT 3 JAWS 4 JAWS HAT
4 inch SBL—204 | 435.3 | SB-204 | 435.3 | SBS-204 -
5 inch SBL—205 | 435.3 | SB-205 | 435.3 | SBS-205 | 482.9
wrEd grsgAafEas |6 inch SBL-206 | 492.9 | SB-206 | 492.9 | SBS-206 | 561.9
8 inch SBL-208 | 544.0 | SB-208 | 544.0 | SBS-208 | 629.7
10inch SBL-210 | 497.6 | SB-210 | 697.6 | SBS-210 | 800.0
Hollow Hydraulic Chuck | 12inch SBL-212 | 1190.4| SB-212 |1190.4| SBS-212 | 1326. 1
15inch SBL-215 | 2642. 9| SB-215 |2642.9| SBS-215 |3000. 0
TETTRET 6 inch 2DTK=206 | 647. 6 | 3DTK-206| 647. 6 | 4DTK-206 | 714.3
I EEIIEE TS |8 inch 2DTK-208 | 782. 1 | 3DTK-208 | 782. 1 | 4DTK-208 | 869.0
Hollow Hydraulic Chuck 10inch 2DTK-210| 935.7 | 3DTK-210| 935.7 4DTK—210 1038. 1
A HLNE 6 inch 3JDB-206 | 988. 1
TEIRELIAETS |8 inch 3JDB-208 | 1121. 4
Hollow Hydraulic Chuck 10inch 3JDB—210 1258. 3
N —— 5 inch SBL-205KQ| 595. 3 | SB-205KQ | 547. 6 |SBS-205KQ| 666. 7
oooooooo |6 inch SBL-206KQ| 631.0 | SB-206KQ | 611.9 |SBS-206KQ 714. 3
Hollow Half-Through |8 inch SBL-208KQ| 714.3 | SB-208KQ | 681. 0 |SBS-208KQ 788. 1
Pneumatic Chuck | 10 jnch SBL-210KQ| 785. 7 | SB-210KQ | 750. 0 |SBS-210KQ| 908. 6
4 inch INL-04 | 428.6 | JN-04 | 401.1
5 inch INL-05 | 452.4 | JN-05 | 409.6
sraerssaafmas  |© 1nch INL-06 | 500.0 | JN-06 | 459.6
ErE 8 inch INL-08 | 547.6 | JN-08 | 511.9
Solid Hydraulic Chuck | 19,01 INL-10 | 714.3 | JIN-10 | 666.7
12inch INL-12 [1119.0| JN-12 |1088.1
15inch JNL-15 IN-15 | 2309.6
AN 5 inch| 1L-05 | 547.6| 2L-05 | 511.9 | 3L-05 | 595.3
sraeszaammas | © inch| 1L=06 | 595.3 | 2L-06 |544.0 | 3L-06 | 642.9
~Long” Stroke 8 inch| 1L-08 | 619.0 | 2L-08 | 542.9 | 3L-08 | 666.7
Solid Hydraulic Chuck | 10jnch| 1L-10 | 833.3 | 2L-10 | 750.0 | 3L-10 | 881.0
N :HIH:T; 6 inch JLS-206 | 892.9
@rgd grssVaA®H IR |8 jpch JLS-208 | 940.4
Hol\ovl\;oi—rl‘sdrsz:l:?ilt(:eChuck 10inch JLS-210 | 1038. 1

gfafyear

TF A AT

ooog

Chuck T Block

qAT
usD

inch 10.7
6 inch 1.9
¢ 8 inch 15. 4
10 inch 19.0
12 inch 22.1
IF ATST IR AT IAT
Held

Chuck Jaw Fixing Plate

<=2

3marH

5 inch
6 inch

inch
10 inch

usb

61.9
73.9
107.1
115.4

BT gT3g e fas e afed 37

Solid Hydraulic
Rotary Cylinder

3mIrH

5 inch(0815)
6 inch(1020)
8/10inch(1225)
12 inch(1530)

qAT
usD
109.6
131.0
150.0
197.6

grEd gresuais e afed 5T
3TATH

4 inch(428)
inch(1036)
inch(1246)
inch(1552)

10 inch(1875)

12 inch(2091)

Hollow Hydraulic
Rotary Cylinder

TEFARTNSYF

Chuck Connecting Disc ATATH

4 inch

5 inch 21.4
6 inch 21.4
8 inch 35.7
10 inch 47.6
12 inch 71.4
FIS3UATH T&F & AT FOITFATET
qT
e ten For o S
5 inch 102.4
6 inch 119.0
8 inch 131.0
». 10 inch 163.1
12 inch 204.7
15 inch 369.0

FLE?HTHSTTWT B h
S 1| N Dg] ::zh 30B-08 | 839 3 OO0 0oooooooooooooo oo
Hydraulic Chuck -
wr 5 inch JYL-05 | 738.1 | JY-05 714.3 | JYS-05 | 833.3  Fan SoftJaw For AT Lk
avad grszaamras |0 inch JYL-06 | 785.7 | JY-06 761.9 | JYS-06 | 904.7 Y 5 inch
Vertical Hollow 8 inch JYL-08 928. 6 | JY-08 904.7 | JYS-08 976.1 6 inch
Hydraulic Chuck | 10jnch JYL-10 [ 1023.9|JY-10 988.1 | JYS-10 | 1107.1 - ',’:lch
NN——— 5 inch SBL-205KQL| 714.3 | SB-205KAL | 690.4 |SBS-205KAL| 785.7 ' 10 'inzh
OOOOOOs oL DobOohéHneh SBL-206KQL| 773.9 | SB-206KAL | 750.0 |SBS-206KAL| 857.1 U
Hollow HalfThrough Tnch SBL—208KQL| 904.7 | SB-208KQL | 881.0 |SBS-208KAL| 952.4 12 inch
Vertical 0OOOOC O] 10inch SBL-210KQL| 976.1 | SB-210KAL | 952.4 |SBS-210KQL| 1071.4 15 inch
DDDDDQQELEIEHQD 00 OO 5H OO0 e=120° 2°=120° 2°=120° 2°=120°

Soft Jaw For

5 Inch Soft Jaw For Hydraulic Chucks 6 Inch Soft Jaw For Hydraulic Chucks 8 Inch Soft Jaw For Hydraulic Chucks 10 Inch Soft Jaw For Hydraulic Chucks 12 Inch Soft Jaw For Hydraulic Chucks

Hydraulic Chucks vv \
Oooono AT e
usD
5H40 13.6 6H50
5H50 50 | 17.1 6H60
5H60 60 | 20.4 6H70
5H70 70 | 23.9 6H80
D LACIR D Sacsbis0 o 080g 381308H90
5H90 90 453 6H100
5H100 100 | 51.1 6H120
6H130
6H150

Hel T
UsD
171
20.4
23.9
28.9
32.4
37.6
51.1
56.0
61.9

60
70
80
90
100
120
130
150

TATH 332{; JTATH
8H40 204 10H50 239 12H60 | 60 | 346
8H50 50 [204 10H60 | 60 |27.4 12H70 | 70 |404
8HB0 60 |239 10H70 | 70 | 310 12H80 | 80 |476
8H70 70 |274 10H80 | 80 | 346 12H90 | 90 |596
8H80 80 [31.0 10H90 | 90 | 417 12H100 | 100|739
8H90 90 357 10H100 | 100 | 50.0 12H120 | 120 | 80.0
8H100 | 100 | 42.9 10H110 | 110 | 54.7 12H150 | 150 | 94.0
8H120 | 120 | 51.1 10H120 | 120 | 596 =120°
8H130 | 130 | 547 10H130 | 130 | 68.1 07 oooon o
8H140 | 140 | 654 10H150 | 150 | 80.0
8H150 | 150 | 69.0 10H170 | 170 |102.
8H200 | 200 |135.7 10H180 | 180 |109.6
15H100 | 100 |154.7
10H200 | 200 |146.4 451120 | 120 |170.3
15H150 | 150 |257.1

SUUHTAATHICT, SHI AT LAFH FI BISH

AT A Gy USD st e T HAT |

http://www.mzg.tw

0000000000

5 0000000000 0000 DO OOO000MININO00 00 00O O 00 00 MO0 0000000 00 00 00 00nIiimmoooomo 00 000 000 00C

0o00ooc



http://www.mzg.tw

Linkedin

qH AT, gD TITH AT

Dongguan Ming Ze Hardware Machinery Co., Ltd.

Operation Center: No.42-1,# Article,Changrong International Machinery Hardnery Hardware Plaza,No.56,
Wusha Zhen'anzhong Road,Changan town,Dongguan city,Guangdong Province, China

TEL: +86-013929492387

(Wechat/Facebook/Twitter/Whatsapp/Linkedin)

FAX: +86-769-85359513

Website: http://www. mzg. tw
E-mail: eva@mzgtool. cn



	1: Machine Tools Price
	2: P1.Caibide End Mill
	3: P2.Cemented Carbide Cutter
	4: P3.Extrusion Screw Tap
	5: P4.Apex Tap
	6: P5.Spiral Grooved Tap
	7: P6.Hand Tap/Circular Die
	8: P7.CCMT/CNMG..
	9: P8.DCMT/DNMG..
	10: P9.SCMT/SNMG/TCMT/TPGH..
	11: P10.TNMG/TNGG..
	12: P11.VCMT/VBMT/VNMG..
	13: P12.WNMG..
	14: P13.Thread Turning Tool
	15: P14.Cut-Off/Grooving/Back
	16: P15.External Grooving
	17: P16.Inner Hole Grooving
	18: P17.MGMN Grooving/Cut-Off
	19: P18.End Face/Inner Hole Grooving
	20: P19.CNC Turning Tool
	21: P20.CNC Turning Tool Parts
	22: P21.APMT Right-Angle Milling Cut
	23: P22.RPMW Round Nose Milling Cut
	24: P23.R Face Milling
	25: P24.Insert Type Quick Drill
	26: P25.Boring Tool
	27: P26.Boring Toolholder
	28: P27.ER/FMB Toolholder
	29: P28.GSK/MT/APU/SDC/SLN
	30: P29.CNC Tool Holder Accessories
	31: P30.Lathe Chuck Accessories
	32: Contact Us

